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Chapter 1  
 

Limits, Alternative, and Choices  
 

Definition of economics: 
 
Is the social science concerned with how individuals, institutions, and society make optimal (best) 
choices under conditions of scarcity. 
 
Economics: the study of the allocation of scarce resources among alternative end uses. 
 

ھو ذلك العلم الذي يدرس كیف يوظف الأفراد والمجتمعات مواردھم الاقتصادية النادرة ذات الاستخدامات المتعددة : الاقتصاد
 .لإنتاج مجموعات متباينة من السلع وذلك لإشباع حاجاتھم ورغباتھم

 
The Economic Perspective: 
 
The economic way of thinking has several critical and closely interrelated features.  
 
Scarcity and Choice  
 
Scarce economic resources mean limited goods and services. Scarcity restricts options and demands 
choices. Because we “can’t have it all,” we must decide what we will have and what we must forgo.  
 
Scarce inputs of land, equipment, farm labor, the labor of cooks and waiters, and managerial talent 
are required. Because society could have used these resources to produce something else, it sacrifices 
those other goods and services in making the lunch available. Economists call such sacrifices 
opportunity costs: To obtain more of one thing, society forgoes the opportunity of getting the next best 
thing. That sacrifice is the opportunity cost of the choice. 
 

 
وتـنجم " علـم النـدرة"الندرة تمثل المشكلة الأساسیة في علم الاقتصاد لدرجة ان بعض الاقتصاديین يطلق علـى الاقتصـاد 

مما يجبره علـى الاختیـار مـا بـین , الندرة في الاقتصاد عن تعدد رغبات الإنسان وتجددھا مقارنة بالموارد الاقتصادية المتاحة
أن عدم كفاية الموارد الإنتاجیة الإنتاج جمیـع  .يضطره إلى التضحیة ببعضھا مقابل تحقیق البعضوبالتالي , البدائل المختلفة

بمعنـى أن , مفھوم الندرة في الاقتصاد ھو مفھوم نسـبي .السلع التي يرغبھا المجتمع ھو ما يجعل الموارد الإنتاجیة نادرة
فـلا تكفـي ھـذه المـوارد الإنتـاج جمیـع السـلع التـي , المتجـددةالموارد الإنتاجیة نادرة بالنسبة لرغبات الإنسان المتعددة و

إن ندرة المصادر الإنتاجیة تجبر الإنسان على الاختیار مل بـین البـدائل المختلفـة وبالتـالي كذلك  .تشبع رغبات الأفراد أو المجتمع
 .تضطره إلى التضحیة ببعضھا مقابل تحقیق البعض

Opportunity costs:   
 
To obtain more of one thing, society forgoes the opportunity of getting the next best thing. That 
sacrifice is the opportunity cost of the choice.  
 

فالأرض التـي تسـتخدم للزراعـة لا . فاختیارك لأحد البدائل يعني تضحیتك بالبديل أو البدائل الأخرى. عملیة الاختیار تتضمن التضحیة
وكذلك الحال بالنسبة لذلك الجزء من الدخل الذي تدفعه أجرة سكن لا يمكـن . يمكن أن تستخدم في نفس الوقت الأغراض السكن

 .  على المأكل مثلاً  أن تستخدمه أيضاً للإنفاق
إن ندرة عناصر الإنتاج تعني أننا لا نستطیع إنتاج كل ما نرغـب فیـه مـن سـلع وبالتـالي تجبرنـا علـى الاختیـار بـین البـدائل 

وتجبرنا كذلك أن نختـار ) ھل ننتج قمحاً أم العاب أطفال؟( ندرة عناصر الإنتاج تجبرنا على أن نختار ماذا ننتج أي ان. الممكنة
 .وتجبرنا أيضاً أن لمن نوزع الإنتاج) ھل نستعمل  ھذه الأرض أم تلك الإنتاج القمح ؟( تج ما نرغب في إنتاجه كیف نن
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Purposeful Behavior (Rational Behavior) 
 
Economics assumes that human behavior reflects “rational self-interest.” Individuals look for and pursue 
opportunities to increase their utility— the pleasure, happiness, or satisfaction obtained from consuming 
a good or service. They allocate their time, energy, and money to maximize their satisfaction. Because 
they weigh costs and benefits, their economic decisions are “purposeful” or “rational,” not “random”. 
 
Consumers are purposeful in deciding what goods and services to buy. Business firms are purposeful in 
deciding what products to produce and how to produce them. Government entities are purposeful in 
deciding what public services to provide and how to finance them. “Purposeful behavior” does not 
assume that people and institutions are immune from faulty logic and therefore are perfect decision 
makers. They sometimes make mistakes. Nor does it mean that people’s decisions are unaffected by 
emotion or the decisions of those around them. “Purposeful behavior” simply means that people make 
decisions with some desired outcome in mind. 
 

الشركات التجارية ھدفھا تحديد السلع والخدمات التي يجب . ھدف المستھلك ھو تحديد السلع والخدمات التي يرغب في شرائھا
للمواطنین  رھاتوفسلجھات الحكومیة في اتخاذ قرار بشأن ما ھي الخدمات العامة التي تھدف ابینما . أن تنتجھا وكیف يتم إنتاجھا

 .وكیفیة تمويلھا
 

فإذا لم يكن ھناك توافق بین السلوك . بمعنى أن يتوافق السلوك مع تحقیق الھدف المنشود, نسان عقلاني أو رشیدأن سلوك الإ
كما أن ھدف الفرد ھو زيادة المنفعة التي يحصل علیھا . والھدف المنشود فإن ھذا السلوك يسمى سلوكاً غیر عقلاني أو غیر رشید

 .إلى الإنسان كمنتج فإننا نفترض أن ھدفه ھو تعظیم أرباحه الاقتصاديةأما إذا نظرنا . من السلع التي يشتريھا
 

 
Marginal Analysis: Benefits and Costs: 
 
The economic perspective focuses largely on marginal analysis—comparisons of marginal benefits and 
marginal costs, usually for decision making. In making choices rationally, the decision maker must 
compare MB and MC.  
 
Marginal benefits (MB):  utility received from consuming goods and services. 
Marginal costs (MC): opportunity cost. 
 
The choice rationally if MB > MC 
 
Multiple Choices:  
1. Purposeful behavior suggests that:  

A. everyone will make identical choices. 
B. resource availability exceeds economic wants. 
C. individuals may make different choices because of different desired outcomes. 
D. an individual's economic goals cannot involve tradeoffs. 
 

2. Purposeful behavior means that:  
A. people are selfish in their decision-making. 
B. people weigh costs and benefits to make decisions. 
C. people are immune from emotions affecting their decisions. 
D. decision-makers do not make mistakes when weighing costs and benefits. 

 
3. You should decide to go to a movie:  

A. if the marginal cost of the movie exceeds its marginal benefit. 
B. if the marginal benefit of the movie exceeds its marginal cost. 
C. if your income will allow you to buy a ticket. 
D. because movies are enjoyable. 
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Theories, Principles, and Models  
 
Scientific Method  طريقة البحث العلمي 
 
Scientific method procedure consists of several elements:       يمر البحث العلمي بصورة عامة بخمسة مراحل وھي
  
1.   Observing real-world behavior and outcomes.     الظاھرة وتحديد مشكلة البحثملاحظة  
2.   Based on those observations, formulating a hypothesis     وضع فرضیات حول الظاھرة أو المشكلة 
3.   Testing this explanation by comparing the outcomes of specific events to the outcome predicted 

by the hypothesis.   المشكلة وتحلیلھاتجمیع البیانات حول  
4.   Accepting, rejecting, and modifying the hypothesis, based on these comparisons.  اختبار صحة أو عدم

                                                                                                                             صحة فروض البحث
5.   Continuing to test the hypothesis against the facts (results). الوصول للنتائج النھائیة 
 
Economic principle 
 
A statement about economic behavior or the economy that enables prediction of the probable 
effects of certain actions 
 
Economic models: which are simplified representations of how economic works. 
 

 :وتتم عملیة تبسیط الواقع لبناء النموذج الاقتصادي عن طريقین. ھو عبارة عن تبسیط للواقع الذي نعیشه
 .وضع بعض الافتراضات حول سلوك الإنسان

 )Other-thing equal assumption( في المتغیر التابع ثابتة افتراض أن بعض العوامل المؤثرة ( تقلیل عدد المتغیرات المستقلة 
 

 
Economic principles and models are highly useful in analyzing economic behavior and understanding 
how the economy operates. They are the tools for ascertaining cause and effect (or action and 
outcome) within the economic system. Good theories do a good job of explaining and predicting. 
They are supported by facts concerning how individuals and institutions actually behave in producing, 
exchanging, and consuming goods and services. 
 
 
There are some other things you should know about economic principles. 
 
Generalizations:  Economic principles are generalizations relating to economic behavior or to the 
economy itself. Economic principles are expressed as the tendencies of typical or average consumers, 
workers, or business firms. For example, economists say that consumers buy more of a particular 
product when its price falls. Economists recognize that some consumers may increase their purchases 
by a large amount, others by a small amount, and a few not at all. This “price-quantity” principle, 
however, holds for the typical consumer and for consumers as a group.  
 
Other- Things-Equal (ceteris paribus) Assumption:  The assumption that factors other than those being 
considered do not change. They assume that all variables except those under immediate 
consideration are held constant for a particular analysis. 
 

أي أننا نعزل أثر التغییر في جمیع العوامل التي قد تؤثر في المتغیر . افتراض أن بعض العوامل المؤثرة في المتغیر التابع ثابتة
ة ومدى استجابة ھذا المتغیر للزيادة أو النقص في قیمة أحد المتغیرات المستقلة مع افتراض أن التابع ونركز على كیفی

. قیمة المتغیرات المستقلة الأخرى ثابتة  
  
For example, consider the relationship between the price of Pepsi and the amount of it 
purchased. Assume that of all the factors that might influence the amount of Pepsi purchased (for 
example, the consumer incomes) unchanged.  
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Multiple Choices:  
 
1. The term "ceteris paribus" means:  

(A) that if event A precedes event B, A has caused B. 
(B)  that economics deals with facts, not values. 
(C) other things equal. 
(D) prosperity inevitably follows recession. 

 
2. Suppose an economist says that "Other things equal, the lower the price of bananas, the greater 

the amount of bananas purchased." This statement indicates that:  
(A) The quantity of bananas purchased determines the price of bananas. 
(B) All factors other than the price of bananas (for example, consumer tastes and incomes) are 

assumed to be constant. 
(C) economists can conduct controlled laboratory experiments. 
(D) One cannot generalize about the relationship between the price of bananas and the quantity 

purchased. 
 

Microeconomics and Macroeconomics  
 

أو من , ويمكن دراسة وتحلیل ھذا السلوك بأسلوبین مختلفین. علم الاقتصاد يبحث في سلوك الأفراد والمجتمعات
 زاويتین مختلفتین  

 
Microeconomics: 
 
Microeconomics is the part of economics concerned with individual units such as a person, a 
household, a firm, or an industry. At this level of analysis, the economist observes the details of an 
economic unit. 
 

حدات الصغیرة في الاقتصاد مثل دراسة سلوك المستھلك أو المنتج أو سعر يعتمد الأسلوب الأول على دراسة الأجزاء أو الو
 ".الاقتصاد الجزئي" ويطلق على ھذا الأسلوب . سلعة معینة

 
Macroeconomics: 
 
Macroeconomics examines either the economy as a whole or its basic subdivisions or aggregates, 
such as the government, household, and business sectors. 
 
Macroeconomics approaches the study of economics from the viewpoint (من وجھة نظر) of the entire 
economy. 
أما الأسلوب الثاني في دراسة التحلیل الاقتصادي فیعتمد على دراسة الاقتصاد ككل أو القطاعات الرئیسیة فیه أو 

 .والبطالة وغیرھا) التضخم( والارتفاع العام بمستوى الأسعار ) GDP(الكلیة مثل الإنتاج القومي المجامیع 
 
 

Example 
Indicate whether each of the following statements applies to microeconomics or 
macroeconomics? 
 
a. The unemployment rate in the U.S was 4.9% in January 2008       ( Macroeconomics)  
b. An expected freeze in central Florida reduced the citrus crop and caused the price of 

oranges to rise.      ( Microeconomics) 
c. U.S output, adjusted for inflation, grows by 2.2% in 2007.       ( Macroeconomics) 
 
 
 

4 | P a g e  
 

Uploaded By: anonymousSTUDENTS-HUB.com



Econ131: Principles of Microeconomics         Chapter 1: Limits, Alternative, and Choices    أ. محمد عامرية 
 
Multiple Choices:  
 
1. Macroeconomics can best be described as the:  

(A) analysis of how a consumer tries to spend income. 
(B) study of the large aggregates of the economy or the economy as a whole 
(C) analysis of how firms attempt to maximize their profits 
(D) study of how supply and demand determine prices in individual markets 

 
2. Microeconomics:  

(A) is the basis for the "after this, therefore because of this" fallacy. 
(B) is not concerned with details, but only with the overall big picture of the economy. 
(C) is concerned with individual economic units and specific markets. 
(D) describes the aggregate flows of output and income. 

 
3. Which of the following is a microeconomic statement?  

(A) The real domestic output increased by 2.5 percent last year. 
(B)  Unemployment was 6.8 percent of the labor force last year. 
(C) The price of personal computers declined last year. 
(D) The general price level increased by 4 percent last year. 
 

 
Positive and Normative Economics:  
اد الموضوعي والاقتصاد المعیاري  الاقتص                                                                                      
 
Both microeconomics and macroeconomics contain elements of positive economics and 
normative economics. 
 
Positive Economics 
 
Positive economics focuses on facts and cause-and-effect relationships. It includes description, 
theory development, and theory testing (theoretical economics). 
 
Positive economics avoids value judgments 
 
Theoretical economics is a positive economics. 
 

بأنه لو بحث  ويمكن القول. في التحلیل الموضوعي يعتمد الباحث على بیانات حقیقیة يتم تحلیلھا للوصول للنتیجة النھائیة
عدد من الباحثین ظاھرة اقتصادية معینة باستخدام نفس البیانات ونفس طريقة التحلیل فإننا نتوقع أن يصل جمیعھم لنفس 

 .النتیجة في وصف تلك الظاھرة
 
Normative Economics 
 
Normative economics involves value judgments; about what the economy should be like or what 
particular policy actions should be recommended to achieve a desirable goal (policy 
economics). 
 
Normative economics embodies subjective feelings about what ought to be. 
 

وبالتالي فإن ھذا النوع مـن . ظاھرة معینةأو ما يجب أن نفعل تجاه , الاقتصاد المعیاري يبحث بما يجب أن يكون علیه الوضع
والتي قد تختلف مـن باحـث الآخـر . التحلیل يحاول أن يطرح حلولاً للظاھرة أو المشكلة معتمداً على التقدير الذاتي للباحث

 .حسب البیئة الاجتماعیة والديانة وغیرھا من العوامل
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Example 
 
Decide whether the following statements are positive or normative: 
 

1. Luxuries should be taxed more heavily than necessities         ( Normative Statement) 
 

2. The price and quantity demanded of a good is inversely related.     ( Positive Statement) 
 

3. It is too hot to jog (یركض) today".          (Normative Statement) 
 

4. We should buy Palestinian goods and boycott (مقاطع��ة) Israeli product.  (normative 
Statement) 
 

5. A rise in the price of petrol will lead to an increase in the demand for rail transport.   (Positive 
Statement) 
 

6. Unemployment is more harmful than inflation      (Normative Statement) 
 

7. A rise in the price of petrol will lead to an increase in the demand for rail transport.   (Positive 
Statement) 
 

8. As a general rule, people are happier in more equal societies.    (Normative Statement) 
 

Multiple Choices:  
 
1. A positive statement is one which is:  

(A) derived by induction 
(B)  derived by deduction 
(C) subjective and is based on a value judgment 
(D) objective and is based on facts 

 
2. Normative statements are concerned primarily with:  

(A) facts and theories 
(B)  what ought to be 
(C) what is 
(D) rational choice involving costs and benefits 

 
3. "Economics is concerned with how individuals, institutions, and society make optimal choices under 

conditions of scarcity." This statement is:  
(A) positive, but incorrect 
(B)  positive and correct 
(C) normative, but incorrect 
(D) normative and correct 

 
4. Basel says that "An increase in the tax on smoke will raise its price." Ruba argues that "Taxes should 

be increased on smoke because college students consume too much." We can conclude that:  
(A) Basel's statement is normative, but Ruba's is positive. 
(B)  Ruba's statement is normative, but Basel’s is positive. 
(C) Both statements are normative. 
(D) Both statements are positive. 
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Economizing Problem  
 
The fundamental problem of economics is the scarcity of productive resources relative to economic 
wants. 
 
The economizing problem is one of deciding how to make the best use of limited resources to satisfy 
virtually unlimited wants. 
 

 .تنجم المشكلة الاقتصادية بسبب ندرة المصادر الإنتاجیة مقارنة بتعدد رغبات الإنسان وتجددھا
 
Individuals' Economizing Problem المشكلة الاقتصادية على مستوى الأفراد   
                     

أن محدودية دخل الفرد تشكل قیداً على  حیث, على مستوى الأفراد فإن مشكلة الندرة تتضح في الدخل الذي يحصل علیه الفرد
 .سلوكھم الاستھلاكي

 
Limited Income and Unlimited Wants:  
 
Individual has a fixed amount of income, and have unlimited wants. Because wants exceed income, 
individual face an economizing problem; they must decide what to buy and what to forgo. 

 
A Budget Line (Budget Constraint):  
 

تشكل قیداً على سلوكھم  حیث أن محدودية دخل الفرد, . لتحلیل مشكلة الندرة على مستوى الأفراد سیتم دراسة خط المیزانیة
 .استھلاكه من السلع الأخرىبمعنى إذا أراد الفرد زيادة استھلاكه من سلعة يجب علیة أن يضحي من , الاستھلاكي

 
We can clarify the economizing problem facing consumers by visualizing a budget line (or, more 
technically, a budget constraint). It is a schedule or curve that shows various combinations of two 
products a consumer can purchase with a specific money income. Although we assume two products, 
the analysis generalizes to the full range of products available to an individual consumer. 
 
Budget line (or, more technically, a budget constraint): It is a schedule or curve that shows various combinations of 
two products a consumer can purchase with a specific money income. 
 
 
Example:   
 
If a consumer has $120 to spent on two goods: good X and good Y. If the price of good X is $20 
and the price of good Y is $10. 
 

- All the combination of good X and good Y on or inside 
the budget line are attainable from the $120 of money 
income (you can afford to buy يقدر على شرائھا). 
 

- All combinations beyond the budget line ( ــط ــارج خ خ
 .are unattainable (المیزانیة

 
- The slope of the budget line measures the ratio of the 

price of good X (Px) to the price of good Y (Py).       
 

 
      The Budget Line equation: Px * X + Py * Y = I 
 
      Where: Px : the price of good X, Py: the price of good Y, and I : is the consumer income 
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The Budget Line combinations of good X and good Y attainable with an income of $120 are: 

 
 
 
 
 
 
 
 
 
 
 

 
The slope of the budget line measures the ratio of the price of good X (Px ) to the price of good Y( Py). 
 

The slope of the budget line =  
𝑃𝑥
𝑃𝑦

  = 20
10

 = 2  

This means that: you must forgo 2 units of good Y (measured on the vertical axis) to buy 1 additional unit of 
good X (measured on the horizontal axis). 
 
 
Trade-Offs and Opportunity Costs 
 
The budget line in Figure above illustrates the idea of trade-offs (تضحیة) arising from limited income. To 
obtain more of good X, you have to give up some units of good Y.  
 
For example, to obtain the first unit of good X, you trade off 2 units of good Y. So the opportunity cost of 
the first unit of good X is 2 units of good Y.  
 

The opportunity costs of extra unit of good X =   
𝑃𝑥
𝑃𝑦

  = 20
10

 = 2 

 
To obtain the second unit of good X the opportunity cost is also 2 units of good Y. The straight-line 
budget constraint, with its constant slope, indicates constant opportunity cost. That is, the opportunity cost 
of 1 extra unit of good X remains the same (2 units of good Y) as more DVDs are purchased. 
 

The opportunity costs of extra unit of good Y =   
𝑃𝑦
𝑃𝑥

  = 10
20

 = ½ 

 
The opportunity cost of 1 extra unit of good Y does not change (= ½ unit of good X) as more books are 
bought. 
 
Choice:  Limited income forces people to choose what to buy and what to forgo to fulfill wants. You will 
select the combination of good X and good Y that you think is “best.” That is, you will evaluate your 
marginal benefits and marginal costs (here, product price) to make choices that maximize your 
satisfaction. Other people, with the same $120, would undoubtedly make different choices. 
 

يجب علیه ان يختار على سبیل المثال كمیة من . رغباتهمحدودية الدخل الافراد تحدد للفرد ما ھي السلع التي يستھلكھا لتحقیق 
وبسسب اختلاف الاذواق بین . والتي يعتقد الفرد أنھا الأفضل له والتي تحقق له أكبر منفعة ممكنة Yوكمیة من السلعة  Xالسلعة 

  .ى اختلاف الكمیات المستھلك من السلع بنفس مقدار المصروف من الدخلالافراد فإن ذلك يؤدي ال
 
 

Units of 
X 

Units of Y Total Expenditure 
= Px * X + Py * Y 

6 0 (10*0) + ( 20*6) = 120 
5 2 (10*2) + ( 20* 5) = 120 
4 4 (10*4) + ( 20* 4) = 120 
3 6 (10*6) +( 20* 3) = 120 
2 8 (10*8) + ( 20*2) = 120 
1 10 (10*10) +(20*1) = 120 
0 12 (10*12) + (20*0) = 120 
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Income Changes : The location of the budget line varies with money income. An increase in money income 
shifts the budget line to the right; a decrease in money income shifts it to the left.  
 
That shifts their budget lines outward and enables them to buy more goods and services. But even with 
more income, people will still face spending trade-offs, choices, and opportunity costs. 
 
 
 

 

 

 

 

 

Multiple Choices:  
 
1. The economizing problem is one of deciding how to make the best use of:  

(A) Virtually unlimited resources to satisfy virtually unlimited wants. 
(B) Limited resources to satisfy virtually unlimited wants. 
(C) Unlimited resources to satisfy limited wants. 
(D) Limited resources to satisfy limited wants. 

 
2. The scarcity problem:  

(A) Persists only because countries have failed to achieve continuous full employment. 
(B)  Persists because economic wants exceed available productive resources. 
(C) Has been solved in all industrialized nations. 
(D) Has been eliminated in affluent societies such as the United States and Canada. 
 

3. The budget line shows:  
(A) the amount of product A that a consumer is willing to give up to obtain one more unit of 

product B. 
(B) all possible combinations of two goods that can be purchased, given money income and the 

prices of the goods. 
(C) the minimum amount of two goods that a consumer can purchase with a given money income. 
(D) all possible combinations of two goods that yield the same level of utility to the consumer. 

 
4. An increase in money income:  

(A) shifts the consumer's budget line to the right. 
(B) shifts the consumer's budget line to the left. 
(C) increases the slope of the budget line. 
(D) has no effect on the budget line. 

 
5. Any combination of goods lying outside of the budget line:  

(A) implies that the consumer is not spending all his income. 
(B) Is attainable (يقدر على شرائھا), given the consumer income. 
(C) yields less utility than any point inside the budget line. 
(D) is unattainable, given the consumer's income. 
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Society's Economizing Problem  المشكلة الاقتصادية على المستوى القومي 
 

ولكن عملیة . إن أي قطر من الأقطار يمتلك مجموعة من الموارد الإنتاجیة والتي تستعمل الإنتاج السلع الاستھلاكیة المختلفة
, وأراضي, عمال( والتي تتطلب بدورھا استخدام موارد إنتاجیة , الاستھلاكیة تتطلب استخدام مكائن وآلاتإنتاج تلك السلع 

وھذا ويمكن أن . وبسبب ندرة الموارد الإنتاجیة فإن ذلك يحتم علینا عملیة الاختیار حول استخدام ھذه الموارد). ورأس مال
 .مي باستخدام فكرة منحنى إمكانیات الإنتاجندرس الندرة والاختیار والتضحیة على المستوى القو

 
Scarce Resources 
 
Society has limited or scarce economic resources, meaning all natural, human, and manufactured 
resources that go into the production of goods and services. This includes the entire set of factory and 
farm buildings and all the equipment, tools, and machinery used to produce manufactured goods and 
agricultural products; all transportation and communication facilities; all types of labor; and land and 
mineral resources. 
 

 .بأنه أي شخص أو أي شيء يساھم في عملیة إنتاج السلع والخدمات) الاقتصادي( يعرف المورد الإنتاجي 
 
 
Resource Categories  
 
Economists classify economic resources into four general categories.  
 
A. Land: To the economist land includes all natural resources ("gifts of nature") used in the 

production process, such as arable land, forests, mineral and oil deposits, and water resources.  
 

, المعادنأبار البترول ومناجم , مثل النباتات والغابات, الأرض ھي الموارد الطبیعیة وتشمل جمیع الأشیاء التي على سطحھا
 .الغازات وغیرھا

 
B. Labor (العمل): The resource labor consists of the physical and mental talents of individuals used 

in producing goods and services. The services of a logger, retail clerk, machinist, teacher, 
professional football player, and nuclear physicist all fall under the general heading “labor.” 

 
 . يعرف العمل أنه الجھد الإنساني المبذول ويمكن أن يكون ھذا الجھد جسمانیاً أو فكرياً 

 
C. Capital ( المال رأس ): Capital (or capital goods) includes all manufactured aids used in 

producing consumer goods and services. Included is all factory, storage, transportation, and 
distribution facilities, as well as tools or machinery. Economists refer to the purchase of capital -
goods as investment.  
 

. من آلات وأجھزة ومعدات ومباني. رأس المال في الاقتصاد ھو ما يقوم الإنسان بتصنیعه من وسائل الإنتاج المختلفة
بع استخراج البترول وتعبئته في برامیل فإننا ( وتعتبر المواد الخام بعد استخراجھا من باطن الأرض جزءاً من رأس المال 

 ). من رأس المال ولیس جزءاً من الأرض نعتبره جزءاً 
 

- Capital goods differ from consumer goods because consumer goods satisfy wants directly, 
whereas capital 'goods do so indirectly by aiding the production of consumer goods. 
 

- Because money produces nothing, economists do not include it as an economic resource. Money used for 
purchasing capital goods.  

 
D. Entrepreneurial Ability ( والتنظـیمالإدارة  ): There is the special human resource, distinct from labor, 

called entrepreneurial ability.  
. ويتمثل في أخذ المبادرة في جمع وتصور وتنظیم وتنسیق العملیة الإنتاجیة وحسن استخدام عناصر الإنتاج المختلفـة لتنظیما

ويشمل التنظیم أيضا عملیة اختراع واستخدامات أنماط وطرق جديدة في الإنتاج، ويرى البعض أن التنظیم ھـو نـوع متقـدّم مـن 
 .للعمل  نصرالإنتاجي الأولالعمل فیدخلونه ضمن الع
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The entrepreneur performs several functions: يقوم الريادي بمجموعة وظائف منھا  
 
- The entrepreneur takes the initiative in combining the resources of land, labor, and capital to 

produce a good or a service. The entrepreneur is the driving force behind production and the 
agent who combines the other resources in what is hoped will be a successful business venture. 

 
 اتخدمال ووالعمل ورأس المال لإنتاج سلعة  الموارد الانتاجیة الأرض استخداميأخذ زمام المبادرة في  المنظم او الريادي 

  .وحسن استخدام عناصر الإنتاج المختلفة
 

- The entrepreneur makes the strategic business decisions that set the course of an enterprise.  
 .القرارات التجارية الاستراتیجیة التي تحدد مسار مؤسسة يعمل الريادي

 
- The entrepreneur is an innovator. He or she commercializes new products, new production 

techniques, or even new forms of business organization. 
بتسويق منتجات جديدة، وتقنیات الإنتاج الجديدة، أو حتى أشكال جديدة من تنظیم الأعمال  مبتكر، بحیث يقوم ھو  الريادي

 .ريةالتجا
 

- The entrepreneur is a risk bearer. The entrepreneur has no guarantee of profit. The reward for the 
entrepreneur’s time, efforts, and abilities may be profits or losses. 

 .او خسارة الريادي لا يضمن ان يحقق أرباح للمشروع فقد بحقق ارباح. من يتحمل المخاطرھو  الريادي
 

 
Because land, labor, capital, and entrepreneurial ability are combined to produce goods and services, they 
are called the factors of production, or simply "inputs." 
 
 
Multiple Choices:  
 
1. Which of the following is a labor resource?  

A. a computer programmer 
B. a computer 
C. silicon (sand) used to make computer chips 
D. a piece of software used by a firm 
 

2. Which of the following is a capital resource?  
A. a computer programmer 
B. a corporate bond issued by a computer manufacturer 
C. silicon (sand) used to make computer chips 
D. a piece of software used by a firm 
  

3. The four factors of production are:  
A. land, labor, capital, and money 
B. land, labor, capital, and entrepreneurial ability 
C. labor, capital, technology, and entrepreneurial ability 
D. labor, capital, entrepreneurial ability, and money 
 

4. Which of the following is a land resource?  
A. a farmer 
B. an oil drilling rig 
C. a machine for detecting earthquakes 
D. natural gas 
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5. Money is not an economic resource because:  

A. money, as such, does not produce anything. 
B. idle money balances do not earn interest income. 
C. it is not scarce. 
D. money is not a free gift of nature. 

 
 
Production Possibilities Model منحنى إمكانیات الإنتاج 

  
Production Possibilities Curve  
 
Lists the different combinations of two products that can be produced with a specific set of resources, 
assuming full employment. 
 

يمثل أقصى ما يمكن أن ينتجه المجتمع من بضائع وخدمات خلال فترة زمنیة معینة بكمیة الموارد ) منحنى( ھو شكل  
 .  الإنتاجیة المتوفرة

Assumptions: 
 

 :رسم منحنى إمكانیات الإنتاج لمجتمع معین فإننا نضع عادة بعض الافتراضات التبسیطیة الھامةلكي نستطیع 
 

1. Full employment: The economy is employing all its available resources.  
( ة معطلة أو غیر مستغلة ويعني ذلك أنه لا توجد موارد إنتاجی. إن جمیع الموارد الإنتاجیة المتوفرة لدى المجتمع موظفة بالكامل

 ).تشغیل كامل
 

2. Fixed resources: The quantity and quality of the factors of production are fixed.  
 .أن كمیة ونوعیة الموارد الإنتاجیة المتوفرة لدى المجتمع ثابتة

 
3. Fixed technology:  The methods used to produce output are constant.  

 .التي يستخدمھا المجتمع لا تتغیر) التكنولوجیا( الأسالیب الإنتاجیة أن 
4. Two goods:  The economy is producing only two goods (consumer goods and capital goods). 

 .أن يقوم المجتمع بإنتاج سلعتین فقط
 
Production Possibilities Table 
 
A production possibilities table lists the different combinations of two products that can be produced 
with a specific set of resources, assuming full employment. Table below presents a simple, hypothetical 
economy that is producing pizzas and Industrial Robots. 
 
Example 
 
Production Possibilities of Pizzas and Industrial Robots: 
 

 
 
 
 
 

- At alternative A, this economy would be devoting all its avail-
able resources to the production of industrial robots (capital 
goods 

 
- At alternative E, all resources would go to pizza production 

(consumer goods). 

Type of product Production Alternative  
 A       B        C       D         E 

Pizzas   0        1        2        3         4 
Robots  10      9        7        4         0 

12 | P a g e  
 

Uploaded By: anonymousSTUDENTS-HUB.com



Econ131: Principles of Microeconomics         Chapter 1: Limits, Alternative, and Choices    أ. محمد عامرية 
 
- An economy typically produces both capital goods and consumer goods, as in B, C, and D. 

 
- As we move from alternative A to E, we increase the production of pizzas at the expense of the 

production of industrial robots. 
 
- In producing more pizzas, society increases the current satisfaction of its wants. But there is a cost: 

More pizzas mean fewer industrial robots.  
 
-  Each point on the production possibilities curve represents some maximum output of the two 

products.  
 
- Any combination of industrial robots and pizzas lying outside the curve (such as at W) unattainable.  

 
- Points inside the curve are attainable, but they indicate that full employment is not being realized (unemployment 

point). 
 
Opportunity cost: the number of units of a specific good that must be given up (يتخلى عن) to obtain one 
more unit of another good. 
 
 Opportunity cost = negative slope of the production possibilities curve at each point 
 
 
Example 
Using the table (Production Possibilities of Pizzas and Industrial Robots) to answer the following 
questions: 
 
 
 
 

 
 

 
1. If the economy at point D. What is the opportunity cost of one more unit of industrial robots? 
 

Opportunity cost of one more units of robots = 
(∆ 𝑖𝑛 𝑃𝑖𝑧𝑧𝑎𝑠

∆ 𝑖𝑛 𝑖𝑛𝑑𝑢𝑠𝑡𝑟𝑖𝑎𝑙 𝑟𝑜𝑏𝑜𝑡𝑠
 = 

( 3−2 )
( 4−7 )

  = -⅓ units of Pizzas. 

 
2. What is the opportunity cost of the second unit of Pizza? 

 

    Opportunity cost = 
(∆ 𝑖𝑛 𝑖𝑛𝑑𝑢𝑠𝑡𝑟𝑖𝑎𝑙 𝑟𝑜𝑏𝑜𝑡𝑠

∆ 𝑖𝑛 𝑝𝑖𝑧𝑧𝑎𝑠
 = 

( 7−9 )
( 2−1 )

  = – 2 units of robots. 

 
 
Example 
Suppose that a nation's production possibilities can be represented by the table below: 
 

 
 
 
 
 

a. What is the maximum amount of food this economy can produce? How much clothing can it 
produce at this point? 

Type of product Production Alternative  
 A       B        C       D         E 

Pizzas   0        1        2        3         4 
Robots  10      9        7        4         0 

  Production Alternatives 
Products A B C D E 
Food 0 4 8 12 16 
Clothing 20 18 14 8 0 
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The greatest amount of food is 16 units, achieved by producing at alternative E. At this point, all 
resources are devoted to food production and none to clothing production. Clothing production is 
zero. 
 

b. If the economy is producing at alternative C, what is the opportunity cost of one more unit of food? 
 

Opportunity cost of one more unit of food = 
∆  𝐶𝑙𝑜𝑡ℎ𝑖𝑛𝑔
∆ 𝑓𝑜𝑜𝑑

 = � ( 8−14 )
( 12−8  )

�  =  64  = 1.5 units of clothing 

 
c. If the economy is producing at alternative C, what is the cost of one more unit of clothing? 

 

Opportunity cost of one more unit of clothing = 
∆  𝑓𝑜𝑜𝑑

∆ 𝑐𝑙𝑜𝑡ℎ𝑖𝑛𝑔
 = � ( 4−8 )

( 18−14 )
�  =  44  = 1 unit of food 

 
 
d. If the economy is producing at alternative C, what is the cost of 4 more unit of food? 
 

From part b, the opportunity cost of one more unit of food = 1.5 units of clothing 
      Opportunity cost of 4 more unit of food = 1.5 * 4 = 6  
 

Or from the table, as we move from point C to D, the consumer increase production of food by 4 
units (8 to 12), while decrease consumption of clothing by 6 ( 14 to 8 ).  
 

 
Example 
Below is a production possibilities table for consumer goods “automobiles” and capital goods “Milk” 
 
 

 
 
 

 
 
 
1. Graph the production possibilities curve 
 

لترات قل عدد  2عند الرسم يجب اللإنتباه الى ان الرسمة لیست خط مستقیم لانه كلما زاد عدد السیارات المنتجة ب  :ملاحظة
 ).میل المنحنى متزايد( عدد متزايد ب الحلیب المنتجة 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Type of product Production Alternative  
 A       B       C        D         E 

automobiles  0       2        4         6         8 
Milk  30     27      21      12        0 

14 | P a g e  
 

Uploaded By: anonymousSTUDENTS-HUB.com



Econ131: Principles of Microeconomics         Chapter 1: Limits, Alternative, and Choices    أ. محمد عامرية 
 

2. If the economy at point C, what is the opportunity cost of one more automobile? 
 

Opportunity cost  = ∆  𝑀𝑖𝑙𝑘
∆ 𝐴𝑢𝑡𝑜𝑚𝑜𝑏𝑖𝑙𝑒 = �( 12−21  )

( 6−4   )
�  =  92  =4.5 liters of milk 

  
 

3. If the economy at point B, what is the opportunity cost of two more automobile? 
 

Opportunity cost of one more automobile  = ∆  𝑀𝑖𝑙𝑘
∆ 𝐴𝑢𝑡𝑜𝑚𝑜𝑏𝑖𝑙𝑒 = �( 21−27  )

( 4−2  )
�  =  62  = 3  

 
 
Opportunity cost of two more automobile = Opportunity cost of one more * numbers of units 
 
Opportunity cost of two more automobile = 3 * 2 = 6  
 
 Or: From the table the economy must move from point B to point C. When the economy moving 
from point B to point C, the economy must give up (27 – 21) = 6 liters of milk.   
 

 
4. If the economy at point B, what is the opportunity cost of one more liter of milk? 

 

Opportunity cost  = ∆  𝐴𝑢𝑡𝑜𝑚𝑜𝑏𝑖𝑙𝑒
∆ 𝑀𝑖𝑙𝑘  = � ( 0−2  )

( 30−27  )
�  =  23  Automobile 

 
5. What is the opportunity cost of producing the 7th units of automobile? 
 

The economy must move from point D to point E. 
 
 

Opportunity cost  = ∆  𝑀𝑖𝑙𝑘
∆ 𝐴𝑢𝑡𝑜𝑚𝑜𝑏𝑖𝑙𝑒 = �( 0−12  )

( 8−6   )
�  =  12

2   = 6 liters of milk 

 
 

6. What is the opportunity cost of producing the 24th liters of milk? 
 

The economy must move from point C to point B. 
 
 

Opportunity cost of one more liter of milk  = ∆  𝐴𝑢𝑡𝑜𝑚𝑜𝑏𝑖𝑙𝑒
∆ 𝑀𝑖𝑙𝑘  = � ( 2−4  )

( 27−21  )
�  =  26   Automobile 

 
At point C, the amount of milk = 21. Increase production of milk to 24 means that the 3 more liters of 
milk increase 
 
Opportunity cost of producing the 24th liters of milk = 3 * 

2
6
   = 1  

 
7. If the economy producing 3 automobile and 20 liters of milk. Is the economy use of its all available 

recourses to produce it? Explain 
 

The point 3 automobile and 20 liters of milk lie inside the PPC. This point is attainable but it unemployment 
point (not use of its all available recourses to produce it 
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8. What would production at point outside the production possibilities curve indicate? What must occur 
before the economy can attain such a level of production? 

 
Any point lie outside the production possibilities curve is unattainable point.  
 
Before the economy can attain such a level of production it must increase the recourses of the 
production or improvement in the level of technology used. 
 

Example: 
Refer to the diagram to answer questions that follow it 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

 
a. If society is currently producing 9 units of bicycles and 4 units of computers and it now decides to 

increase computer output to 6, what is the opportunity cost of increase computer output to 6 units? 
 
From the diagram as we move from point C to point D, the economy increase production of 
computers from 4 to 6, that leads to decline production of bicycles from 9 to 5  
 
Opportunity cost of increase computer output from4 to 6 units = |5 − 9| = 4  
 

b. If society is currently producing at point B, what is the opportunity cost of producing one more 
Computer? 

 
If the economy at point B, and its wants to increase production of computers it will move from point 
B to point C. 

 
 

Opportunity cost  = ∆  𝐵𝑖𝑐𝑦𝑐𝑙𝑒𝑠
∆ 𝐶𝑜𝑚𝑝𝑢𝑡𝑒𝑟 = �( 9−12  )

( 4−2   )
�  =  32  = 1.5 bicycles 

 
 
c. If society is currently producing at point D, what is the opportunity cost of producing one more 

Bicycle? 
 

If the economy at point D, and its wants to increase production of bicycles, it will move from point D 
to point C. 
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Opportunity cost  = ∆  𝐶𝑜𝑚𝑝𝑢𝑡𝑒𝑟𝑠
∆ 𝐵𝑖𝑐𝑦𝑐𝑙𝑒𝑠  = �( 4−6  )

( 9−5   )
�  =  24  = ½ computer 

 
Law of Increasing Opportunity Costs: 
 
The law of increasing opportunity costs. As the production of particular good increases, the opportunity 
cost of producing an additional unit rises. 
 

. إن إنتاج وحدات متتالیة من سلعة ما يؤدي إلى التضحیة بكمیات متزايدة من السلعة الأخرى: قانون التكلفة المتزايدة
 .اج المختلفة على إنتاج كافة السلع بنفس الكفاءةوالسبب في ذلك ھو عدم قدرة عناصر الإنت

 
 
Example 
 
The following  table shows the production possibilistes for an economy 
which produces  bottles of water (B) and Compact Disks (CD) in millions. 
Does the law of increasing opportunity cost hold here? Show how? 
 
 
 
Answer: 
 
When we move from A to B, just 1 unit of compact disks is sacrificed for 1 more unit of bottles of 
water; but in going from B to C we sacrifice 2 additional units of CD for 1 more unit of bottles of water; 
then 3 more of CD for 1 more of bottles of water.  
 
 
  The law of increasing opportunity cost hold here 

 
 

 
 
 
 
Shape of the Curve:  
 
The law of increasing opportunity costs is reflected in the shape of the production possibilities curve: The curve is 
bowed out from the origin of the graph. Figure shows that when the economy moves from A to E, it must give 
up successively larger amounts of industrial robots (1, 2, 3, and 4) to acquire equal increments of pizzas 
(1, 1, 1, and 1). This is shown in the slope of the production possibilities curve, which becomes steeper as 
we move from A to E. 
 
 
 
 
 
 
 
 
 
 
 
 

Possibilistes B CD 
A 0 15 
B 1 14 
C 2 12 
D 3 9 
E 4 5 
F 5 0 

B CD Opportunity cost of one 
more  bottles of water (B) 

0 15 − 
1 14 1 
2 12 2 
3 9 3 
4 5 4 
5 0 5 
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 Production possibilities curve is bowed out from the origin because it reflects the law of 

increasing opportunity cost. 
 
 Production possibilities curve is straight line because it reflects the law of constant 

opportunity cost. 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
Multiple Choices:  
 
1. The typical production possibilities curve is:  

A. an upsloping line that is bowed out from the origin. 
B. a downsloping line that is bowed in toward the origin. 
C. a downsloping line that is bowed out from the origin. 
D. a straight upsloping line. 

  
2. The slope of the typical production possibilities curve:  

A. is positive. 
B. increases as one moves southeast along the curve. 
C. is constant as one moves down the curve. 
D. decreases as one moves southeast along the curve. 

 
3. The production possibilities curve has:  

A. a positive slope that increases as we move along it from left to right. 
B. a negative slope that increases as we move along it from left to right. 
C. a negative slope that decreases as we move along it from left to right. 
D. a negative slope that is constant as we move along it from left to right. 

 
4. Based on the following production possibilities curve answer the following question: Refer to the 

above diagram. The concept of opportunity cost is best represented by the:  
A. Move from B on PPl to E on PP2. 
B. Move from B on PPl to C on PP1.  
C. Move from D inside PPl to B on PPI.  
D. Shift of the production possibilities curve from PPl to PP2.  
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Example 
 
Based on the following production possibilities schedule answer the 
following questions: 
 
 

a. If the economy is currently producing one Gun, and wants to 
produce more Guns, what is the opportunity cost of an 
additional Gun? 

Opportunity cost of an additional Gun = 
(∆ 𝐵𝑢𝑡𝑡𝑒𝑟
∆ 𝐺𝑢𝑛

 = ( 28−36 )
( 2−1)  = 8 tons of butter 

 
b. If the economy is currently producing 3 Gun, how many tons of butter can this country produce 

efficiently? 
 

   Opportunity cost of an additional Gun = ∆ Butter / ∆ Gun  
                                                              

       –12 = 
( 𝑋−28 )

( 3−2)      X – 28 = –12       X = 28 – 12 = 16 tons of butter 

 
 
Optimal Allocation 
 
Of all the attainable combinations of pizzas and industrial robots on the curve in Figure, which is optimal 
(best)? That is, what specific quantities of resources should be allocated to pizzas 
and what specific quantities should be allocated to industrial robots in order to 
maximize satisfaction? 
 

) B (والنقطة  ) A(فالنقطة . ذكرنا سابقاً أن منحنى إمكانیات الإنتاج يمثل أقصى ما يستطیع المجتمع إنتاجه
وكل نقطة على المنحنى تمثل أحد البدائل أو الخیارات التي يمكن للمجتمع أن ينتجھا إذا , )C(والنقطة 

ونقول في ھذه الحالة أن ھذه البدائل التي تقع على المنحنى تمثل .  استخدم جمیع العناصر المتوفرة لديه
  .(Productive Efficiencyكفاءة إنتاجیة  

 
 
Economic decisions center on comparisons of marginal benefit (MB) and marginal cost (MC). Any 
economic activity should be expanded as long as marginal benefit exceeds marginal cost and should 
be reduced if marginal cost exceeds marginal benefit. The optimal amount of the activity occurs where MB = 
MC. Society needs to make a similar assessment about its production decision. 
 
Consider pizzas. We already know from the law of increasing 
opportunity costs that the marginal costs of additional units of pizza 
will raise as more units are produced. At the same time, we need to 
recognize that the extra or marginal benefits that come from 
producing and consuming pizza decline with each successive unit 
of pizza. Consequently, each successive unit of pizza brings with it 
both increasing marginal costs and decreasing marginal benefits. 
 
The optimal quantity of pizza production is indicated by point e at 
the intersection of the MB and MC curves: 200,000 units in Figure. 
Why is this amount the optimal quantity? If only 100,000 units of 
pizzas were produced, the marginal benefit of an extra unit of pizza 
(point a) would exceed its marginal cost (point b).When society 
gains something worth $15 at a marginal cost of only $5, it is better 

Guns Butter 
(tons) 

Opportunity cost 
of Guns 

1 36 2 tons of butter 
2 28 ? 
3 ? 12 tons of butter 
4 0 ? 
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off. In Figure above, net gains can continue to be realized until pizza product production has been 
increased to 200,000. 
 
If MB > MC     →   production should be increased 
 
If MB < MC     →   production should be decreased 
 
If MB = MC   →   the optimal amount of the production occurs (optimal allocation) 
 
 
Productive Efficiency (كفاءة إنتاجیة) 
 
The production of any particular good in the least costly way (إنتاج السلعة بأقل التكالیف). 
 
• Each point occurs on the production possibilities curve represents productive efficiency. 
 
• Each point occurs inside the production possibilities curve represents productive inefficiency. 

 

 
Allocative efficiency 
 
The particular mix of goods and services most highly valued by society (إنتاج ما يرغبه افراد المجتمع). 
 
 
Economic Efficiency = Productive Efficiency + Allocative efficiency 
 
 
Multiple Choices:  

1. The optimal point on a production possibilities curve is achieved where:  
A. the smallest physical amounts of inputs are used to produce each good. 
B. each good is produced at a level where marginal benefits equal marginal costs. 
C. large amounts of capital goods are produced relative to consumer goods. 
D. large amounts of consumer goods are produced relative to capital goods. 
 

2. The marginal cost curve is:  
A. upsloping because of increasing marginal opportunity costs. 
B. upsloping because successive units of a specific product yield less and less extra utility. 
C. downsloping because of increasing marginal opportunity costs. 
D. downsloping because successive units of a specific product yield less and less extra utility. 
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3.  The output of MP3 players should be:  

A. reduced if marginal benefits exceed marginal costs. 
B. reduced if marginal costs exceed marginal benefits. 
C. increased if marginal costs exceed marginal benefits. 
D. reduced to zero if their unit costs exceed the unit costs of alternative products. 

 
 
4. Refer to the above diagram. Points A, B, C, D, and E show:  

A. That the opportunity cost of bicycles increases, while that of computers is 
constant. 

B. Combinations of bicycles and computers that society can produce by 
using its resources efficiently. 

C. That the opportunity cost of computers increases, while that of bicycles is 
constant. 

D. That society's demand for computers is greater than its demand for 
bicycles. 

 
 
Unemployment, Growth, and the Future 
 
 Unemployment of Resources 
 

 .أو غیر مستغلة بصورة كاملة, الكامل لعناصر الإنتاج يحث عندما تكون بعض عناصر الإنتاج غیر مستغلةعدم التوظیف 
 .وھذا يعني أن أي نقطة داخل منحنى إمكانیات الإنتاج تمثل عدم التوظیف الكامل لعناصر الإنتاج

 
 
 
Any point inside the production possibilities curve, such as U, represents 
unemployment or a failure to achieve full employment.  
 
The arrows indicate that by realizing full employment, the 
economy could operate on the curve. This means it could 
produce more of one or both products than it is producing at 
point U.  
 
 
 
 
 
Example 
 
Refer to the production possibilities curve. Which point represents unemployment and 
producing inefficiently? And which points represent productive efficiency? 
 
Point a: unemployment point and producing inefficiently.  

 )جزء من عناصر الانتاج معطل( عناصر الانتاج لا يوجد ھناك استغلال كامل ل
 
Point’s b, c, e, and f represent productive efficiency ( لأنھا تقع على
 (المنحنى
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Growing Economy النمو الاقتصادي 
 
When we drop the assumptions that the quantity and quality of resources and technology are fixed, 
the production possibilities curve shifts positions and the potential maximum output of the economy 
changes. 
 
Production possibilities curve shifters:   العوامل التي تؤدي إلى انتقال منحنى إمكانیات الإنتاج 
 
1. Increases in Resource Supplies:   الإنتاجیة و نوعیة المصادر كمیةزيادة    
 
The increase in supplies of resources ( land, labor, capital, and entrepreneurial ability), 
improvements in resource quality, move the production possibilities curve outward and to the 
right, allowing the economy to have larger quantities of both types of goods ( Economic Growth). 
 
The increase in supplies of resources, improvements in resource quality, shifts the production possibilities curve 
outward and to the right (Economic Growth). 
 

ونتیجة للاكتشافات الجديد , إذا افترضنا أن كمیة الموارد الإنتاجیة قد زادت نتیجة لتزايد السكان والقوى العاملة في المجتمع
, سـوف تزيـد, أي طاقة الإنتاجیة, إن ذلك يعني ببساطة أن مقدرة ھذا المجتمع. وزيادة التراكم الرأسمالي, للثروة المعدنیة

ويمكن الحصول على نفس ). نمو اقتصادي( مع أن ينتج كمیات أكبر من البضائع والخدمات سنويا وبالتالي يستطیع ھذا المجت
, وصـیانة الآلات, وتـدريب العـاملین, مثـل استصـلاح الأراضـي الزراعیـة, النتیجة إذا تحسنت نوعیة الموارد المتاحة للمجتمع

 .      وغیرھا
 
A decrease in supplies of resources, shift the production possibilities curve inward and to the left from PPC1 to 
PPC2. (Economic recession اقتصادي ركود( ). 
 
 

 
 
 
 
 

2. Advances in Technology تطور التكنولوجیا التي يستخدمھا المجتمع 
 
An advancing technology brings both new and better goods and improved ways of producing them. 
Increase in output leads to economic growth. 
  
An advancing technology shifts PPC to the right, this leads to increase output. 
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Multiple Choices:  
 
1. Unemployment:  

A. causes the production possibilities curve to shift outward. 
B. can exist at any point on a production possibilities curve. 
C. is illustrated by a point outside the production possibilities curve. 
D. is illustrated by a point inside the production possibilities curve. 
 

2. A nation's production possibilities curve might shift to the left (inward) as a result of:  
A. technological advance. 
B. increases in the size of the labor force. 
C. the depletion of its soil fertility (إستنزاف خصوبة التربة) due to overplanting and overgrazing (الرعي الجائر) 
D. investing in more capital goods. 

 
3. Refer to the above diagram. The concept of economic growth is best 

represented by the:  
A. Move from point B to point C. 
B. Move from point C to point D. 
C. Move from point B to point E. 
D. Move from point F to point E 

 
 
 
 
Biased Growth and Unbiased Growth:     النمو المتوازن وغیر المتوازن 
 

أما النمو الغیر . في مثالنا السابق بنفس النسبة)  Pizza and Robots( يحدث النمو المتوازن عندما يزيد إنتاج جمیع السلع 
ام أو يتم قد يتم تطوير تكنولوجیا خاصة بإنتاج الطع, فعلى سبیل المثال. متوازن يحدث نتیجة لزيادة إنتاج سلعة ما دون غیرھا

وبالمقابل فقد يتم تطوير . وھذا ما سیؤدي إلى زيادة إنتاج الطعام دون  أن يؤثر على إنتاج المكائن, زيادة الأراضي الزراعیة
 .  تكنولوجیا خاصة بإنتاج المكائن دون أن يوئر ذلك على إنتاج لطعام

 

Generally we assume an increase in available resources raises the production capacity of both goods. 
An improvement in technology, however, may be specific to one product. In this situation the PPC shifts 
outward only along one axis. 
 
 

 

23 | P a g e  
 

Uploaded By: anonymousSTUDENTS-HUB.com



Econ131: Principles of Microeconomics         Chapter 1: Limits, Alternative, and Choices    أ. محمد عامرية 
 
Multiple Choices:  
 

1. Which of the following could explain the shift in the production possibilities frontier from AB to AC 
A. technological improvement in both television production and 

computer production 
B. technological improvement in television production that has no effect 

on computer production 
C. technological improvement in computer production that has no 

effect on television production 
D. an increase in the labor that can produce either television products or 

computer 
 

2. Which of the following will shift the production possibilities curve to the 
right?  
A. an increase in the unemployment rate from 6 to 8 percent 
B.  a decline in the efficiency with which the present labor force is allocated 
C. a decrease in the unemployment rate from 8 to 6 percent 
D. a technological advance that allows farmers to produce more output from given inputs 

 
 

3. In the figure above, moving from point D to point E requires 
A. Technological change. 
B. An increase in unemployment. 
C. Give up (یتخلى عن) some of televisions in order to obtain more 

computer 
D. Give up some of computers in order to obtain more televisions. 
 

 
 
 
------------------------------------------------------------------------------------------------------------------------------------------------- 
Questions 
 
Question #1 
 
Refer to the production possibilities frontier in the figure above 
answer the following questions 
 

1. Which point is unattainable?  ________ 
2. Which point indicates that resources are NOT fully utilized or 

are inefficient? __________ 
3. Which point represents an attainable but inefficient 

production point?  __________ 
4.  Which point represents the choice to allocate the greatest 

amount of resources to producing consumer goods? 
___________ 

5. If the country moves from point a  to point d, the opportunity 
cost of one more unit of consumer goods is _______________ 

6. If currently no capital goods are being produced, what is the 
total opportunity cost of producing another 10 capital 
goods? 

7. What must the economy do to attain point e? 
 

24 | P a g e  
 

Uploaded By: anonymousSTUDENTS-HUB.com



Econ131: Principles of Microeconomics         Chapter 1: Limits, Alternative, and Choices    أ. محمد عامرية 
 
Question # 2: 
 
The table below lists five points on the production possibilities frontier 
for chocolate bars and cans of cola. 

1. Show these data graphically 
2. If the economy at point B, what is the opportunity cost of the 

one more cans of cola? 
3. If the economy at point D, what is the opportunity cost of the 

one more bar of chocolate? 
4. If the economy producing at point E, what is the opportunity 

cost of producing 40 cans of cola? 
5. Can the economy producing 20 chocolate bars and 75 cans of cola? If not why? 
6. Does the law of increasing opportunity cost hold here? Show how? 

 
Question # 3 
 
The table above represents the production possibilities frontier for grain and cars. Given this information 
answer the following questions. 

1. Which of the following combinations is unattainable? (4 tons of 
grain and 26 car), (2 tons of grain and 27 cars), (6 tons of grain and 
18 cars), (7 tons of grain and 10 cars) 

2. If the economy at point D, what is the opportunity cost of 
producing one more unit of car? 

3. What is the opportunity cost of increasing grain production from 2 
tons to 4 tons?  

4. What is the opportunity cost of producing the 5th ton of grain? 
5. What is the opportunity cost of producing the 26th car? 

 
 
Question # 4: 
 
Decide whether the following statements are positive or normative: 
 

1. A rise in the price of petrol will lead to an increase in the demand for rail transport 
2. The government is right to introduce a ban on smoking in public places 
3. Despite a large increase in income per head, people are no happier today than they were 50 

years ago 
4. The government can reduce obesity by offering a subsidy to low income families when they buy 

fresh vegetables in the supermarket 
5. A fall in incomes will lead to a rise in demand for own-label supermarket foods  

 
 

Question # 5: 
 
The graph represents the production possibilities frontier for Bread and 
Tractors 
 
1. Is the combination of (3 Tractors and 12 Bread) unattainable? 

Explain 
2. If the economy at point C, what is the opportunity cost of 

producing one more unit of Bread? 
3. What is the opportunity cost of producing the 5th ton of grain? 
4. What is the opportunity cost of producing the 4th Tractors? 
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Chapter One Appendix 
 

Graphs and Their Meaning 
  

Construction of a Graph 
 
A graph is a visual representation of the relationship between two variables. 
 

والخطوة . لبعضإن الرسوم البیانیة تھدف إلى تمثیل وتوضیح العلاقات بین المتغیرات الاقتصادیة وخاصة عندما نرید أن نربط علاقة متغیرین مع بعضھما ا
وعل�ى المح�ور   Horizontal Axis)" (المح�ور الس�یني" الأولى ف�ي عملی�ة التمثی�ل البی�اني ھ�ي أن نرس�م مح�ورین متعام�دین یطل�ق عل�ى المح�ور الأفق�ي 

والأخ�ر ) dependent( أح�دھما ت�ابع , كما أن عملیة الرسم البیاني تتناس�ب ج�داً م�ع دراس�ة متغی�رین). Vertical Axis( المحور الصادي " العمودي 
 Horizontal)(الس�یني والمح�ور ) dependent( للمتغیر الت�ابع ) Vertical Axis( حیث یخصص المحور الصادي , )independent( مستقل
Axis للمتغیر المستقل ).(Independent   

 
 
The table in Figure 1 is a hypothetical illustration showing the relationship between income and 
consumption for the economy as a whole. Without even studying economics, we would logically 
expect that people would buy more goods and services when their incomes go up. Thus, it is not 
surprising to find in the table that total consumption in the economy increases as total income 
increases. The information in the table is expressed graphically in Figure 1. Here is how it is done: We 
want to show visually how consumption changes as income changes.   We therefore represent income 
on the horizontal axis of the graph and consumption on the vertical axis. 
 
 
 
 

 

 
 If the curve is a straight line, as in Figure, we say the relationship is linear. 
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Direct and Inverse Relationships 
 
The line in Figure above slopes upward to the right, so it depicts a direct relationship between income 
and consumption. By a direct relationship (or positive relationship) we mean that two variables change in 
the same direction. An increase in consumption is associated with an increase in income; a decrease in 
consumption accompanies a decrease in income. When two sets of data are positively or directly 
related, they always graph as an upsloping line, as in Figure above. 
 
In contrast, two sets of data may be inversely related. Consider the table in Figure below, which shows 
the relationship between the price of basketball tickets and game attendance. Here we have an 
inverse relationship (or negative relationship) because the two variables change in opposite directions. 
When ticket prices decrease, attendance increases. When ticket prices increase, attendance 
decreases. The six data points in the table in Figure 2 are plotted in the graph. Observe that an inverse 
relationship always graphs as a downsloping line. 
 

 
 
 

 

 

 When two sets of variables are positively or directly related, they always graph as an upward sloping line.  
 
 When two sets of variables are negatively or inversely related, they always graph as a down sloping line.  

 
Multiple Choices:  
 
1. If we say that two variables are directly related, this means that:  

A. the relationship between the two is purely random. 
B. an increase in one variable is associated with a decrease in the other variable. 
C. an increase in one variable is associated with an increase in the other variable. 
D. the two graphs as a downsloping line. 

 
2. If we say that two variables are inversely related, this means that:  

A. the two graph as an upsloping line. 
B. an increase in one variable is associated with a decrease in the other. 
C. an increase in one variable is associated with an increase in the other. 
D. the resulting relationship can be portrayed by a straight line parallel to the horizontal axis. 
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3. Refer to the diagram. Which line(s) show(s) a positive relationship between x and y?  

A.  A only. 
B.  A and D only. 
C.  C. A, B, and D. 
D.  both C and E. 
 

4. Refer to the diagram. Which line(s) show(s) a negative relationship 
between x and y?  
A.  A only. 
B.  both A and D. 
C.  A, B, and D. 
D.  both C and E. 

 
5. If a positive relationship exists between x and y:  

A. an increase in x will cause y to decrease. 
B. a decrease in x will cause y to increase. 
C. the relationship will graph as an upsloping line. 
D. the vertical intercept must be positive. 
 

6. If price (P) and quantity (Q) are directly related, this means that:  
A. a change in Q will alter P, but a change in P will not alter Q. 
B. if P increases, Q will decrease. 
C. if P increases, Q will also increase. 
D. an increase in P will cause Q to change, but the direction in which Q changes cannot be 
predicted. 

 
Dependent and Independent Variables 

 
The independent variable is the cause or source; it is the variable that changes first.  
 
Dependent variable is the effect or outcome; it is the variable that changes because of the change in 
the independent variable.  
 
As in our income-consumption example, income generally is the independent variable and 
consumption the dependent variable. Income causes consumption to be what it is rather than the 
other way around. Similarly, ticket prices determine attendance basketball games; attendance at 
games does not determine the printed ticket prices for those games. Ticket price is the independent 
variable and the quantity of tickets purchased is the dependent variable. 
 
 
Mathematicians put the independent variable (cause) on the horizontal axis and the dependent variable 
(effect) on the vertical axis. 
 
Multiple Choices:  
 
1. Which of the following statements is correct?  

A. The value of the independent variable is determined by the value of the dependent variable. 
B. The value of the dependent variable is determined by the value of the independent variable. 
C. The dependent variable designates the "cause" and the independent variable the "effect." 
D. Dependent variables graph as upsloping lines; independent variables graph as downsloping 
lines. 
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Slope of a line 
 
The slope of a straight line is the ratio of the vertical change to the horizontal change between any 
two points of the line.  
 
    Slope = 

𝑉𝑒𝑟𝑡𝑖𝑐𝑎𝑙 𝑐ℎ𝑎𝑛𝑔𝑒 
𝐻𝑜𝑟𝑖𝑧𝑜𝑛𝑡𝑎𝑙 𝑐ℎ𝑎𝑛𝑔𝑒 

 = 
Δ𝑦
Δ𝑥

 

 
 
Positive Slope 
 
Slope is positive when X and Y have a direct relationship. Because consumption and income 
change in the same direction; that is, consumption and income are directly or positively related. 
 
Example:  
 

 
 
Calculate the slope between point b and c. 
 
Because income is the independent variable and consumption the dependent variable, when we 
plotted the graph we put consumption on the vertical axis and income in the horizontal axis. 
 
 
    Slope =   

Δ 𝐶𝑜𝑛𝑠𝑢𝑚𝑝𝑡𝑖𝑜𝑛
Δ 𝐼𝑛𝑐𝑜𝑚𝑒

 = ( 150−100)
(200−100)

 = 50
100

 = ½ 

 
 
The slope of 0.5 tells us there will be a $0.5 increase in consumption for every $1 increase in 
income. Or when income increase by $2, consumption increase by $1. 
 
 
Negative Slope 
 
Slope is negative when X and Y have an inverse relationship. 
 
Example: 
 
The slope between point a and b is: 
 
 Slope =   

Δ 𝑇𝑖𝑐𝑘𝑒𝑡 𝑝𝑟𝑖𝑐𝑒
Δ 𝐴𝑡𝑡𝑒𝑛𝑑𝑒𝑛𝑐𝑒

 = ( 40−50)
(4−0)

 = ―10
4

 = ―2.5  
 
The slope of - 2.5 means that when person attendance increase by 1 person, then the ticket price 
reduce by $2.5 
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Slopes and Marginal Analysis 
 
The concept of slope is important in economics because it reflects marginal changes-those 
involving 1 more (or 1 less) unit. For example, the 0.5 slope shows that $.50 of extra or marginal 
consumption is associated with each $1 change in income. In this example, people collectively 
will consume $.50 of any $1 increase in their incomes and reduce their consumption by $.50 for 
each $1 decline in income.  
 
Infinite and Zero Slopes 
 
Many variables are unrelated or independent of one another, the slope of this line is infinite or 
zero. 
A line parallel to the vertical axis (موازي لمحور الصادات) has an infinite slope. 
A line parallel to the horizontal axis (موازي لمحور السینات) has a zero slope. 
 

 
 
 
Vertical Intercept 
 
The vertical intercept of a line is the point where the line meets the vertical axis. In Figure below the 
intercept is $50. This intercept means that if current income were zero, consumers would still spend $50. 
They might do this through borrowing or by selling some of their assets. Similarly, the $50 vertical 
intercept in Figure 2 shows that at a $50 ticket price, GSU’s basketball team would be playing in an 
empty arena. 
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Multiple Choices:  
 
1. Refer to the above diagram. The variables X and Y are:  

A. inversely related. 
B. directly related. 
C. unrelated. 
D. negatively related. 

 
2. Refer to the above diagram. The vertical intercept:  

A. is 40. 
B. is 50. 
C. is 60. 
D. cannot be determined from the information given. 

 
3. Refer to the above diagram. The slope of the line:  

A. is ― 1/4. 
B. is + 1/4. 
C. is 0.40. 
D. cannot be determined from the information given. 

 
4. Refer to the above data sets. The vertical 

intercept is positive for:  
A. all five data sets. 
B. data sets 1 and 3 only. 
C. data sets 1, 3, and 5 only. 
D. data set 2 only.  

 
 

 
Equation of a Linear Relationship 
 
If we know the vertical intercept and slope, we can describe a line succinctly in equation form. In its 
general form, the equation of a straight line is 𝑦 =  𝑎 +  𝑏 𝑥 
 
Where   y = dependent variable  
              a =vertical intercept  
              b =slope of line  
              x =independent variable 
 
For our income-consumption example, if C represents consumption (the dependent variable) and Y 
represents income (the independent variable), we can write  𝐶 = 𝑎 + 𝑏𝑌. 

 
By substituting the known values of the intercept and the slope, we get 𝐶 = 50 +  0.5 𝑌. This equation 
also allows us to determine the amount of consumption C at any specific level of income. You should 
use it to confirm that at the $250 income level, consumption is $175. 
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Example:  
 
Refer to the diagram below write the linear equation that shows 
the relationship between Y and X 
 
The linear equation form:   𝑦 =  𝑎 +  𝑏 𝑥 
 
a =vertical intercept = 50  
 
b =slope of line  
 
Slope = 

𝑉𝑒𝑟𝑡𝑖𝑐𝑎𝑙 𝑐ℎ𝑎𝑛𝑔𝑒 
𝐻𝑜𝑟𝑖𝑧𝑜𝑛𝑡𝑎𝑙 𝑐ℎ𝑎𝑛𝑔𝑒 

 = 
Δ𝑦
Δ𝑥

 = (70−60)
( 80−40)

 = 10
40

 = 1/4 

 
      𝑦 =  50 + 1

4
 𝑥  

 

Slope of a Nonlinear Curve 
 
The slope of a straight line is the same at all its points. The slope of a line representing a nonlinear 
relationship changes from one point to another. Such lines are always referred to as curves. 
 
To measure the slope at a specific point on nonlinear curve, we draw a straight line tangent (مماس) 
to the curve at that point. (A line is tangent at a point if it touches, but does not intersect). 
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Chapter 2  
 

The Market System and the 
Circular Flow 

 

Economic Systems:      النظم الاقتصادية 
 
Economic system: a particular set of institutional arrangements and a coordinating mechanism to 
achieve economics goals. 
 
. يعرف النظام الاقتصادي بأنه مجموعة المؤسسات التي يسعى المجتمع من خلالھا إلى تحقیق الأھداف الاقتصادية التي يرغب فیھا

والاسـتقرار , والنمو فـي النـاتج القـومي, والعدالة في توزيعا بین أفراد المجتمع, وقد تتضمن ھذه الأھداف إنتاج أكبر كمیة من السلع
 . رھافي أسعار السلع وغی

 
Economic system has to determine what goods are produced, how they are produced, who gets 
them, how to accommodate changes, and how to promote technological progress. Economic 
systems differ as to who owns the factors of production and the method used to motivate, coordinate, 
and direct economic activity. 
 

ھناك نوعان .  النظام الاقتصادي يحدد السلع والخدمات التي سیتم انتاجھا ، وكیف يتم إنتاجھا وكیف يتم توزيعھا بین افراد المجتمع
وفلسفة , وآلیة معالجة المشاكل الاقتصادية, نتاجیةمن النظم الاقتصادية الوضعیة التي تختلف فیما بینھا من حیث ملكیة الموارد الإ

 .توزيع البضائع والخدمات بین أفراد المجتمع
 
 
Two kinds of economics systems: the command system and the market system 
 
The Command (Socialism) System   النظام الاشتراكي 
 
In that system, government owns most property resources and economic decision making occurs 
through a central economic plan. A central planning board appointed by the government makes 
nearly all the major decisions concerning the use of resources, the composition and distribution of 
output, and the organization of production. 
 
The government owns most of the business firms, which produce according to government directives. 
The central planning board determines production goals for each enterprise and specifies the amount 
of resources to be allocated to each enterprise so that it can reach its production goals. The division of 
output between capital and consumer goods is centrally decided, and capital goods are allocated 
among industries on the basis of the central planning board’s long-term priorities. 
 

فالدولة ھي التي تمتلك المـوارد الإنتاجیـة بصـفة , الملكیة العامة للموارد الاقتصادية: يقوم النظام الاشتراكي على المرتكزات التالیة
كمـا تقـوم الدولـة فـي ظـل ھـذا النظـام . فالأراضي والمكائن والمباني والمناجم كلھا ملـك للدولـة. أوھي التي تسیطر علیھا, عامة

بواسـطة التخطـیط والتنسـیق ) ولمن ننتج, وكیف ننتج, ماذا ننتج( ة المشاكل الاقتصادية المختلفة وتحديد خیارات المجتمع بمواجھ
 .فالصین والإتحاد السوفیاتي السابق ھما اقرب إلى النظام الاشتراكي. الحكومي المركزي
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The Market System (capitalism)"نظام السوق “النظام الرأسمالي  
 
The system is characterized by the private ownership of resources and the use of markets and prices to 
coordinate and direct economic activity. Participants act in their own self-interest. Individuals and 
businesses seek to achieve their economic goals through their own decisions regarding work, 
consumption, or production. The system allows for the private ownership of capital, communicates 
through prices, and coordinates economic activity through markets—places where buyers and sellers 
come together. Goods and services are produced and resources are supplied by whoever is willing 
and able to do so. The result is competition among independently acting buyers and sellers of each 
product and resource.  
 

والمناجم والمكائن وغیرھا مـن المـوارد الاقتصـادية الأخـرى  فالأراضي. نتاجأھم ما يمیز النظام الرأسمالي الملكیة الخاصة لعناصر الإ
ويقوم ھذا النظام على حماية الملكیة الخاصة بكافة أشكالھا بما فـي ذلـك . ملك للأفراد أو المؤسسات الخاصة التي يمتلكھا الأفراد

في ظل ھذا النظام يستطیع اختیار العمل الـذي يرغـب  فردفال: الحرية الشخصیة في الاختیار كذلك. حقوق الملكیة وبراءات الاختراع
وكذلك يتم حل المشاكل الاقتصادية المختلفة في النظام الرأسمالي من خلال نظـام . ويستطیع إنتاج السلع التي يراھا مريحة, فیه

   .السوق باستخدام آلیة السعر
 

Multiple Choices: 
 
1. Economic planning by central government agencies is primarily associated with 

A. command economies. 
B. market economies. 
C. laissez faire economies. 
D. mixed economies. 

 
2. The market system is an economic system that:  

A. Produces more consumer goods than capital goods 
B. Produces more capital goods than consumer goods 
C. Gives private individuals the right to own resources used in production 
D. Emphasizes the government's power to control markets and direct economic activity 

 
3. One element of the command system is:  

A. Capitalism 
B. Free markets 
C. Private ownership 
D. Central planning 

 
4. Which would not be characteristic of a capitalist economy?  

A. Government ownership of most factors of production 
B. Competition and unrestricted markets 
C. Reliance on the market system 
D. Freedom of enterprise and choice 

 
 
  Characteristics of the Market System 
 
• Private Property الملكیة الخاصة لعناصر الإنتاج 
 

In a market system, private individuals and firm, not the government, own most of the property 
resources (land and capital). It is this extensive private ownership of capital that gives capitalism its 
name. 
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فالمالك له مطلق الحرية , ويعترف القانون بھذه الملكیة ويحمیھا, حیث يقوم النظام الرأسمالي على ملكیة الأفراد لعناصر الإنتاج
فیمكن أن يوظف أمواله . وله الحق في استغلاله في أي مجال طالما لا يتعارض مع القانون, في التصرف فیما يملك بالبیع وخلافه

فھو له مطلق الحرية فیما يملك، ومن أھم الوظائف التي يؤديھا حق , وما لديه في النشاط الزراعي أو الصناعي أو يتركه عاطلاً 
وبذلك يكون , الملكیة الخاص لعناصر الإنتاج أنه يوفر الباعث على الادخار، فمن يملك يستھلك جزءًا مما يملكه ويدخر الباقي

مدخرات لأغراض الاستثمار وزيادة الدخل، فبدون الباعث على الادخار الذي يتیحه نظام الملكیة الفردية لا تتوافر الأموال  ھناك
 .التي توجهّ إلى الاستثمار

• Freedom of Enterprise and Choice حرية اختیار النشاط الاقتصادي 
 

Businesses are free to obtain and use economic resources to produce their choice of goods and 
serves and to sell them in their chosen market.  
 

, فـي ظـل ھـذا النظـام يسـتطیع اختیـار العمـل الـذي يرغـب فیـه فالفرد: ويقوم ھذا النظام على الحرية الشخصیة في الاختیار
 .ويستطیع إنتاج السلع التي يراھا مريحة

 
• Self-Interest ّالمصلحة الشخصیة 
 

In the market system, self-Interest is the motivating force of the various economic units as they 
express their free choices.  Self-Interest simply means that each economic unit tries to achieve its 
own particular goal, which usually requires delivering something of value to others.   
 

فكـل , وھو المحرك الرئیس لأي قرار يتخـذه المنتجـون, يعد حافز الربح في النظام الرأسمالي ھو الدافع الأساسي لزيادة الإنتاج
علیه مصلحته الشخصیة بما يتفق مع تحقیق أھدافه الخاصة، وبما أن الربح ھو الفرق  فرد في ھذا النظام إنما يتصرف بما تملیه

فإن المنتجین في النظام الرأسمالي يختارون النشاط الاقتصادي الملائم لاستغلال الموارد بأفضل طريقة , بین الإيرادات والتكالیف
ارد الاقتصادية تكون قد اسـتخدمت ونظمـت بحیـث تعطـي وحین يحدث ذلك في جمیع الأنشطة الاقتصادية فإن كل المو, ممكنة

 .وبالتالي يحصل المجتمع على أقصى دخل ممكن من موارده, أقصى أرباح ممكنة
 

Entrepreneurs try to maximize profit or minimize loss. Property owners try to get the highest price 
for the sale or rent of their resources. Workers try to maximize their utility (satisfaction) by finding 
jobs ِ◌. 

• Competition المنافسة  
 

The market system depends on competition among economic units. Competition requires two 
or more buyers and two or more seller acting independently in a particular product or resources 
market. Freedom of sellers and buyers to enter or leave markets.    
 

حیث تعتبر من العوامل التي تعمل على زيادة الكفاءة الاقتصادية والإنتاجیة، , وھي من أھم خصائص النظام الرأسمالي
والنتیجة ھي اتجاه الأسعار للانخفاض وخروج المنتجین , من المستھلكینفالمنتجون يتنافسون فیما بینھم لاجتذاب أكبر عدد 

ولا يتبقى في السوق إلا الأكفاء، ومن ثمّ يؤدي ذلك إلى الاستخدام الأفضل للموارد ومن ثم التخصیص , ذوي الكفاءة المنخفضة
يتنافسون فیما بینھم للحصول على السلع ومن ناحیة أخرى توجد المنافسة على مستوى المستھلكین الذين .الكفء للموارد

أو , بحیث يخرج المستھلكون الذين لا تمثل لھم السلع ضرورة قصوى, والخدمات التي يحتاجونھا؛ ما يؤدي إلى ارتفاع الأسعار
م ولا يتبقى في السوق إلا الذين تكون حاجتھ. الذين لا تتناسب المنفعة التي يحصلون علیھا من السلعة مع ثمن السلعة

وھكذا يؤدي التنافس بین المنتجین فیما بینھم وبین المستھلكین فیما بینھم إلى الاستغلال الكفء للموارد  .للسلعة أكبر
 .الاقتصادية؛ حیث إن توفر خاصیة المنافسة يؤدي إلى توفیر السلع بأحسن جودة وأفضل الأسعار

 
 
• Market and Prices الیة التسعیر  
 

In the market system, markets, prices, and profits organize and market effective the many 
millions of individual economic decision that occur daily. 
 

وتوجد رغبات للمنتجین في عرض منتجاتھم , ھذه الرغبات تسمى بقوى الطلب, توجد رغبات للمستھلكین في سلع معینة
ويسمى ذلك بقوى العرض، فنتیجة للتفاعل بین قوى الطلب وقوى العرض تتحدد الأسعار , نوبیعھا لتحقیق أنظم ربح ممك

 .وتتجدد كمیة كل منتج في السوق
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• Technology and Capital Goods  التكنولوجیا 
 

Advanced technology and capital goods are important because the most direct methods of 
production are often the least efficient.  
 
التقنیة المتقدّمة والسلع الإنتاجیة مھمة لأن باستخدام مستوى تكنولوجیا متقدم نستطیع إنتاج نفس الكمیة بأقـل تكلفـة 

 .)كفاءة إنتاجیة(
 
• Specialization 

 
Specialization is the use of resources of an individual, firm, region, or nation to produce one or a 
few goods or services. These goods and services are then exchanged for a full range of desired 
products.  
 
 

• Use of money استعمال النقود 
 

The characteristic of any economic system is the extensive use of money. Money performs 
several functions, but first and foremost it is a medium of exchange.   
 

كذلك فإن وظیفة النقود تتحديد مكانة النقود وأھمیتھا في الاقتصاد الرأسمالي في أن النقود تسھل عملیة التبادل التجاري ، 
والواقع أن  .المتعلقة بحفظ قیمة النقود لھي وظیفة لا غنى عنھا لتمكین الاقتصاد القائم على المبادلة من أن يتطور وينمو

الاقتصاد الرأسمالي يرتكز على أساس ملكیة الأفراد لأدوات الإنتاج، وإن الإنتاج ھو إنتاج تلقائي يتم عن طريق 
مان ھي وحركات الأث السوق وجھاز الأثمان الذي يلعب الدور الحیوي في توزيع القوى الإنتاجیة، بعبارة أخرى السوق قوى

الأساس في التنسیق في الاقتصاد الرأسمالي، وفي ھذا الاقتصاد لا تكمن أھمیة النقود فقط في كونھا وسیطاً للتبادل، بل 
 .على سلعة يوجد مقابله عرض للنقود، والعكس بالعكس على ھیئة الأثمان، فإن كل طلب السوق ھي تدخل في معاملات

 
 

 
• Active, but limited, government  
 

An active, but limited, government is the final characteristics of market system in modern 
advanced industrial economies. Although a market system protests a high degree of efficiency 
in the use of its resources.  
 

والرأسمالیة تعتمد . الأنشطة الاقتصادية وترك السوق يضبط نفسه بنفسهفكرة الاقتصاد الحر ھو عدم تدخل الدولة في 
بالأساس على فكرة الحرية الفردية، ولمعرفة فكرة الاقتصاد الحر أو اقتصاد السوق بشكل ايجابي فسیكون التعريف ھو ان الفرد 

اد السوق لا يعني بأي شكل من الأشكال ومع ذلك فان اقتص. ولد حرا، بالتالى فإن له الحرية في أن يقوم بأى نشاط اقتصادي
فالحكومة قد تتدخل لفرض سقف سعري للحماية المنتجین عندما . غیاب القطاع العام ودور الدولة في تنظیم الحیاة الاقتصادية

 .يكون السعر متدني أو لفرض ارضیة سعرية لحماية المستھلكین عندما يكون السعر عالي
 

 
Five Fundamental Questions: الأمور التي يھتم بھا علم الاقتصاد  
 
The key features of the market system help explain how market economies respond to five 
fundamental questions: 
 

- What goods and services will be produced? 
- How will the goods and services be produced? 
- Who will get the goods and services? 
- How will the system accommodate change? 
- How will the system promote progress? 
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• What Will Be Produced? ما ھي السلع والخدمات التي ينتجھا المجتمع    
 

The goods and services produced at a continuing profit will be produced, and those produced at a continuing 
loss will not. Profits and losses are the difference between the total revenue (TR) a firm receives from 
the sale of its products and the total opportunity cost (TC) of producing those products.  
 
The market system produces products whose production and sale yield total revenue sufficient to 
cover total cost (TR > TC   profit). It does not produce products for which total revenue 
continuously falls short of total cost ( TR < TC  losses). Competition forces firms to use the lowest-
cost production techniques. 

 
على . يتم انتاج السلع والخدمات التي تحقق ارباح بینما لا يتم السلع والخدمات التي يعود على انتاجھا خسارة على المجتمع

يُنتج نظامُ السوقَ . لموارده الإنتاجیة المتاحةالاقتصاد القومي أو المجتمع أن يختار السلع والخدمات التي يجب أن ينتجھا وفقاً 
ھو لا يُنتجُ المُنتَجاتَ للتي إيرادھا أقل من التكلفة ). ربح(المُنتَجاتَ التي تعود علیه بإيراد إجمالي كافيَ لتَغْطیة التكلفة الكلیةِ 

 .بأقل تكلفةتجُبرُ المنافسةُ الشركاتَ لاستعمال تقنیاتِ إنتاجِ ). خسارة(الكلیةِ بشكل مستمر 
 
 
• How will the goods and services be produced?  كیف ننتج السلع والخدمات 
 

What combinations of resources and technologies will be used to produce goods and services? 
How will the production be organized? The answer: In combinations and ways that minimize the cost 
per unit of output. Because competition eliminates high-cost producers, profitability requires that 
firms produce their output at minimum cost per unit. Achieving this least-cost production 
necessitates, for example, that firms use the right mix of labor and capital, given the prices and 
productivity of those resources. It also means locating production facilities optimally to hold down 
production and transportation expenses. Least-cost production also means that firms must employ 
the most economically efficient technique of production in producing their output. The most 
efficient production technique depends on the available technology, that is, the various 
combinations of resources that will produce the desired results, the prices of the needed resources. 

الاسلوب الامثل لإنتاج  والخدمات؟ السلع لإنتاج استخدامھا سیتم الإنتاجیة ومستوى التكنولوجیا التي المواردما ھي كمیة 
يتطلب زيادة ). تكون تكلفة الوحدة اقل ما يمكن( السلع والخدمات ھو إنتاج كمیات متباينة من السلع والخدمات بأقل تكلفة

الارباح أن يتم انتاج الوحدة بأقل تكلفة ممكنة، ولتحقیق ذلك لا بد من الاستخدام الامثل لكمیة عناصر الإنتاج وكذلك استخدام 
فمثلاً الاقتصاد . بالطبع ستعتمد كیفیة الإنتاج على مدى توقیر عنصر من عناصر الإنتاج . مستوى تكنولوجیا أكثر تقدمُ في الإنتاج

سیختار أسلوب إنتاجي يعتمد على استخدام ) العمال( قومي أو المجتمع الذي تتوفر فیه أعداد كبیرة من الموارد البشرية ال
بعكس مجتمع لديه قلة في الأيادي العاملة وعنده تكنولوجیا متقدمة , الأيادي العاملة بنسبة أكثر من استخدام الماكینات والآلات

والأسلوب الأمثل . بنسبة أكثر من الأيادي العاملة) الماكینات والآلات( على استخدام رأس المال فسیختار أسلوب إنتاجي يعتمد 
 ).  تكون تكلفة الوحدة اقل ما يمكن( للإنتاج ھو الإنتاج بأقل تكلفة 

 
 
• How will get the goods and services? لمن ننتج السلع والخدمات 
 

The market system enters the picture in two ways when determining the distribution of total output. 
Generally, any product will be distributed to consumers on the basis of their ability and willingness to 
pay its existing market price. The ability to pay the prices for products depends on the amount of 
income that consumers have, along with the prices of, and preferences for, various goods. If 
consumers have sufficient income and want to spend their money on a particular good, they can 
have it.  

 
في نظام السوقیتم توزيع السلع والخدمات على المستھلكین بناء على  ا ؟على من يتم توزيع السلع والخدمات التي تم إنتاجھ

فإذا كان الفرد . تعتمد قدرة الفرد الشرائیة على الدخل الذي يمتلكه و على ذوق الفرد على السلعة او الخدمة. قدرتھم الشرائیة
   . يمتلك دخل كافي وكان لديه رغبة في تلك السلعة فإنه يصبح مالك لتلك السلعة
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• How will the system accommodate change?  التغییر تستوعب أن الاقتصادي  للنظام يمكن كیف  
 

Market systems are dynamic: Consumer preferences, technology, and supplies of resources all 
change. This means that the particular allocation of resources that is now the most efficient for a 
specific pattern of consumer tastes, range of technological alternatives, and amount of available 
resources will become obsolete and inefficient as consumer preferences change, new techniques 
of production are discovered, and resource supplies change over time. Can the market economy 
adjust to such changes? Suppose consumer tastes change. For instance, assume that consumers 
decide they want more fruit juice and less milk than the economy currently provides. Those 
changes in consumer tastes will be communicated to producers through an increase in spending 
on fruit and a decline in spending on milk. Other things equal, prices and profits in the fruit juice 
industry will rise and those in the milk industry will fall 
 
 

ذوق المستھلك، مستوى التكنولوجیا المستخدم، ومالكي المصادر تتغیر من . دي ھو نظام حیوي قابل للتغییرالنظام الاقتصا
ھذا يعني أن كمیة معینة من الموارد التي ھي الآن الأكثر كفاءة لنمط معین من أذواق المستھلكین، ومجموعة من  . وقت الأخر

فإنتقال المجتمع من مجتمع زراعي الى  .فعالة مع تغیر أذواق المستھلكین غیرفھي البدائل التكنولوجیة، وحجم الموارد المتاحة 
.  مجتمع صناعي يتتطلب تحويل جزء كبیر من الموادر الانتاجیة لإستخدامھا في انتاج سلع جديدة تلبي رغبات افراد المجتمع

يعطي اشارة الى المنتجین عصیر الفاكھة اذا زاد اقبال المستھلكین على عصیر الفواكه على حساب الحلیب فإن ذلك فمثلاً 
وتقلیل كمیة الانتاج من الحلیب وھذا بالتالي يؤدي الى زيادة اسعار والارباح في صناعة عصیر الفاكھة على زيادة كمیة الانتاج 

 .وانخفاضھا في صناعة الحلیب
 
 
• How will the system promote progress? دم كیف يشجع النظام الاقتصادي على التق  
 

Society desires economic growth (greater output) and higher standards of living (greater income 
per person). How does the market system promote technological improvements and capital 
accumulation, both of which contribute to a higher standard of living for society? 

 
لافراد  رفع مستويات المعیشةوكذلك الى  ) زيادة كمیة السلع والخدمات المنتجة(نمو الاقتصادي الى تحقیق  مجتمع يسعى كل 

ولتحقیق ھذه الاھداف الاقتصادية فإنه ينبغي على المجتمع زيادة كمیة المصادر الانتاجیة وزيادة  ). زيادة دخل الفرد( المجتمع
وكلاھما يسھم في رفع مستوى المعیشة  جیة ھذه الموارد من خلال تحسین مستوى التكنولوجیا المستخدم في الانتاج إنتا

 .وتحقیق نمو اقتصادي للمجتمع
 
The “Invisible Hand” 
 
In his 1776 book The Wealth of Nations, Adam Smith first noted that the operation of a market system 
creates a curious unity between private interests and social interests. Firms and resource suppliers, 
seeking to further their own self-interest and operating within the framework of a highly competitive 
market system, will simultaneously, as though guided by an “invisible hand,” promote the public or 
social interest. For example, we have seen that in a competitive environment, businesses seek to build 
new and improved products to increase profits. Those enhanced products increase society’s well-
being. Businesses also use the least costly combination of resources to produce a specific output 
because doing so is in their self-interest. 

 
يشرح النظرية التي فھو  1776في كتابة الشھیر ثروة الامم عام  لأيدي الخفیة مصطلح في السوق استخدمه لأول مرة آدم سمیث

ففي النظرية أن الأيدي الخفیة تضبط .وبالتالي مصالح المجتمع الذي يوجدون فیه ، الأفراد يجتمعون على مصالح شخصیةتقول إن 
السوق بمعرفتھا أي عندما ترتفع الأسعار فإن الطلب ينخفض على السلع المرتفعة وبالتالي تخفیف الطلب يعود بالأسعار إلى نحو 

  .یة التي تتحكم في الاقتصاد عن طريق العرض والطلب آخر نحو الانخفاض بفضل الأيدي الخف
 

ومن ھذه النظرية خرج نظام عدم التدخل الاقتصادي ومن ثم ظھرت أنظمة اقتصادية ونظريات اقتصادية لیبرالیة إلى حد ما فظھرت 
مضمونة وعلى الحكومة أن تتدخل في الكینزية في وقت الكساد الكبیر وقال إن الأيدي الخفیة لا تستطیع أن تعتمد علیھا دائماً وغیر 

  .الاقتصاد بشكل معین من أجل ضبط الاقتصاد إذا واجھته مشكلة ما 
ورغم أن آدم سمیث استخدم المصطلح ثلاث مرات إلا أن المصطلح انتشر بشكل كبیر بعد ذلك وھناك من يربط نظريات آدم سمیث 

 .نفسھا بمصطلح الأيدي الخفیة 
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المصطلح في كتاب ثروة الأمم إلا أن مفھوم الید الخفیة أخذ معنى أشمل مما بدأ به سمیث إذ تخطى إذن استعمل سمیث 

استعمالاته المقارنة بین التجارة الداخلیة والتجارة الخارجیة حتى أن سمیث ألمح إلى استعمالات أخرى في كتابه أما میلتون فريد 
الید الخفیة بفكرة التعاون بدون إكراه إذ إن المفھوم يعني نشرته طبیعیة  مان الحائز على جائزة نوبل في الاقتصاد سمى فكرة

  .ولیست آلیة اجتماعیة كما صنفھا لیون والرس وفیلغريدو باريتو فیما بعد 
 
 
The Circular Flow Model"   تبادل السلع والموارد من خلال السوق (التدفق الدوراني)
 

رأسمالي يبین كیف يتم تبادل الموارد الإنتاجیة والسلع بین الوحدات الاقتصادية في المجتمع من يمثل الشكل نموذجاً مبسطاً لنظام 
أي أنه لا توجد ( كما افترضنا بأن لدينا اقتصاداً مغلقاً . وقد تجاھلنا دور الحكومة لتبسیط الأمور. خلال مجموعة من الأسواق المختلفة

 )تجارة مع العالم الخارجي
 

The dynamic market economy creates continuous, repetitive flows of goods and services, resources, 
and money. The circular flow diagram, shown in Figure below illustrates those flows. Observe that in the 
diagram we group private decision makers into businesses and households and group markets into the 
resource market and the product market. 

 
Resource Market: 
 
The place where resources or the services of resource suppliers are bought and sold. In the resource market, 
households sell resources and businesses buy them. Households (that is, people) own all economic 
resources either directly as workers or entrepreneurs or indirectly through their ownership of business 
corporations. They sell their resources to businesses, which buy them because they are necessary for 
producing goods and services. 
 

في سوق المصادر الأسر . نسوق المصادر ھو المكان او الالیة  التي  یتم فیھا تبادل المصادر الانتاجیة او خدمات العناصر الانتاجیة بین البائعین لھا و المشتری
 غیر بشكل أو الأعمال رجال أو كعمال مباشر بشكل سواء الاقتصادیة الموارد كافة تمتلك الأسر. ھو المشتري لھا) الشركات( تبیع المصادر بینما قطاع الاعمال 

 .والخدمات السلع لإنتاج ضروریة لأنھا تحتاجھا  التي للشركات، مواردھا تبیع أنھا. التجاریة للشركات ملكیتھا خلال من مباشر
Product Market 
 
The product market: the place where goods and services produced by businesses are bought and 
sold. In the product market, businesses combine 
resources to produce and sell goods and 
services. Households use the (limited) income 
they have received from the sale of resources to 
buy goods and services. The monetary flow of 
consumer spending on goods and services 
yields sales revenues for businesses. 
 

المكان الذي يتم شراء السلع والخدمات : سوق المنتجات
تقوم  المنتجات سوق في .المنتجة من قبل الشركات وبیعھا

. والخدمات السلع وبیع لإنتاج الموارد باستخدام الشركات
 المصادر الانتاجیة  بیع من هلقتت الدخل الذي تستخدم الأسر
 الإنفاق من نقدي تدفقال. والخدمات السلع لشراء

 المبیعات إيرادات ينتج والخدمات السلع على الاستھلاكي
 .للشركات

 
 
 

 
- Resources flow from households to 

businesses through the resource market. 
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-  Products flow from businesses to households through the product market.  
 
- Opposite these real flows are monetary flows. Households receive income from businesses 

(their costs) through the resource market, and businesses receive revenue from households 
(their expenditures) through the product market. 

 
-  In this circular flow diagram, resources flow counterclockwise (عكس عقارب الساعة).  
 
- In this circular flow diagram, money flows clockwise.  
 
 
Multiple Choices: 
 
1. The resource market is the place where: 

(A) households sell products and businesses buy products. 
(B) businesses sell resources and households sell products. 
(C) households sell resources and businesses buy resources (or the services of resources). 
(D) businesses sell resources and households buy resources (or the services of resources). 

 
2. Which of the following would be determined in the product market? 

(A) a manager’s salary. 
(B) the price of equipment used in a bottling plant. 
(C) the price of 80 acres of farmland. 
(D) the price of a new pair of athletic shoes. 

 
3. In this circular flow diagram: 

(A) money flows counterclockwise. 
(B) resources flow counterclockwise. 
(C) goods and services flow clockwise. 
(D) households are on the selling side of the product market. 

 
4. In this circular flow diagram: 

(A) households spend income in the product market. 
(B) firms sell resources to households. 
(C) households receive income through the product market. 
(D) households produce goods. 

 
5. Refer to the above figure. If box A represents households, B the 

product market, and C businesses, and if flow (3) represents 
revenues, then (4) would represent ___ while flow (5) would 
represent ____.  
A. Resources; goods and services 
B. Goods and services; resources 
C. Costs; resources 
D. Goods and services; costs. 
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Chapter 3  
 

Demand, Supply, and Market 
Equilibrium  

 

Markets 
 
Markets bring together buyers (“demanders”) and sellers (“suppliers”), and they exist in many forms. The 
corner gas station, an e-commerce site, the local music store, a farmer’s roadside stand—all are 
familiar markets. Palestinian Stock Exchange is a market where buyers and sellers of stocks and bonds 
and farm commodities from all over the world communicate with one another to buy and sell.  
 

عة يعرف السوق بأنه الوسیلة أو الطريقة لتي يتصل بواسطتھا البائعون مع المشترين اتصالاً وثیقاً لتحديد كمیة ونوعیة وسعر سل
 .معینة يتم تبادلھا بینھما

 
 وسوقاً للاوراق المالیة والسندات , وسوقاً للأحذية, وسوق للقمصان, فھناك سوق القمح, ھنالك سوقاً لكل سلعة من السلع

حیث تمثل ھذه , ولكن قد يكون أيضاً جھاز الھاتف أو جھاز التلكس أو البريد أو الفاكس, وقد يكون السوق منطقة جغرافیة. وغیرھا
 .الأجھزة وسائل اتصال بین البائعین والمشترين لتحديد كمیة ونوعیة وسعر السلعة التي يرام تبادلھا

 
 
 

Demand 
 
Demand is a schedule or a curve that shows the various amounts of a product that consumers are willing and able to 
purchase at each of a series of possible prices during a specified period of time.  Demand shows the quantities of 
a product that will be purchased at various possible prices, other things equal. 
 

فالطلب ھو أقصى كمیة . وھما قوة المستھلكین ممثلة في الطلب وقوة المنتجین ممثلة في العرض, ھناك قوتین تؤثران في السوق
يرغب المستھلك شراءھا من سلعة ما مع توفر المقدرة على شراء تلك الكمیة وذلك حسب دخل المستھلك ومستوى سعر تلك 

 .أخذ العوامل الأخرى المؤثرة في الكمیة المطلوبة بعین الاعتبار السلعة مع
 

Law of Demand  
 
Other thing equal, as price falls, the quantity demanded rises, and as price rises, the quantity 
demanded falls. 
 
P ↑          Qd ↓       ;  P ↓     Qd ↑ 
 
 
There is a negative or inverse relationship between price and quantity demanded. 
 
Demand schedule or demand curve 
 
Because price and quantity demanded are inversely related, an individual's demand schedule graphs 
as a down sloping curve such as D. Other things equal, consumers will buy more of a product as its 
price declines and less of the product as its price rises. 
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The inverse relationship between price and quantity demanded for any product can be represented 
on a simple graph, in which, by convention, we measure quantity demanded on the horizontal axis 
and p rice on the vertical axis. In the graph in Figure above we have plotted the five price-quantity 
data points listed in the accompanying table and connected the points with a smooth curve, labeled 
D. Such a curve is called a demand curve. Its downward slope reflects the law of demand—people buy more of a 
product, service, or resource as its price falls. The relationship between price and quantity demanded is 
inverse (or negative). 
 
Why the inverse relationship between price and quantity demanded? 
 
Three explanations of these relationships 
 
• People ordinarily do buy more of a product at a low price than at a high price. Price is an obstacle 

that deters consumers from buying. The higher that obstacle, the less of a product they will buy; the 
lower the price obstacle, the more they will buy. 

 
• In any specific time period, each buyer of a product will derive less satisfaction (or benefit, or utility) 

from each successive unit of the product consumed. The second Big Mac will yield less satisfaction 
to the consumer than the first and the third still less than the second. That is, consumption is subject 
to diminishing marginal utility. And because successive units of a particular product yield less and 
less marginal utility, consumers will buy additional units only if the price of those units is progressively 
reduced. 

 
على أن المنفعة الحدية التي يحصل علیھا المستھلك نتیجة ) diminishing marginal utility(ون تناقص المنفعة الحدية ينص قان

بمعنى أن المنفعة التي تضیفھا كل وحدة إلى . استھلاكه لوحدات متتالیة من السلعة خلال فترة زمنیة محددة ستكون متناقصة
لذلك فالمستھلك مستعد أن يشتري وحدات . فعة التي أضافتھا الوحدة التي سبقتھامنفعة المستھلك ستكون أقل من تلك المن

 . إضافیة إذا سعر  تلك الوحدات كان اقل
 
• We can also explain the law of demand in terms of income and substitution effects.  

 
The income effect indicates that a lower price increases the purchasing power ( الق�وة الش�رائیة(  of a 
buyer's money income, enabling the buyer to purchase more of the product than before. 
 

  .عندما يقل سعر السلعة فإن القوة الشرائیة للمستھلك تزداد مما يؤدي إلى زيادة الكمیة المطلوبة من السلعة
 
The substitution effect suggests that at a lower price buyer have the incentive to substitute what is 
now a less expensive product for similar products that are now relatively more expensive. 
 

ادة الكمیة المطلوبـة مـن تلـك عندما يقل سعر السلعة فإنھا تصبح ارخص من السلع البديلة لھذه السلعة وبالتالي يؤدي إلى زي
 السلعة و نقصان الطلب على السلع البديلة 
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For example, a decline in the price of chicken will increase the purchasing power of consumer incomes, 
enabling people to buy more chicken (the income effect). At a lower price, chicken is relatively more 
attractive and consumers tend to substitute it for pork, lamb, beef, and fish (the substitution effect). The 
income and substitution effects combine to make consumers able and willing to buy more of a product 
at a low price than at a high price. 
 
 
Multiple Choices: 
 
1. Demand is the total quantity of a good or service that customers: 

A. are willing to purchase. 
B. are able to purchase. 
C. are willing and able to purchase. 
D. need. 

 
2. The law of demand states that, other things remaining the same, the higher the price of a good, the 

A. Smaller is the demand for the good. 
B. Smaller is the quantity of the good demanded 
C. Larger is the quantity of the good demanded. 
D. Larger is the demand for the good. 

 
3. The law of demand states that the quantity of a good demanded varies 

A. Inversely with its price. 
B. Directly with population. 
C. Directly with income. 
D. Inversely with the price of substitute goods. 

 
4. Each point on the demand curve reflects 

A. The highest price consumers are willing and able to pay for that particular unit of a good. 
B. The highest price sellers will accept for all units they are producing. 
C. The lowest-cost technology available to produce a good. 
D. All the wants of a given household. 

 
 
Individual Demand الطلب الفردي 
 
Is the quantity demand by single buyer at each price level 
 

ويبین الطلب ). مستھلك واحد أو وحدة استھلاكیة مثل أسرة من الأسر( نعني بالطلب الفردي الطلب على مستوى الفرد الواحد 
مع بقاء العوامل الأخرى المؤثرة , الفردي العلاقة بین الكمیة المطلوبة  من سلعة ما من فبل احد المستھلكین وسعر ھذه السلعة

 .في الطلب ثابتة
 
Market Demand طلب السوق 
 
The market demand is the summation the quantities demanded by all consumers at each of the 
various possible prices. The market demand curve is the horizontal summation of the individual demand 
curves of all the consumers in the market. 
 

أما طلب السـوق فیمثـل طلـب جمیـع المسـتھلكین فـي . الطلب الفردي يمثل طلب أحد المستھلكین على سلعة معینة
ويبین طلب السوق العلاقة بین الكمیة المطلوبة من سلعة ما مـن قبـل جمیـع المسـتھلكین . السوق على نفس السلعة

 .الطلب ثابتة في السوق وسعر ھذه السلعة مع افتراض العوامل الأخرى المؤثرة في
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Example  
  
Suppose that there are three buyers in the market of Corn. At each price level, the quantity demanded 
is given.  
 
  
 
 
 
 
 
 

 

 

 
 

 

 

Example 
 
For a market of 200 corn buyers, each with a demand as shown in the table below. What is the market 
demand curve? 
 

Price per 
Bushel 

Quantity 
Demanded 
per Week 

Market Demand 
(Qd * # of buyers) 

$5 10 10 * 200 = 2,000 
4 20 20 * 200 = 4,000 
3 35 35 * 200 = 7,000 
2 55 55 * 200 = 11,000 
1 80 80 * 200 = 16,000 

 
 
Change in Quantity Demanded التغیر في الكمیة المطلوبة  
 
Is a movement from one point to another point on a fixed demand schedule or demand curve. 

 
. تعني الإنتقال من نقطة إلى نقطة على نفس منحنى الطلب: التغیر في الكمیة المطلوبة 

 . ويحدث تغییر في الكمیة المطلوبة عندما يغییر سعر السلع
Change in quantity demand is cause by increase or decrease in the price 
of the product. 
 
For example, a decline in the price of corn from $5 to $4 will increase the 
quantity of corn demanded from 7 to 8 bushels. Movement from point X 
to point Y on the demand curve represents a change in quantity 
demanded (increase in quantity demanded). 
 

Price per 
Bushel 

Quantity Demanded Market demand 
Majed  Yousef Sama 

$5 10 12 8 10 + 12 + 8 = 30 
4 20 23 17 20 + 23 + 17 = 60 
3 35 39 26 35 + 39 + 26 = 100 
2 55 60 39 55 + 60 + 39 = 154 
1 80 87 54 80 + 87 + 54 = 221 
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Change in Demand  التغیر في الطلب  
 

ويحدث تغییر في الطلب عندما يغییر إحدى مححدات الطلـب والتـي سـیتم . تعني الإنتقال كامل  منحنى الطلب: التغیر في الطلب 
 .توضیحھما لاحقاً 

 
 . يشیر مفھوم التغیر في الطلب على ان الطلب على السلعة يتغییر على نفس السعرھا

 
A change in the demand schedule or, graphically, a shift in the demand curve is called a change in demand 

 
- If the consumer desires to buy more units at each possible price, then demand increase.   Increase 

in demand is shown as a shift of the demand curve to the right, say, from D0 to D1. 
 
- A decrease in demand occurs when consumers buy fewer units at each possible price.  Decrease 

in demand is shown as a shift of the demand curve to the leftward, say, from D0 to D2. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

5 | P a g e  
 

Uploaded By: anonymousSTUDENTS-HUB.com



Econ131: Principles of Microeconomics       Chapter 3: Demand, Supply, and Market Equilibrium    أ. محمد عامرية 
 
Multiple Choices: 
 
1. A barber (ح�لاق) raises the price of haircuts and finds that the volume of business declines. This 

indicates: 
A. a decrease in demand 
B. an increase in demand 
C. a decrease in quantity demanded 
D. an increase in quantity demanded 

 
2. The quantity of a good demanded tends to increase as its price falls because: 

A. at lower prices, suppliers are willing to supply a greater quantity to the market 
B. a decrease in price leads consumers to substitute toward this now relatively cheaper product 
C. a decrease in price shifts the demand curve to the right 
D. a decrease in price shifts the demand curve to the left 

 
3. The consumer was able to buy 10 cans of cola at a price of $1 in last week. In this week, it is able to 

buy 14 of the same cans of cola at a price of $1. Evidently, the consumer has experienced a(n): 
A. increase in demand 
B. increase in supply 
C. decrease in demand 
D. increase in quantity demanded 

 
4. The number of personal computers sold annually in the United States has increased at a rapid rate. 

The price of personal computers has fallen. The rise in sales due to the lower price is called 
A. An increase in quantity demanded. 
B. A decrease in quantity demanded. 
C. An increase in quantity supplied. 
D. An increase in demand. 

 
 
Determinants of demand (demand shifters) 
 
  Consumer's Tastes (preferences)  ذوق المستھلك 
 

A favorable change in consumer tastes for a product makes the product more desirable; means 
that more of it will be demanded at each price. Demand will increase (shift to the right). 

 
An unfavorable change in consumer tastes for a product will decrease demand (shift to the left). 

 
فكلمـا زاد . ا المسـتھلك مـن سـلعة معینـةمن الواضح أن ذوق المسـتھلك يلعـب دوراً كبیـراً فـي تحديـد الكمیـات التـي يطلبھـ

كلما قلـت , وكلما قل المستھلك رغبته بسلعة ما, المستھلك رغبته بسلعة ما كلما زادت الكمیات التي يطلبھا من تلك السلعة
 .الكمیات التي يطلبھا منھا

 
  Number of Buyers عدد المستھلكین للسلعة 
  

An increase in the number of buyers in a market is likely to increase product demand   shift 
demand curve to the right 

 
A decrease in the number of buyers in a market will lead to decrease demand   shift demand 
curve to the left 
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 Income   دخل المستھلك 
 

(a) Normal goods ( Superior goods) 
 

Goods whose demand varies directly with money income are called normal goods or “superior 
goods". 
 
Income ↑         demand ↑         shift demand curve to the right. 
  Income ↓        demand ↓      shift demand curve to the left. 
 

Examples for normal goods:   Steak; Furniture; Clothing; car  
 
 

(b) Inferior goods السلعة الرديئة 
 

Goods whose demand varies inversely with money income are called inferior goods. 
 
Income ↑            demand ↓          shift demand curve to the left. 
Income ↓            demand ↑          shift demand curve to the right. 
 

Examples for normal goods:  Used Furniture, Used Clothing 
 
Multiple choices:  
 
1. If a good is inferior and income decreases then  

A. The demand curve will shift to the right              
B. The supply curve will shift to the right  
C. The demand curve will shift to the left                
D. The supply curve will shift to the left 

 
2. Gasoline is a normal good.  When consumer income increases, there will be  

A. a rightward shift in gasoline supply curve  
B. A leftward shift in gasoline supply curve  
C. A rightward shift in gasoline demand curve  
D. A leftward shift in gasoline demand curve  

 
3. If used cars are inferior goods and incomes decline 

A. sales of new cars remain unchanged 
B. sales of used cars decline 
C. sales of new cars increase 
D. sales of used cars increase 
 

 
  Prices of Related Goods 
 

(a) Substitutes good السلع البديلة( ) : Is one that can be used in place of another good.  
 

 .يستخدم أحداھما بدلاً من الأخرى في الاستھلاكنسمي السلعتین بديلتین إذا كان بإمكان المستھلك أن 
 

Examples: Coca-Cola and Pepsi; Colgate toothpaste and Crest; Nike and Reeboks; Chevrolets and 
Fords 
 
When two products are substitutes, an increase in the price of one will increase the demand for the other.  
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For example, an increase in the price of Coca-Cola, consumers will buy less of it and increase their 
demand for Pepsi.      Shift demand curve for Pepsi to the right. 

 
(b) Complements good (السلع المكملة): Is one that is used together with another good? 

 
وحتى يحصل المستھلك على منفعة , تعرف السلعتان بأنھما مكملتان لعضھما إذا اقترن استھلاك الأولى باستھلاك الثانیة 

 .معینة فإنه يستھلك السلعتین معاً 
 

Examples: Car and Gasoline; Computers and Software; Camera and film; Cell phone and Cellular 
service 
 
When two products are complements, an increase in the price of one will decrease the demand for the other.  
 
For example, a decline in the price of cars, consumers will buy more of it and increase the 
demand for gasoline  shift demand curve for gasoline to the right 
 

 
(c) Unrelated good السلع الغیر مرتبطة( ) 

 
Goods are not related to one another is called unrelated or independent. 

 
Examples: Butter and Golf balls; Potatoes and Automobiles; Bananas and Camera 

 
           If a change in the price of one has no effect on the demand for the other, then the two good   

are unrelated 
 
Multiple choices:  
 
1. If the price of a complement decreases, all else equal,  

A. Quantity demanded will decrease. 
B. Demand will increase. 
C. Demand will decrease. 
D. Supply will increase. 
 

2. If the price of orange juice rises, the demand for grapefruit juice will  
A. increase because the two goods are substitutes 
B. increase because it is a complement 
C. decrease because the two goods are substitutes  
D. decrease because the two goods are complements 

 
3. Assume chickens are normal goods and chickens and meat are substitutes, which of the following 

will cause the demand curve for chickens to shift to the left.   
A. increase in consumers' incomes 
B. decrease in the price of chickens 
C. increase in the price of meat 
D. decrease in the price of meat 

 
4. Which of the following events would increase a student's demand for Falafel? 

A. an increase in the price of Falafel 
B. a decrease in the price of Hamburgers (Falafel and Hamburgers are substitutes) 
C. a decrease in the price of Coca-Cola  (Falafel and Coca-Cola  are complements) 
D. An increase in student monthly allowance (مصرف شھري) that the student receives from his family 

(Falafel is an inferior good). 
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5. A rightward shift in the demand curve for product C might be caused by:  

A. An increase in income if C is an inferior good. 
B. A decrease in income if C is a normal good. 
C. A decrease in the price of a product that is a close substitute for C. 
D. A decrease in the price of a product that is complementary to C. 
 

 Consumer Expectations    توقعات المستھلك تجاه التغیر في سعر السلعة 
 

expectation of higher future prices may cause consumers to buy now in order to anticipated (یتجنب) 
price rises      increasing current demand ( shift  current demand to the right) 
 
For example, inclement weather ( الرديئالطقس  ) creates an expectation of higher future prices of 
Tomato, this lead to increasing today's demand for Tomato. 

 
 
Multiple choices:  
 
1. If buyers expect the price of a good to rise in the future, the result is  

A. an increase in supply today 
B. a decrease in quantity demanded today 
C. an increase in demand today 
D. an increase in quantity demanded today 

 
2. If the price of gasoline rises dramatically, 

A. The quantity demanded for cars will decrease. 
B. The demand for commuter train rides will decrease. 
C. The demand for cars will decrease. 
D. The quantity of commuter train rides demanded will increase. 

 
3. Which of the following will increase the demand for large automobiles? 

A. A fall in the price of small automobiles.  
B. A decrease in insurance rates for large automobiles.  
C. A fall in the price of large automobiles. 
D. A decrease in buyers' incomes (assuming large automobiles to be a normal good).  

 
 
Supply  
 
Is a schedule or curve showing the various amounts of a product that producers are willing and able to 
make available for sale at each price level. 
 

 . العرض ھو أقصى كمیة يرغب المنتج بإنتاجھا وعرضھا من سلعة ما مع توفر القدرة على إنتاج تلك السلعة
 
 
Law of Supply 
 
Other thing equal: as price rises, the quantity supplied rises; as price fall, the quantity supplied falls. 
 
P ↑       Qs ↑ 
 
P↓        Qs ↓ 
 
There is a positive relationship between price and quantity supplied. 
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The supply curve 
 
• Individual supply curve  العرض الفردي 
 
The supply curve for an individual producer graphs as an up sloping curve. Other thing equal, 
producers will offer more of a product for sale as its price rises and less of the product for sale as it price 
falls. 
  

مع بقاء العوامل , ن العلاقة بین الكمیة المعروضة من سلعة ما من قبل أحد المنتجین وسعر ھذه السلعةعرض أحد المنتجین يبی
 .الأخرى ثابتة

 
Price per 

Bushel 
Quantity 

supplied per 
week 

$5 60 
4 50 
3 35 
2 20 
1 5 

 
 

 
Market Supply  عرض السوق 
 
The market supply is the summation the quantities supplied by all consumers at each of the various 
possible prices. 
 

ويبین عرض السوق العلاقة بین . أما عرض السوق فیمثل عرض جمیع المنتجین, ذكرنا أن العرض الفردي يمثل عرض أحد المنتجین
مع افتراض العوامل الأخرى المؤثرة في , السلعةالكمیة المعروضة من سلعة ما من قبل جمیع المنتجین في السوق وسعر ھذه 

 .العرض ثابتة
 
Example 
 
For a market of 200 corn sellers, each with a quantity supply as shown in the table below. What is the 
market supply schedule? 
 

Price per 
Bushel 

Quantity 
Supplied 
per Week 

Market supply 
(Qs * # of producers) 

$5 60 60 * 200 = 12,000 
4 50 50 * 200 = 10,000 
3 35 35 * 200 = 7,000 
2 20 20 * 200 = 4,000 
1 5 5 * 200 = 1,000 

 
Change in Quantity Supplied  التغیر في الكمیة المعروضة 
 
Is a movement from one point to another point on a fixed supply 
schedule or supply curve. 
 
Change in quantity supply is cause by a change in the price of the product. 
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For example, an increase in the price of corn from $3 to $4, increase the quantity of corn supplied from 
35,000 to 50,000. Movement from point A to B on the fixed supply curve. 
 
 
Change in Supply 
 
A change in one or more of the determinants of supply causes a 
change in supply. 
 
An increase in supply is shown as a rightward shift of the supply 
curve as from S1 to S2. 
 
A decrease in supply is shown as a leftward shift of the supply curve 
as from S1 to S3. 

 
 

Determinants of Supply (Supply Shifters)  العوامل المؤثرة في العرض 
 

1. Resource Prices   أسعار الموارد الإنتاجیة  
 

- Higher resource prices raise production cost, this leads to decrease the profit. Reduction in 
profits reduces the incentive for firms to supply output at each product price  shift supply curve 
to the left (upward). 

 
- Lower resource prices reduce production cost and increase the profit. Raises profits raise the 

incentive for firms to supply output at each product price  shift supply curve to the right. 
 

 Example 
 
A decrease in the price of microchips increases the supply of computers. 
 
An increase in the price of textile, decrease the supply of furniture.   

 
2. Technology 
 

Improvement in technology enable firms to produce units of output with fewer resources  reduce 
production cost   increase the supply (shift supply curve to the right) 
 
For example, the development of more effective wireless technology increases the supply of cell 
phones. 

 
 

3. Taxes and Subsidies  الضرائب والدعم الحكومي    
 

An increase in sale or property taxes will increase production cost and reduce supply (shift supply 
curve to the left)  

 . وبالتالي تقلیل الكمیات المعروضةلا شك أن فرض الحكومة ضرائب على السلعة يؤدي إلى زيادة تكالیف الإنتاج 
 

If the government subsidizes the production of a good, it in effect lowers the production costs and 
increase supply. 
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إذا قدمت الحكومة دعم لمنتجي الخبز فإن ذلك يؤدي الى انخفاض تكالیف الانتاج وبالتالي القدرة على انتاج كمیة اكبر وعرض 
 كمیة أكبر 

Examples 
 
- An increase in the excise tax cigarettes reduces the supply of cigarettes. 

 
- A decline in subsidies to state universities reduce the supply of higher education 

 إنخفاض الدعم الحكومي المقدم للجامعات يؤدي الى انخفاض العرض على التعلیم 
 
 

4. Prices of Other Goods أسعار السلع البديلة في الإنتاج  
 

يعتبـران بـديلین فـي , فالقمح والشعیر. تعرف السلعتان البديلتان في الإنتاج أنھما سلعتان يمكن إنتاجھما بنفس المواد الإنتاجیة
فـإذا ازداد سـعر الشـعیر فـإن المـزارع . الإنتاج حیث أن بإمكان المزارع أن ينتج أي منھمـا باسـتخدام نفـس المـواد التـي يمتلكھـا

 .أي أن الكمیات المعروضة من القمح ستنخفض , سیندفع نحو زراعة الشعیر وذلك على حساب القمح
 

Firms that produce a particular product, say, soccer balls, can sometimes use their plant and 
equipment to produce alternative goods, say, basketballs and volleyballs since soccer balls and 
basketballs are substitutes in production. 

 
The higher prices of these "other goods" may entice soccer ball producers to switch production to 
those other goods in order to increase profits. This substitution in production results in a  decline in the 
supply of soccer balls. 

 
Example:  An increase in the price of cucumbers decrease the supply of watermelons.  
 

أي أن الكمیات المعروضة من البطیخ , إذا ازداد سعر الخیار فإن المزارع سیندفع نحو زراعة الخیار وذلك على حساب البطیخ
 ستنخفض

 
 
5. Producer Expectations about the future price 
 

Farmers anticipating a higher wheat price in the future might withhold (یحج�ب) some of their current 
wheat harvest from the market, thereby (بذلك) causes a decrease in the current supply of wheat. 

 
 
6. Number of Sellers عدد الباعة في السوق 
 

Other things equal, the larger the number of suppliers, the greater the market supply. As more firms 
enter an industry, the supply curve shifts to the right. 

 
Multiple choices:  
 
1. If an excise tax is imposed on a good or service, 

A. the supply curve shifts upward 
B. the supply curve shifts downward 
C. the price paid by consumers decreases 
D. the quantity produced and sold increases 

 
2. Supply curves do not shift if there is a change in the 

A. Number of sellers of the good. 
B. Technology used to produce the good. 
C. Price of the good. 
D. Price of resources used to produce the good. 
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3. All of the following shift the supply of watches to the right except(بإستثناء) 

A. an increase in the price of watches 
B. an advance in the technology used to manufacture watches 
C. a decrease in the wage of workers employed to manufacture watches 
D. manufactures’ expectation of lower watch prices in the future 

 
4. What will happen in the rice market if sellers are expecting higher prices in the near future? 

A. The demand for rice will increase. 
B. The demand for rice will decrease. 
C. The supply for rice will decrease. 
D. The supply of rice will increase 

 
5. Wheat is the main input in the production of flour. If the price of wheat increases, all else equal, we 

would expect 
A. The supply of flour to be unaffected. 
B. The supply of flour to decrease. 
C. The supply of flour to increase. 
D. The demand for flour to decrease. 

 
6. If good Y is a substitute in production for X then an increase in the price of Y will: 

A. Cause an increase in the supply for X. 
B. Cause a decrease in the demand for X. 
C. Cause an increase in the supply for Y. 
D. Cause a decrease in the demand for Y. 

 
7. Which one of the following would cause the supply of bananas to increase? 

A. A technological advance which lowers the cost of banana production. 
B. A decrease in the number of producers of bananas. 
C. An increase in the price of a fertilizer used in growing bananas. 
D.  A severe rain shortage (which causes banana trees to die off). 

 
 
Example 
 
What effect will each of the following have on the supply of auto tires? 
 
a. A technological advance in the methods of producing tires. 
 

A technological advance in the methods of producing tires enable firms to produce tires with fewer 
resources  reduce production cost   increase the supply of auto tires (shift supply curve to the 
right) 
 

b. A decline in the number of firms in the tire industry.  
 

The smaller the number of firms in the tire industry, the less the market supply of auto tires.  Shift the 
supply curve of auto tires to the left. 

 
c. An increase in the prices of rubber (مطاط) used in the production of tires. 
 

Higher prices of rubber raise production cost, this leads to decrease the profit. Reduction in profits 
reduces the incentive for firms to supply auto tires at each price  shift supply curve to the left. 
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d.  The expectation that the equilibrium price of auto tires will be lower in the future than currently.  
 

The expectation that the equilibrium price of auto tires will be lower in the future induce firms of tires 
to expand production  causing current supply to increase.  Shift supply curve to the right 
 

e. A decline in the price of the large tires used for semi trucks and earth-hauling rigs (with no change in 
the price of auto tires). 

 
Auto tires and large tires are substitutes in production. A decline in the price of the large tires leads 
large tires producers to switch production to auto tires in order to increase profits.  Increase supply 
of auto tires  shift supply curve of auto tires to the right. 

 
f. The levying of a per-unit tax on each auto tire sold.  
 

A per-unit tax on each auto tire sold will increase production cost and reduce supply (shift supply 
curve to the left)  
 

g. The granting of a 50-cent-per-unit subsidy for each auto tire produced.  
 

A per-unit subsidy for each auto tire produced will decrease production cost and raises supply of 
auto tire (shift supply curve to the right).  

 
 
Market Equilibrium   توازن السوق 
 
Equilibrium Price and Quantity  
 
The equilibrium price (market clearing price) is the price where quantity 
demanded equals quantity supplied.  
 
At equilibrium price: Qd = Qs 
 
Graphically, the equilibrium price is indicated by the intersection ( تقاطع(  of 
the supply curve and the demand curve.   
 
- At equilibrium price, there is neither a shortage nor a surplus. 
 
- When Qd > Qs     →   shortage ( excess demand) : Excess Demand = Qd - Qs 
 
- When Qs > Qd    →   surplus (excess supply) : Excess Supply = Qs – Qd 
 
 
- The surpluses caused by above equilibrium price  
 

أي أن الكمیة المعروضة أكبر من , إذا كان السعر أعلى من سعر التوازن فإن ذلك يسبب مشكلة فائض من السلعة في السوق
 .الكمیة المطلوبة

 
- The shortage caused by below equilibrium price 
 
 

أي أن الكمیة المطلوبة أكبر من الكمیة , التوازن فإن ذلك يسبب مشكلة نقص من السلعة في السوقإذا كان السعر أقل من سعر 
 .المعروضة 
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Example 
 
Based on the following table which represents the supply and demand schedule answer the following 
questions 
 

Price per 
Bushel 

Total Quantity 
Supplied 

Total Quantity 
Demanded 

Surplus(+) or 
Shortage(-) 

 

The effect on 
price 

$5 12,000 2,000   
$4 10,000 4,000   
$3 7,000 7,000   
$2 4,000 11,000   
$1 1,000 16,000   

 
1. Complete the table  

 
Price per 

Bushel 
Total Quantity 

Supplied 
Total Quantity 
Demanded 

Surplus(+) or 
Shortage(-) 
( Qs – Qd) 

The effect on 
price 

$5 12,000 2,000 + 10,000 Decrease 
$4 10,000 4,000 + 6,000 Decrease 
$3 7,000 7,000 0 no effect 
$2 4,000 11,000 - 7,000 Increase 
$1 1,000 16,000 - 15,000 Increase 

 
 

2. What is the equilibrium price? What is the equilibrium quantity? 
 

The equilibrium price equals $3, when Qd = Qs 
 
The equilibrium quantity equal 7000 bushels of corn. 

 
3. At market price of $4, calculate the excess supply 

 
Excess Supply = Qs – Qd = 10,000 – 4,000 = 6,000 

 
Example 
Based on the following table which represents the supply and 
demand schedule for one seller of meat 
 
a. Suppose that there are 100 sellers and 100 buyers of meat in 

this market. What is the equilibrium price and quantity of 
meat in this market? 

 
Market demand = number of buyers * Quantity demanded for one buyer. 
 
Market supply = number of sellers * Quantity supplied for one 
seller. 

 
At equilibrium price: Qd = Qs  : equilibrium price = $26   
equilibrium quantity = 32,000 

 
 

Price Quantity 
demanded 

Quantity 
supplied 

$20 395 200 
$22 375 250 
$24 350 290 
$26 320 320 
$28 280 345 

Price Market 
demand 

Market 
supply 

$20 39,500 20,000 
$22 37,500 25,000 
$24 35,000 29,000 
$26 32,000 32,000 
$28 28,000 34,500 
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b. When government sets the price of a meat at $28, will there be a shortage or surplus? By what 

amount? 
 

At $28 of price : Qs = 34,500,     Qd = 28,000   Qs > Qd   surplus of the meat by the amount of 
6,500 units ( 34,500 – 28,000 

 
 
Example  
 
Consider the following market demand and supply curves for 
Cheese. Quantities are in tons and prices in dollars.  
 
a. What is the equilibrium price and quantity of Cheese in 

this market? 
 
The equilibrium price is indicated by the intersection of 
the supply curve and the demand curve.  
 
Equilibrium price: $35 
 
Equilibrium quantity: 250 tons 

 
 
 
 
b. Suppose the government purchased 300 tons of cheese at each price level (demand increase by 

300 tons), what is the equilibrium price and quantity after this purchase? 
 
Demand increase by 300 tons, means that the at each price quantity demand increase by 300 tons 
 
 
 

 
Price Qd Qd’(new demand) Qs 

25 350 350 + 300 = 650 50 
30 300 300 + 300 = 600 150 
35 250 250 + 300 = 550 250 
40 200 200 + 300 = 500 350 
45 150 150 + 300 = 450 450 
50 100 100 + 300 = 400 550 

 
 

Equilibrium price: $45 
 
Equilibrium quantity: 450 tons 
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Example:  
 
Assume that demand for a commodity is represented by the equation P = 10 – 0.2Qd and supply by the 
equation P = 2 + 0.2Qs , where Qd and Qs are quantity demanded and quantity supplied, respectively, 
and P is price.  
 
1. What is the equilibrium price and quantity for a commodity? 
 

At equilibrium: Qd = Qs  
 
2 + 0.2Q = 10 – 0.2Q     →      0.4 Q = 8     →       Q = 8

0.4
 = 20  

 
      P = 10 – 0.2Q       →      P = 10 – 0.2(20) = 10 – 4 = $6        
 
2. At P = $5 is there a shortage or surplus? By how much the surplus or shortage? 
 

At P = $5  
 

     Demand equation:  P = 10 – 0.2Qd       →  Qd =    10−𝑃 
0.2

     ;   At P = $5,   Qd =    10−5 
0.2

  = 25 
 
Supply equation P = 2 + 0.2Qs   →  QS =    𝑃−2 

0.2
    ;  At P = $5,   QS =    5−2 

0.2
  = 15 

 
At P = $5: Qd > QS  →  shortage  
 
By the amount equal 25 – 15 = 10 units   
 
 

Example: 
  
1. The table above describes the market for VCRs.  

 
a. Plot the demand and supply schedules. What is the 

equilibrium price? The equilibrium quantity? 

 
 
 
 
 
 
 
 
 
 
 
 
 

 
Equilibrium price = $300 
Equilibrium quantity = 600 VCRs 

Price Quantity 
Demanded 

Quantity 
Supplied 

$100 1000 200 
200 800 400 
300 600 600 
400 400 800 
500 200 1000 
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b. At the price of $200, what is the quantity demanded? What is the quantity supplied? Will price 
tend to increase? 
 
Quantity demand = 800 VCRs 
Quantity supplied = 400 VCRs 

Yes, there is a shortage and price will increase 
 

c. At the price of $400, what is the quantity demanded?  What is the quantity supplied? Will price 
tend to decrease? 
 
Quantity demanded = 400 VCRs 

           Quantity supplied = 800 VCRs 
           Yes, there is a surplus and price will decline. 
 

 
2. A new product, DVD is introduced into this market and consumers prefer 

it to VCRs. The   new demand schedule for VCRs is represented in the 
following table. 

 
a. Plot the new demand schedule.  What is the direction of the shift in 

the demand curve? 
 

 
 

   The demand curve shifts to the left 
 
 

b. What is the new equilibrium price and quantity? 
 

Equilibrium price = $250 
Equilibrium quantity = 500 VCRs 

 
c. Is there an excess demand or excess supply at the old equilibrium price? 

 
There is an excess supply at the old equilibrium price. 

 
 

Price Quantity 
Demanded 

$100 800 
200 600 
300 400 
400 200 
500 0 
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Application: Government Set Prices  تدخل الحكومة في الأسواق 
 

إن سعر التوازن لـیس بالضـرورة أن يكـون . من أبرز أشكال تدخل الحكومة في الاقتصاد ھو تدخلھا في تسعیر بعض السلع والخدمات
وإذا  , فإذا كان سعر التوازن مرتفعاً فإن المستھلكین يبدأون بالتذمر من ارتفاع السعر. العكس يمكن أن يكون مرتفعاً  بل على, منخفضاً 

وفـي تلـك الحـالتین قـد تتـدخل الحكومـة وتفـرض سـعرً لحمايـة . كان سعر التوازن منخفضـاً فـإن المنتجـین ھـم الـذين سـیتذمرون
 .ماية المنتجین في حالة تدني السعرالمستھلكین في حالة ارتفاع السعر أو لح

 
Price Ceilings: السقف السعري 
 
A price ceiling sets the maximum legal price a seller may charge for a product or services. A price at or 
below the ceiling is legal; a price above it is not. 
 

كذلك يمكن أن تباع وتشترى السلعة عند مستوى . يسمح أن تباع وتشترى به السلعة السقف السعري ھو أعلى سعر قانوني
 .أما أعلى منه فلا يجوز. سعر أقل من السقف السعري

 
 
A price ceiling is a maximum legal price such as Pc. When the ceiling price is below the equilibrium 
price, a persistent product shortage results. Here that shortage is shown by the horizontal distance 
between Qd and Qs. 
 

أي . مما يشیر إلى وجود عجز في سوق تلك السلعة, أن نتیجة فرض سقف سعري تكون الكمیة المعروضة أقل من الكمیة المطلوبة
ويمكن للحكومة أن تتبع . ولكن ذلك على حساب مشكلة العجز الذي ظھر في السوق, أن الحكومة حاولت حل مشكلة ارتفاع السعر

ومن بین ھذه الأسالیب أن تقوم الحكومة بتوفیر كمیت إضافیة من السلعة لسد العجز , ذهعدة أسالیب للتخلص من مشكلة العجز ھ
وإذا لم تقم الحكومة بذلك فقد يؤدي وجود العجز النـاتج عـن فـرض سـقف سـعري إلـى ظھـور سـوق . الناجم من السقف السعري

 .  سوداء
 

Graphical Analysis (price Ceilings on Gasoline) 
 
 
Suppose that rapidly rising world income boosts the purchase 
of automobiles and shifts the demand for gasoline to the right 
so that the equilibrium or market price reaches $3.5 per gallon, 
shown as P0 in Figure. The rapidly rising price of gasoline 
greatly burdens low- and moderate-income households, 
which pressure government to “do something.” To keep 
gasoline affordable for these households, the government 
imposes a ceiling price Pc of $3 per gallon. To impact the 
market, a price ceiling must be below the equilibrium price. A 
ceiling price of $4, for example, would have had no 
immediate effect on the gasoline market. 
 
What are the effects of this $3 ceiling price? The rationing ability of the free market is rendered 
ineffective. Because the ceiling price Pc is below the market-clearing price P0, there is a lasting 
shortage of gasoline. The quantity of gasoline demanded at Pc is Qd and the quantity supplied is only 
Qs; a persistent excess demand or shortage of amount Qd – Qs occurs. 
 
Price Floors: الأرضیة السعرية 
 
A price floor is a minimum price fixed by the government. A price at or above the price floor is legal; a 
price below it is not. 
 

وعندما تدخل الحكومة في ھذا المجال فإنھا تفرض عادة سعراً أعلى من سعر . ممكن أن تتدخل الحكومة لحماية المنتجین
 . وھو أدنى سعر قانوني يسمح أن تباع وتشترى به تلك السلعة, التوازن يسمى أرضیة سعريه
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Graphical Analysis (price Floor on Wheat) 
 
A price floor is a minimum legal price such as Pf. When the price 
floor is above the equilibrium price, a persistent product surplus 
results. Here that surplus is shown by the horizontal distance 
between Qs and Qd. 

 
Suppose the equilibrium price for wheat is $2 per bushel and, 
because of that low price, many farmers have extremely low 
incomes. The government decides to help out by establishing a 
legal price floor or price support of $3 per bushel. What will be the 
effects? At any price above the equilibrium price, quantity 
supplied will exceed quantity demanded—that is, there will be a 
persistent excess supply or surplus of the product. Farmers will be 
willing to produce and offer for sale more than private buyers are willing to purchase at the price floor. 
 
 
Example 
 
Consider the following market demand and supply curves for Cheese. Quantities are in tons and prices 
in dollars. 
 
Suppose that government imposed a price floor of $8, would there be 
a shortage or a surplus at this price? Why? How much is the size of this 
shortage or surplus? 
 
Surplus because Qs > Qd 
 
Surplus = Qs – Qd = 30 – 10 = 20 tons 
 

Multiple choices: 
 
1. When a price ceiling is imposed in a market, 

A. a persistent shortage results 
B. a persistent surplus results 
C. sellers of the product are made better off 
D. quantity supplied is greater than the quantity demanded 

 
2. When a price floor is imposed, it has an impact on a market if it is set 

A. below the equilibrium price 
B. above the equilibrium price because quantity demanded exceeds quantity supplied 
C. above the equilibrium price because quantity supplied exceeds quantity demanded 
D. below the equilibrium price because quantity demanded exceeds quantity supplied 

 
3. A price ceiling 

A. Is a legal maximum on the price at which a good can be sold. 
B. Is a legal minimum on the price at which a good can be sold. 
C. Occurs when the price in the market is temporarily above equilibrium. 
D. Will usually result in a market surplus. 

 
 

 

20 | P a g e  
 

Uploaded By: anonymousSTUDENTS-HUB.com



Econ131: Principles of Microeconomics       Chapter 3: Demand, Supply, and Market Equilibrium    أ. محمد عامرية 
 
Change in Supply, Demand, and Equilibrium 
 
• Changes in Demand 
 

Increase in Demand  
 

The increase in demand from D1 to D2, increase both equilibrium price and 
equilibrium quantity (P↑   ; Q↑   ) 
 
 
Decrease in Demand  

 
The decrease in demand from D3 to D4, decrease both equilibrium price and 
equilibrium quantity (P↓   ; Q↓) 
 

 
 
 
 
• Changes in Supply 
 

Increase in Supply  
 

The increase in supply from S1 to S2, decrease the equilibrium price and, increase 
the equilibrium quantity (P↓   ; Q↑) 

 
 
 
 

Decrease in Supply 
 

The decrease in supply from S3 to S4, increase the equilibrium price and, 
decrease the equilibrium quantity (P↑   ; Q↓   ) 

 
 
 
 
 
• Supply Increase; Demand Decrease 

 
Increase in supply         Q↑ 
Decrease in demand    Q↓ 
Net effect:   Q:  uncertain (لا استطیع التحدید) 
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Effects of changes in both supply and demand 
 

Change in Supply Change in Demand Effect on Equilibrium 
Price 

Effect on Equilibrium 
Quantity 

Increase Decrease Decrease Uncertain 
Decrease Increase Increase Uncertain 
Increase Increase Uncertain 

(Indeterminate) 
Increase 

Decrease Decrease Uncertain Decrease 
 
 
Example  
Suppose that cheese is a normal goods, cheese and bread are complements, and milk is used to 
produce cheese. For each of the following cases, show what happens to demand, supply, equilibrium 
price, and equilibrium quantity of cheese. 
 
a. Price of milk increases.  
 

Milk is used to produce cheese (resources of milk production). Increase in 
milk prices raise production cost, this leads to decrease the profit. 
Reduction in profits reduces the incentive for firms to supply output at 
each product price  shift supply curve to the left (decrease). 

 
Demand curve for cheese: No change 

 
Equilibrium price: Increase 

 
Equilibrium quantity: Decrease  

 
 
b. National income decrease and, at the same time, the number of sellers of local cheese has 

increased. 
 

National income decrease:  cheese is a normal goods  decrease 
income leads to decrease demand  

 
The number of sellers of local cheese has increased  increased supply 

 
Price: decrease 

 
Quantity: uncertain 

 
c. The government gives a subsidy to the producers of bread. 
 

Subsidy to the producers of bread leads to increase the supply of bread 
 decrease the price of bread, but cheese and bread are 
complements   increase the demand for cheese. 

 
Supply curve for cheese: No change 

 
Price: increase 

 
Quantity: increase 
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Example  
 
Tea and coffee are substitutes and both tea and coffee are normal goods. Explain what happen to 
demand, supply, equilibrium price, equilibrium quantity of tea due to the following events. 
 
a. Government increase sales taxes on tea. 
 

Increase sales taxes    decrease supply of tea  
 

The demand for tea: no change. 
 

The price of tea: increase  
 

The quantity of tea: decrease 
 
 
 

b. Price of coffee decrease considerably (بشكل كبیر). 
 

Tea and coffee are substitutes  Price of coffee decrease leads to increase demand for coffee 
and decrease demand for tea. 

 
The supply of tea: no change 

 
The price of tea: decrease  

 
The quantity of tea: decrease 

 
 
 
 
c. Consumers' income decreases and, at the same time, the cost of producing and transporting tea 

has also decreased. 
 

Tea is a normal good Consumers' income decreases leads to decrease the demand for tea 
 

The cost of producing and transporting tea has decreased.  supply 
of tea increase  

 
The price of tea: decrease  

 
The quantity of tea: uncertain 
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Questions: 
 
Question #1: 
Refer to the information provided in table below to answer the questions that follow: 
 

Price per 
Pizza 

Qd for 
Pizzas 

Qs for Pizzas 

$3 1,200 600 
6 1,000 700 
9 800 800 
12 600 900 
15 400 1,000 

  
a. What is the equilibrium price and quantity in Pizza market 
b. At a price of Pizza $3, is there be a shortage or surplus? By how much? 
c. In this market there will be an excess demand of 300 pizzas at which price? 
d. Suppose the government sets a price floor of $12. Will there be a shortage or surplus? How large will 

it be? 
e. Suppose the government gives subsides to the producers of pizza that leads to increase the supply 

of pizza by 300 units at each price level, what is the new equilibrium price and quantity? 
 
 

Question #2: 
Suppose that an mp3 player is normal goods, mp3 players and CDs are complements, and mp3 players 
and satellite radio are substitutes. For each of the following cases, show what happens to demand, 
supply, equilibrium price, and equilibrium quantity of mp3 player. 
a. a decrease in the price of mp3 players  
b. an increase in the price of CDs  
c. The government gives a subsidy to the producers of CDs 
d. a fad that makes mp3 players more popular among 12-25 year olds  
e. a decrease in the price of satellite radio. 
 
 
Question #3:  
Based on the following table which represents the supply schedule for three sellers and the market 
demand of Tea.  

 
 
 
 
 
 
 
 
 

 
a. Suppose that there are only three sellers of market of Tea .What is the market supply schedule 
b. What is the equilibrium price and quantity of Tea in this market? 
c. When government sets the price of a Tea at $4, will there be a shortage or surplus? By what 

amount? 
 
 
 

Price Firm A’s 
Quantity 
Supplied 

Firm B’s 
Quantity 
Supplied 

Firm C’s 
Quantity 
Supplied 

Market 
demand 

2 2 3 4 54 
4 4 6 8 48 
6 6 9 12 42 
8 8 12 16 36 
10 10 15 20 30 
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Question #4: 
Refer to the figure to answer the questions that follow: 
 

a. What is the equilibrium price and quantity in this market? 
b. Suppose the government sets a price ceiling of $2.5. Will 

there be a shortage or surplus? How large will it be? 
c. Suppose that consumer income increase that leads to 

increase the market demand by 400 units at each price 
level, what is the new equilibrium price and quantity? 

d. If the price equals $7.5 calculate the excess supply 
e. Describe what will happen over time if the price is $2.5.  

 
 
Question #5: 
The following equations are the demand and supply of economics textbooks:  
 
QD = 100 – 2P 
QS = –20 + P  
 
Where P is in dollars per book, and QD and QS are quantities demanded and supplied, respectively, in 
thousands per year. 
a. Given the demand and supply equations above, solve for the equilibrium price and quantity. 
b. If a price of economics textbooks $50, is there be a shortage or surplus? By how much? 
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Chapter 4  
 

Elasticity  
 
Price Elasticity of Demand 
 
The law of demand tells us that, other things equal, consumers will buy more of a product when its price 
declines and less when its price increases. But how much more or less will they buy? The amount varies 
from product to product and over different price ranges for the same product. It also may vary over 
time. And such variations matter. 
 
Elasticity:  is a measure of the percentage change in one variable brought about by a 1 percent 
change in some other variable. 
 
Price Elasticity of Demand: The price elasticity of demand is the percentage change in the quantity 
demanded of a good in response to a 1 percent change in its price. 
 

. ر سعر السلعة بنسبة واحد بالمائةتقیس مرونة الطلب السعرية مدى استجابة الكمیة المطلوبة من سلعة ما نتیجة لتغی  
 
The responsiveness (or sensitivity) of consumers to a price change is measured by a product's price 
elasticity of demand. For some products-for example, restaurant meals-consumers are highly 
responsive to price changes. Modest price changes cause very large changes in the quantity 
purchased. 
 
For some products—for example, restaurant meals—consumers are highly responsive to price changes. 
Modest price changes cause very large changes in the quantity purchased. Economists say that the 
demand for such products is elastic. For other products—for example, toothpaste— consumers pay much 
less attention to price changes. Substantial price changes cause only small changes in the amount 
purchased. The demand for such products is inelastic. 
 
The Price-Elasticity Coefficient and Formula 
 
Economists measure the degree to which demand is price elastic or inelastic with the coefficient Ed, 
defined as:  
 

Ed = 
𝑃𝑒𝑟𝑐𝑒𝑛𝑡𝑎𝑔𝑒 𝑐ℎ𝑎𝑛𝑔𝑒 𝑖𝑛 𝑞𝑢𝑎𝑛𝑡𝑖𝑡𝑦 𝑑𝑒𝑚𝑎𝑛𝑑𝑒𝑑 𝑜𝑓 𝑝𝑟𝑜𝑑𝑢𝑐𝑡 𝑋

𝑝𝑒𝑟𝑐𝑒𝑛𝑡𝑎𝑔𝑒 𝑐ℎ𝑎𝑛𝑔𝑒 𝑖𝑛 𝑝𝑟𝑖𝑐𝑒 𝑜𝑓 𝑝𝑟𝑜𝑑𝑢𝑐𝑡 𝑋 
   =  %∆𝑄

%∆𝑃
 

 

Ed = 
𝐶ℎ𝑎𝑛𝑔𝑒 𝑖𝑛 𝑞𝑢𝑎𝑛𝑡𝑖𝑡𝑦 𝑑𝑒𝑚𝑎𝑛𝑑𝑒𝑑   
𝑂𝑟𝑖𝑔𝑖𝑛𝑎𝑙 𝑞𝑢𝑎𝑛𝑡𝑖𝑡𝑦 𝑑𝑒𝑚𝑎𝑛𝑑𝑒𝑑 

 ÷  𝑐ℎ𝑎𝑛𝑔𝑒 𝑖𝑛 𝑝𝑟𝑖𝑐𝑒  
𝑜𝑟𝑖𝑔𝑖𝑛𝑎𝑙 𝑝𝑟𝑖𝑐𝑒

=  ∆𝑄
𝑄1

 ÷  ∆𝑃
𝑃1

 

 

Ed =    
𝑄2 − 𝑄1
𝑄1

 ÷  𝑃2  − 𝑃1
𝑃1

     =    𝑄2 − 𝑄1
𝑄1

 𝑥  𝑃1
𝑃2  − 𝑃1
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Example:  
You are given market data that says when the price of pizza is $4, the quantity demanded of pizza is 60 
slices. When the price of pizza is $2, the quantity demanded of pizza is 80 slices. Calculate the price 
elasticity of demand  
 

Ed =  𝑄2 − 𝑄1
𝑄1

 𝑥  𝑃1
𝑃2  −  𝑃1

 = 80 − 60
60

 𝑥  4
2 − 4 

 = 20
60

 𝑥  4
 − 2 

 = 80
−120

 = – 0.67 

 
Midpoint formula for calculating elasticity:  
 

Ed =    
𝐶ℎ𝑎𝑛𝑔𝑒 𝑖𝑛 𝑞𝑢𝑎𝑛𝑡𝑖𝑡𝑦 𝑑𝑒𝑚𝑎𝑛𝑑𝑒𝑑   

𝑆𝑢𝑚 𝑜𝑓  𝑞𝑢𝑎𝑛𝑡𝑖𝑡𝑦 /2
 ÷  𝑐ℎ𝑎𝑛𝑔𝑒 𝑖𝑛 𝑝𝑟𝑖𝑐𝑒  

𝑆𝑢𝑚 𝑜𝑓  𝑝𝑟𝑖𝑐𝑒/2
  

 

Ed =    
𝑄2− 𝑄1   
𝑄2+ 𝑄1 /2

 ÷  𝑃2−𝑃1  
𝑃2+𝑃1/2

  =   
𝑄2− 𝑄1   
𝑄2+ 𝑄1 

 ÷  𝑃2−𝑃1  
𝑃2+𝑃1

          

 

Ed =    
𝑄2− 𝑄1   
𝑄2+ 𝑄1 

 𝑥 𝑃2+𝑃1  
𝑃2− 𝑃1

   

 
                  
Example 
 
Use the midpoint formula for Ed to calculate the following 
 

Product 
price 

Quantity 
demanded 

$5 10 
$4 20 
$3 35 
$2 55 
$1 80 

 
1. Calculate price elasticity of demand for the price decrease from $4 to $3. 

 

Ed =    
𝑄2− 𝑄1   
𝑄2+ 𝑄1 

 𝑥 𝑃2+𝑃1  
𝑃2− 𝑃1

  = 
35− 20   
35+ 20 

 𝑥 3 + 4  
3−4

 = 
15
55

 𝑥  7
−1

 =  
105
 −55

  = − 1.9 

 
2. Calculate price elasticity of demand for the price increase from $1 to $2. 

 

Ed =    
𝑄2− 𝑄1   
𝑄2+ 𝑄1 

 𝑥 𝑃2+𝑃1  
𝑃2− 𝑃1

  = 55− 80   
55+ 80 

 𝑥 2 + 1  
2 −1

 = 
−25
135

 𝑥  3
1
 =  

−75
 135

  = − 0.55 

 
 
Example 
Suppose that the price elasticity of demand for maple syrup has been estimated at –2. If quantity 
demanded increased by 10 percent, by how must price have changed? 
 

−2 =   10%
% ∆𝑃

      %∆P =   
10%
−2

  = −5 

 
Price must be decrease by %5 
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Elimination of Minus Sign 
 
The price elasticity coefficient of demand Ed will always be a negative number, because the price and 
quantity demanded are inversely related.  
 
We will use the absolute value of the elasticity coefficient. عند حساب قیمة المرونة فإنه يتم اخذ القیمة المطلقة(  
 
 
Multiple Choices: 
 
1. The price elasticity of demand measures 

A. The slope of a budget curve. 
B. How often the price of a good changes. 
C. The responsiveness of the quantity demanded to changes in price. 
D. How sensitive the quantity demanded is to changes in demand. 

 
2. The price elasticity of demand equals 

A. The percentage change in the quantity demanded divided by the percentage change in the 
price. 

B. The change in the quantity demanded divided by the change in price. 
C. The percentage change in the price divided by the percentage change in the quantity 

demanded. 
D. The change in the price divided by the change in quantity demanded. 

 
3. When the price of oranges increases from $4 to $6 per bag, the quantity demanded of oranges 

decreases from 800 to 700. The price elasticity of demand curve over this price rage is equal to___. 
Use the midpoint method for your calculation. 
A. 3 
B. 3/7 
C. 1/3  
D. ¼  

 
4. If the price elasticity of demand is 2.5, then a 1 percent increase in price will lead to a 

A. 2.5 percent increase in the quantity demanded 
B. 2.5 percent decrease in demand 
C. 2.5 percent decrease in the quantity demanded 
D. 2.5 percent increase in demand 

 
5. If the price elasticity of demand is 2 and the quantity demanded increased by 25 percent, then 

price must have 
A. increased by 50 percent 
B. increased by 12.5 percent 
C. decreased by 50 percent 
D. decreased by 12.5 percent 

 
6. Given an income elasticity of demand of ¼, we would expect that 

A. for a ¼ percent increase in the price, demand will increase by 1 percent 
B. for a 1 percent increase in the price, demand will increase by ¼percent 
C. for a 4 percent increase in the price, demand will decrease by 1percent 
D. for a 1 percent increase in the price, demand will decrease by 4 percent 
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Example:  
Suppose that the demand for DVD increases by 40%, when price decreases from $100 to $90.  
Calculate the price elasticity of demand (Use the midpoint method for your calculation) 
 
Ed =   %∆𝑄

%∆𝑃
             ;  %∆Q = 40% 

 

%∆P = 
𝑃2−𝑃1  

(𝑃2+𝑃1)/2
 = 90 −100  

(90+100)/2
 = −10

95
  = –0.105 = –10.5% 

 

Ed =   %∆𝑄
%∆𝑃

  = 40%
–10.5%

 =|−3.8| = 3.8 

 
Interpretations of price elasticity of demand  
 
We can interpret the coefficient of the price elasticity of demand as follows: 
 
Elastic Demand: Demand is elastic if a percentage change in price results in a larger percentage 
change in quantity demanded (%∆ Q > %∆P). Then Ed will be greater than 1.  
 
Inelastic Demand: if a specific percentage change in price produces a smaller percentage change in 
quantity demanded (%∆P > %∆Q), demand is inelastic. Then Ed will be less than 1. 
 
Unit Elasticity: when the percentage change in price results in a same percentage change in quantity 
demanded (%∆P = %∆Q), demand is unit elastic. Then Ed will be equal to 1. 
 

�
𝑖𝑓 𝐸𝑑 > 1   𝑑𝑒𝑚𝑎𝑛𝑑 𝑒𝑙𝑎𝑠𝑡𝑖𝑐
𝑖𝑓 𝐸𝑑 < 1   𝑑𝑒𝑚𝑎𝑛𝑑 𝑖𝑛𝑒𝑙𝑎𝑠𝑡𝑖𝑐

𝑖𝑓 𝐸𝑑 = 1   𝑑𝑒𝑚𝑎𝑛𝑑  𝑢𝑛𝑖𝑡 𝑒𝑙𝑎𝑠𝑡𝑖𝑐
� 

 Multiple Choices: 
1. When the percentage change in quantity demand is less than the percentage change in the price, 

then 
A. Demand elastic 
B. Demand inelastic 
C. Supply inelastic 
D. Demand unit elastic 
 

2. the price of sprite cola  rises by 25 percent, causing the quantity demanded to increase by 75 
percent, then demand for sprite cola is 
A. Elastic 
B. Inelastic  
C. Unitary elastic 
D. Perfectly elastic 

 
3. If demand is unitary elastic and price decreases by 30 percent, then we can expect quantity 

demanded to  
A. Increase by 30 percent 
B. increase by 60 percent 
C. decrease by 30 percent 
D. decrease by 30 percent 
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Example 
Taleen spend all income on water and milk. When milk price $3 per gallon, Taleen bought 14 gallons of 
milk. After the price of milk went up to $6 per gallon, Taleen bought only 6 gallons of milk. Calculate 
Taleen’s midpoint-price elasticity of milk when the price of milk increases from $3 to $6 per gallon. Is 
demand for milk elastic, inelastic or unit elastic? 
 
Ed =    

Q2− Q1   
Q2+ Q1 

 ×  P2+P1  
P2− P1

  = 6− 14   
6 + 14 

 × 6 + 3  
6 −3

 = −8
20

 ×  9
3
 =  −24

 20
  =|− 1.2| = 1.2    

 
Ed = 1.2 > 1        Demand elastic   
 
Example 
The following table shows the demand and supply 
schedules for Starbucks coffee. Using the information in 
the table, calculate the elasticity of demand (Ed) 
between the equilibrium price and the price of $5. Is the 
demand elastic or inelastic? 
 
Equilibrium price = $4; Equilibrium quantity = 3800 
 
 
Ed =    

Q2− Q1   
Q2+ Q1 

 ×  P2+P1  
P2− P1

  = 3000− 3800   
3000 + 3800

 × 5 + 4 
5 −4

   =   −800
6800

 ×  9
1
 =  −7200

 6800
  =|− 1.05| =1.05 > 1    elastic 

 
 
 
Perfectly inelastic and perfectly elastic demand curve 
 
When we say demand is “elastic,” we do not mean that consumers are completely responsive to a 
price change. In that extreme situation, where a small price reduction causes buyers to increase their 
purchases from zero to all they can obtain, the elasticity coefficient is infinite (∞) and economists say 
demand is perfectly elastic. A line parallel to the horizontal axis, such as D2  
 
 
If Ed = ∞       demand is perfectly elastic 
 
A horizontal demand curve (line parallel to the horizontal axis), shows perfectly elastic 
demand graphically.  
 
 
When we say demand is “inelastic,” we do not mean that consumers are completely unresponsive to a 
price change. In that extreme situation, where a price change results in no change whatsoever in the 
quantity demanded, economists say that demand is perfectly inelastic. The price-elasticity coefficient is 
zero because there is no response to a change in price. Approximate examples include an acute 
diabetic’s demand for insulin (الأنسولین) or an addict’s demand for heroin ( ھیروین( .  
 
 

 ً وتك�ون قیم�ة , ھناك حالة خاصة للطلب غیر المرن عندما یكون منحنى الطلب عمودیاً حیث لا تستجیب الكمیة للتغی�ر ف�ي الس�عر مطلق�ا
 ).perfectly inelastic( ویسمى الطلب عدیم المرونة , المرونة السعریة صفراً في ھذه الحالة

 
 
If Ed = 0     demand is perfectly inelastic 
A vertical demand curve shows perfectly inelastic demand graphically.  
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The Total-Revenue Test 
 
The importance of elasticity for firms relates to the effect of price changes on total revenue and thus on 
profits (total revenue minus total costs). 
 
Total revenue (TR) is the total amount the seller receives from the sale of a product in a particular time 
period; it is calculated by multiplying the product price (P) by the quantity sold (Q). In equation form: 
 
𝑇𝑅 =  𝑃 𝑥 𝑄 
 
Graphically, total revenue is represented by the P x Q rectangle lying below a 
point on a demand curve. At point a in Figure, for example, price is $2 and 
quantity demanded is 10 units. So total revenue is $20 ($2 x 10), shown by the 
rectangle composed of the gold and orange areas under the demand curve. 
 
 
Total revenue and the price elasticity of demand are related. In fact, the easiest way to infer whether 
demand is elastic or inelastic is to employ the total-revenue test. Here is the test: Note what happens to 
total revenue when price changes. If total revenue changes in the opposite direction from price, 
demand is elastic. If total revenue changes in the same direction as price, demand is inelastic. If total 
revenue does not change when price changes, demand is unit-elastic. 
 
Elastic Demand 
 
If demand is elastic, a decrease in price will increase total revenue. Or if demand is elastic, an increase 
in price will decrease total revenue. Even though a lesser price is received per unit, enough additional 
units are sold to more than make up for the lower price. 
 
�  𝑃 ↓         𝑇𝑅 ↑ 
 𝑃 ↑          𝑇𝑅 ↓ 

�    Demand elastic 
 
For an example, look at demand curve D1 in Figure. We have already 
established that at point a, total revenue is $20 ($2 X 10), shown as the 
gold plus orange area (area A+B). If the price declines from $2 to $1 
(point b), the quantity demanded becomes 40 units and total revenue 
is $40 ($1X 40). As a result of the price decline, total revenue has 
increased from $20 to $40. Total revenue has increased in this case 
because the $1 decline in price applies to 10 units, with a consequent 
revenue loss of $10 (the gold area B). But 30 more units are sold at $1 
each, resulting in a revenue gain of $30 (the brown area C). Visually, 
the gain of the brown area clearly exceeds the loss of the gold area. 
As indicated, the overall result is a net increase in total revenue of $20 
($30 – $10). 
 
Example:  
 

Price (P) Quantity (Q) Total revenue ( TR) 
$2 10 2 x 10  = 20 
$1 40 1 x 40 = 40 

 
 
Price decline from $2 to $1 and total revenue increases from $20 to $40. So demand is elastic. 
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Inelastic Demand 
 
If demand is inelastic, a price decrease will reduce total revenue or a price increase will increase total 
revenue   
 
�  𝑃 ↓         𝑇𝑅 ↓ 
 𝑃 ↑          𝑇𝑅 ↑ 

�    Demand inelastic 
 
To see this, look at demand curve in the figure. At point c, price is $4 and quantity 
demanded is 10   total revenue is $40.If the price drops to $1.5 (point d), total 
revenue declines to $30.  
 

Price (P) Quantity (Q) Total revenue ( TR) 
$4 10 4 x 10  = 40 

$1.5 20 1.5 x 20 = 30 
 
Price declines from $4 to $1, and total revenue falls from $40 to $22. So, demand 
inelastic. 
 
 
Unit Elasticity 
 
An increase or a decrease in price leaves total revenue unchanged. 
 
The loss in revenue from a lower unit price is exactly offset by the gain in revenue from the 
accompanying increase in sales. 
 
P ↑ or P↓       TR unchanged      demand is unit elastic 
 
To see this, look at demand curve in the figure. At point e, price is $3 and 
quantity demanded is 10  total revenue is $30.If the price drops to $1 (point 
f), total revenue is $30 (unchanged).  
 
 

Price (P) Quantity (Q) Total revenue ( TR) 
$3 10 3 x 10  = 30 
$1 30 1 x 30 = 30 

 
Price declines from $3 to $1 and total revenue still 30 (unchanged). So, 
demand unit elastic. 
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Multiple Choices: 
 
1. The price of canned salmon increases; total spending on canned salmon remains unchanged. 

Canned salmon has a(n)            demand. 
A. perfectly inelastic 
B. perfectly elastic 
C. unitarily elastic 
D. inelastic 

 
2. Total revenue will decrease if price            and demand is            . 

A. increases; inelastic 
B. increases; unitarily elastic 
C. decreases; inelastic 
D. decreases; elastic 

 
3. An excellent harvest causes apples to fall in price by 10%. Consumers buy 5% more apples. The 

price decrease has caused consumers to 
A. Spend less on apples. 
B. Spend more on apples. 
C. Reduce the quantity of apples bought. We can’t tell what has happened to spending. 
D. Increase the quantity of apples bought. We can’t tell what has happened to spending. 

 
4. Other things the same, if a price change causes total revenue to change in the opposite direction, 

demand is: 
A. Perfectly inelastic. 
B. Relatively elastic. 
C. Relatively inelastic. 
D. Of unit elasticity. 

 
 
Price Elasticity along a Linear Demand Curve 
 
Using the total revenue test, when price fall and TR increases, demand is elastic; when price fall and TR 
unchanged, demand is unit elastic; and when price fall and TR decline, demand is inelastic. 
 

 

For a down sloping straight line, demand is more elastic at higher price range and inelastic at lower price ranges. 
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Multiple Choices 
 
1. Along a linear demand curve, from top to bottom (higher price levels to lower price levels), 

elasticity varies from 
A. elastic, to unit elastic, to inelastic 
B. inelastic, to unit elastic, to elastic 
C. unit elastic, to elastic, to inelastic 
D. elastic, to inelastic, to unit elastic 

 
2. Which of the following is true? 

A. On a linear demand curve, the higher the price the more elastic is demand 
B. On a linear demand curve, elasticity is constant 
C. At the same price demand is more elastic on the steeper demand curve 
D. None are true 

 
 
Price Elasticity and the Total-Revenue Curve 
 
When price falls and TR increases, demand is elastic; when price falls and TR is unchanged, demand is 
unit elastic; and when price falls and TR declines, demand is inelastic. 
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Example 
Suppose that total demand for wheat is as shown below: 
 

Price per 
bushel 

Quantity 
demand 

3.4 85 
3.7 80 
4 75 

4.3 70 
4.6 65 

 
1. Use the point formula for elasticity of demand to determine price elasticity of demand for each of 

the price changes from $3.7 to $4.6. Then Graph the demand data 
 

Price elasticity as price increase from 3.4 to 3.7 
 
 

Ed =    
Q2− Q1   
Q2+ Q1 

 ×  P2+P1  
P2− P1

  = 80− 85   
80 + 85 

 ×  3.7 + 3.4  
3.7 −3.4

 = −5
165

 ×  7.1
0.3

 =  −35.5
 49.5

  =|− 0.71| = 0.71    

 
 
Price elasticity as price increase from 3.7 to 4 
 
 

Ed =    Q2− Q1   
Q2+ Q1 

 ×  P2+P1  
P2− P1

  = 75− 80   
75 + 80 

 ×  4 + 3.7  
4 −3.7

 = −5
155

 ×  7.7
0.3

 =  −38.5
 46.5

  =|− 0.82| = 0.82   

 
 
Price elasticity as price increase from 4 to 4.3 
 
 

Ed =    
Q2− Q1   
Q2+ Q1 

 ×  P2+P1  
P2− P1

  = 70− 75   
70 + 75 

 ×  4.3 + 4  
4.3 −4

 = −5
145

 ×  8.3
0.3

 =  −41.5
 43.5

  =|− 0.95| = 0.95  

 
 
Price elasticity as price increase from 4.3 to 4.6 
 
 

Ed =    
Q2− Q1   
Q2+ Q1 

 ×  P2+P1  
P2− P1

  = 65−70   
65 +70 

 ×  4.6 + 4.3  
4.6 −4.3

 = −5
135

 ×  8.9
0.3

 =  −44.5
 40.5

  =|− 1.09| = 1.09 

 
 
 

 
 
 
 
 
 
 
 
 

 

Price 
per 

bushel 

Quantity 
demand 

 
Elasticity 

3.4 85 - 
3.7 80 0.71 
4 75 0.82 

4.3 70 0.95 
4.6 65 1.09 
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2. Calculate total revenue data from the demand table. Graph total revenue below your demand 
curve.  

 
 

 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Determinants of Price Elasticity of Demand:  
 
 
• Substitutability    توفر بدائل للسلعة 
 

The larger the number of substitute goods that are available, the grater the price elasticity of 
demand. 
 
The elasticity of demand for a product depends on how narrowly the product is defined. Demand 
for Reebok sneakers is more elastic than is the overall demand for shoes. Many other brands are 
readily substitutable for Reebok sneakers, but there are few, if any, good substitutes for shoes. 
 

كلمـا كـان الطلـب علیھـا أكثـر مرونـة، حیـث أن ارتفـاع سـعر السـلعة سـیؤدي , البـدائل المتـوفرة للسـلعةبصورة عامة كلما زاد عـدد 
أما عدم وجـود بـدائل للسـلعة فإنـه يـؤدي . بالمستھلك لتقلیل الكمیات المطلوبة منھا بصورة كبیرة والانتقال لاستھلاك السلع البديلة

 .ارتفع سعرھا لعدم وجود بدائل لھابالمستھلك أن يرتبط باستھلاك تلك السلعة حتى لو 
 
 

ذه كلما كان للسلعة بدائل كثیرة وجیدة كلما كان الطلب علیھا أكبر مرونة، أو بمعنى آخر كلما عرفنا السلعة تعريفاً ضیقاً، وكلما كان لھ
أكبـر مرونـةً مـن الطلـب علـى  السلعة بدائل كثیرة وجیدة كلما كان الطلب علیھا أكبر مرونة، مثلاً الطلب على الصابون من نوع لوكس

 . الصابون بصورة عامة، والطلب على لحم الضأن أكبر مرونة من الطلب على اللحوم بصورة عامة
 
 
 
 
 

Price 
per 

bushel 

Quantity 
demand 

Total 
revenue 

3.4 85 289 
3.7 80 296 
4 75 300 

4.3 70 301 
4.6 65 299 
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• Proportion of Income  نسبة الإنفاق على السلعة من الدخل المستھلك 
 

Other things equal, the higher the price of a good relative to consumers incomes, the grater the 
price elasticity of demand. 
 

فعلـى سـبیل . بصورة عامة فإن الطلب على السلعة يكون أكثر مرونة كلما زادت نسبة الإنفاق على تلك السلعة من دخل المستھلك
عر ملـح الطعـام لـن يـؤدي وعلیـه فـإن ارتفـاع سـ المسـتھلكالمثال فإن الإنفاق على ملح الطعام يشكل نسبة قلیلة جداً  مـن دخـل 

 . الانخفاض الكمیة المطلوبة منه بنسبة كبیرة بل يمكن أن لا تتأثر الكمیة المطلوبة منه مطلقاً 
 

A 10 percent increase in the price of low-priced pencils or chewing gum amounts to a few more 
pennies relative to one’s income, and quantity demanded will probably decline only slightly. Thus, 
price elasticity for such low-priced items tends to be low. But a 10 percent increase in the price of 
relatively high-priced automobiles or housing means additional expenditures of perhaps $3000 or 
$20,000, respectively. These price increases are significant fractions of the annual incomes and 
budgets of most families, and quantities demanded will likely diminish significantly. Price elasticity for 
such items tends to be high. 
 
 

• Luxuries versus Necessities  سلع الرفاھیة والسلع الضرورية 
 

The more that a good is considered to be a luxury rather than a necessity the grater is the price 
elasticity of demand.  
 

فارتفـاع سـعر السـلعة . ة ضـرورية أو كمالیـةطبیعة السلعة من العوامل المحددة لمرونة الطلب السـعرية، وذلـك مـن حیـث كـون السـلع
أمـا ارتفـاع سـعر السـلعة الكمالیـة . الضرورية لن يؤثر كثیراً على الكمیة المطلوبة منھا نظراً للحاجة إلیھا وعدم إمكانیـة الاسـتغناء عنھـا

 .  ھا بصورة كبیرةفسیؤدي الانخفاض في الكمیة المطلوبة منھا بصورة واضحة لإمكانیة الاستغناء عنھا أو التقلیل من
 

For example, electricity is regarded as a necessity: it is difficult to get along without it. A price 
increase will not significantly reduce the amount of lighting. On other hand, jewelry are luxuries. If 
the prices of jewelry rise, a consumer need not buy them. 

 
 
• Time  (المدى الطويل والمدى القصیر) 
 

Product demand is more elastic the longer the time period under consideration. Consumers often 
need time to adjust to changes in prices. For example, when the price of a product rises, time is 
needed to find and experiment with other product to see if they are acceptable.  

 
بصفة عامة فإن مرونة الطلب على سلعة ما في المدى الطويل أعلى بكثیر من مرونة الطلب علیھا في المدى القصیر نظراً لصعوبة 
التكیف في المدى القصیر، خصوصاً بالنسبة لعادات المستھلك الشرائیة فمثلاً لو ارتفع سعر زيت الزيتون فإن المستھلك الذي تعود 

استھلاك ھذه السلعة لن يستطیع الاستغناء عنھا في المدى القصیر ومن ثم فإن الطلب علیھا في المدى القصیر سیقل بنسبة  على
أقل من نسبة ارتفاع السعر وھذا يعني أن الطلب علیھا سیكون قلیل المرونة، ولكن إذا استمر الارتفاع في سعرھا في المدى الطويل 

أنماط استھلاكیة أخرى مثل استھلاك زيت الذرة أو السمن النباتي وبالتالي يكون الطلب على زيت  فسیحاول المستھلك التكیف مع
 .الزيتون أكثر مرونة

 
Multiple Choice: 
 
1. Which of the following is not a determinant of the price elasticity of demand?  

A. Time to adjust  
B. Availability of substitute goods  
C. Whether the good is low-priced or high-priced  
D. Whether the consumer is low or high income 
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2. Over time, the demand of a good or service  

A. becomes more elastic.  
B. becomes less elastic.  
C.  initially becomes more elastic and then becomes less elastic.  
D.  initially becomes less elastic and then becomes more elastic. 

 
3. The _______ the portion of your income spent on a good, the _______ is your demand for the good. 

A. larger; more income elastic.  
B. larger; more price elastic.  
C. smaller; more price elastic.  
D. smaller; more income elastic. 

 
4. Which of the following factors will make the demand for a product more elastic?  

A. The product has no close substitutes.  
B. A very small proportion of income is spent on the good.  
C. A long time period has elapsed since the product’s price changed.  
D. A lower price. 

 
 

Applications of Price Elasticity of Demand بعض التطبیقات العملیة لمرونة الطلب السعرية 
 
• Large Grop Yields 

 
The demand for most products is highly inelastic. As a result, increase in the output of farm products 
arising from a good growing season or from increased productivity tend to depress both the prices 
of farm products and the total revenue of farmers. 
 

. الزراعیة وذلك سعیاً منھم إلى زيادة الإيراد الكلي لھذه المنتجاتتلجأ بعض الدول أو بعض المنتجین إلى تخفیض العرض من المنتجات 
والتحلیل الاقتصادي لذلك ھو أن الطلب على المنتجات الزراعیة ھو في الغالب طلب غیر مرن ولذلك فإن نقص العرض من ھذه 

لذلك نرى  .اد الكلي للمنتجین سوف يزدادالمنتجات يسبب ارتفاع السعر، ونظراً لأن الطلب على ھذه المنتجات ھو غیر مرن فإن الإير
أن حكومة مثل حكومة البرازيل تقوم بإتلاف جزء كبیر من محصول القھوة بھدف زيادة الإيرادات الكلیة لھا ، حیث أن إتلاف ھذا الجزء من 

 .ن الإيرادات سوف تزدادالقھوة فإ محصول القھوة سوف يؤدي إلى انخفاض العرض ومن ثم ارتفاع الأسعار وفي ظل طلب غیر مرن على
 
• Excise Taxes 

 
The government pays attention to elasticity of demand when it selects goods and services on which 
to levy excise taxes. If a $1 tax is levied on a product and 10,000 units are sold, tax revenue will be 
$10,000 (1x10,000). If the government rises the tax to $1.5 but the higher price that results reduces 
sales to 5000 because of elastic demand, tax revenue will decline to $75,000 (1.5 x 5000). Because a 
higher tax on a product with elastic demand will bring in less tax revenue, legislatures tend to seek out 
products that have inelastic demand such as liquor, gasoline, and cigarettes.  
 
عندما تفكر الدولة في فرض ضريبة معینة فإنھا تقوم بفرض ھذه الضريبة على السلع التي يكون الطلب علیھا غیر مرن، حیث أن ارتفاع 

 ويلاحظ ھنا ) .أي زيادة حصیلة الدولة من الضريبة(بسبب زيادة الضريبة سوف يؤدي إلى زيادة الإيراد الكلي للدولة أسعار ھذه السلع 
إنه إذا كان الطلب على سلعة ما عديم المرونة فإن المستھلك يتحمل كامل عبء الضريبة، أما إذا كان الطلب على ھذه السلعة غیر 

الضريبة أما إذا كان الطلب على ھذه السلعة مرن فإن المنتج يتحمل معظم عبء الضريبة، مرن فإن المستھلك يتحمل معظم عبء 
 .وأخیراً إذا كان الطلب على سلعة ما لا نھائي المرونة فإن المنتج يتحمل كامل عبء الضريبة
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Price Elasticity of Supply 
 
Is the percentage change in the quantity supplied of a good in response to a 1 percent change in its 
price. 
 

 . تقیس مرونة العرض السعرية مدى استجابة الكمیة المعروضة من سلعة ما نتیجة لتغیر سعر السلعة بنسبة واحد بالمائة
 
If the quantity supplied by producers is relatively responsive to price changes, supply is elastic. If it is 
relatively insensitive to price changes, supply is inelastic.  
 
 

ES =     

𝑃𝑒𝑟𝑐𝑒𝑛𝑡𝑎𝑔𝑒 𝑐ℎ𝑎𝑛𝑔𝑒 𝑖𝑛 𝑞𝑢𝑎𝑛𝑡𝑖𝑡𝑦
𝑠𝑢𝑝𝑝𝑙𝑖𝑒𝑑 𝑜𝑓 𝑝𝑟𝑜𝑑𝑢𝑐𝑡 𝑋  

𝑃𝑒𝑟𝑐𝑒𝑛𝑡𝑎𝑔𝑒 𝑐ℎ𝑎𝑛𝑔𝑒 𝑖𝑛 𝑡ℎ𝑒 𝑝𝑟𝑖𝑐𝑒
𝑜𝑓 𝑝𝑟𝑜𝑑𝑢𝑐𝑡 𝑋

 

 
 

ES =     % ∆ 𝑄𝑠
% ∆ 𝑃

=  
𝑄2− 𝑄1
𝑄2+ 𝑄1

 ÷  
𝑃2− 𝑃1
𝑃2+ 𝑃1

 = 𝑄2− 𝑄1
𝑄2+ 𝑄1

 𝑥  
𝑃2+ 𝑃1
𝑃2 −  𝑃1

 

 
 
The price elasticity coefficient of supply ES will always be a positive number, because the price and 
quantity supplied are directly related. 
 
For example, suppose an increase in the price of a good from $4 to $6 increase the quantity supplied 
from 10 units to 14 units. Find the price elasticity of supply from a price increase. 
 

ES =  
% ∆ 𝑄𝑠
% ∆ 𝑃

=  
𝑄2− 𝑄1
𝑄2+ 𝑄1

 ÷  
𝑃2− 𝑃1
𝑃2+ 𝑃1

 = (14−10)
(14+10)

 ÷   (6−4)
(6+4)

 = 4
24

 ÷ 2
10

 =  4
24

 x 2
10

 = 40
48

 = 0.83 < 1 inelastic 

 
 
Supply is inelastic, if the Es <1 
Supply is elastic, if the Es > 1 
Supply is unit elastic, if the Es = 1  
 
Example:  
 
If a rise in the price of oranges from $7 to $9 a bushel, increases the quantity of bushels supplied 
from 4,500 to 5,500 bushels. Is demand for oranges elastic or inelastic? 
 

ES =     % ∆ 𝑄𝑠
% ∆ 𝑃

=  𝑄2− 𝑄1
𝑄2+ 𝑄1

 𝑥  
𝑃2+ 𝑃1
𝑃2 −  𝑃1

  =  5,500−4,500
5,500+4,500

 𝑥  9+7
9−7

   = 1,000
10,000

 𝑥  16
2

 = 0.8 > 1    elastic 

 
Example: 
The quantity supplied of new cars increases by 12 percent when the price of a new cars rise from 
$20,000 to $22,000. What is the price elasticity of supply ? 
 

% ∆ 𝑃 =  𝑃2− 𝑃1
(𝑃2+  𝑃1)/2

  = 22,000−20,000
(22,000+20,000)/2

 = 2,000
21,000

 = 9.5% 

 

ES =     % ∆ 𝑄𝑠
% ∆ 𝑃

 = 12%
9.5%

 = 1.26 
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Multiple Choice: 
 
1. If the elasticity of supply is 2, this means that if ____  

A. the price rises by one dollar, the quantity supplied will rise by two dollars.  
B. the price rises by one percent, the quantity supplied will rise by two percent.  
C. the price rises by two percent, the quantity supplied will fall by two percent.  
D. the price rises by two percent, the quantity supplied will rise by one percent. 

 
2. If a 3% decrease in the price of chocolate causes a 2% decrease in the quantity supplied, the  

A. demand for chocolate is elastic.  
B. demand for chocolate is inelastic.  
C. supply of chocolate is elastic.  
D. supply of chocolate is inelastic. 

 
3. Supply is elastic if  

A. a 1 percent change in price causes a larger percentage change in quantity supplied.  
B. the good in question is a normal good.  
C. the slope of the supply curve is positive.  
D. a 1 percent change in price causes a smaller percentage change in quantity supplied. 

 
4. If a raise in the price of oranges from $7 to $9 a bushel increases the quantity of oranges supplied 

from 4,000 bushels to 6,000 bushels, then  
A. supply of oranges is elastic.  
B. supply of oranges is inelastic.  
C. demand for oranges is inelastic.  
D. demand for oranges is elastic. 

 
In analyzing the impact of time on elasticity, economists distinguish among the immediate market period, the 
short run, and the long run. 
 
 
Price Elasticity of Supply: The Market Period 
 
Market period:  is the period that occurs when the time immediately after 
a change in market price is too short for producers to respond with a 
change in quantity supplied. 
 
In the immediate market period there is insufficient time to change 
output, and so supply is perfectly inelastic. 
 
 
Price Elasticity of Supply: The Short Run 
 
The short run: is a period of time too short to change plant capacity but long enough to use the fixed 
sized plant more or less intensively. 
 

. ة ذلكأن مفھوم المدى القصیر في الاقتصاد لا يرتبط بفترة زمنیة محددة، وإنما يرتبط بإمكانیة تغییر جمیع العناصر الإنتاجیة أو عدم إمكانی
الي فإن كمیة بعض ھذه العناصر الإنتاجیة تظل ثابتة فالمدى القصیر يمثل فترة زمنیة لیست كافیة لتغییر كمیة جمیع العناصر الإنتاجیة، وبالت

 .خلال تلك الفترة
 

فصاحب المنجرة على سبیل المثال، يستطیع أن يزيد عدد الكراسي الخشبیة التي ينتجھا عن طريق زيادة كمیة الخشب التي يستخدمھا 
يستطیع أن يزيد كمیة جمیع ھذه العناصر خلال فترة زمنیة ولكنه لا . وعدد العمال الذين يوظفھم ، وكمیة الزيوت والدھان التي يستعملھا
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فإذا كان باستطاعته، على سبیل المثال، أن يزيد عدد العمال وكمیة الخشب خلال ساعات أو أيام قلیلة، فإنه سیحتاج إلى فترة . قصیرة
  ).        زمة للمصنع و استیراد وتركیب المكائنوالقیام بالتوسعة اللا, لتجھیز المباني( زمنیة طويلة لزيادة الطاقة الإنتاجیة للمصنع 

 
 
In the short run plant capacity is fixed, but changing the intensity of its use 
can alter output; supply is therefore more elastic. 
 
The outcome of an increase in demand from D1 to D2 is a smaller price rise 
and an increase in quantity from Q1 to Q2. 
 
 
Price Elasticity of Supply: The Long Run 
 
The long run: is a time period long enough for firms to adjust their plant size and for new firms to enter 
(or existing firms to leave) the industry. 
 

 . أما المدى الطويل فھو يمثل فترة زمنیة طويلة بما يكفي لتغییر كمیة جمیع العناصر الإنتاجیة بالزيادة أو النقص
 
In the long run all desired adjustment, including changes in plant capacity, 
can be mad, and supply becomes still more elastic. 
 
The outcome of an increase in demand from D1 to D2 is a smaller price rise 
and a larger output increase. 
 
 
 
Price elasticity of supply and Total Revenue 
 
If supply is elastic or inelastic, a decrease in price will decrease total revenue. Or an increase in price will 
increase total revenue.  
 
 
 For example 

 
  
 
 
 

 

ES = 
𝑄2− 𝑄1
𝑄2+ 𝑄1

 𝑥 
𝑃2+ 𝑃1
𝑃2− 𝑃1

 = (40−10)
(40+10)

 𝑥  (2+1)
(2−1)

 =  30
50

 x 3
1
 = 90

50
 = 1.8 > 1 elastic 

 
As price increase from $1 to $2, total revenue increase from $10 to $80, and the supply is elastic 

 
 
 
  
 

 

ES = 
𝑄2− 𝑄1
𝑄2+ 𝑄1

 𝑥 
𝑃2+ 𝑃1
𝑃2− 𝑃1

 = (100−80)
(100+80)

 𝑥  (5+1)
(5−1)

 =  20
180

 x 6
4
 = 120

720
 = 0.16 < 1 inelastic 

 
As price increase from $1 to $5, total revenue increase from $320 to $600, and the supply is inelastic 

Price 
(P) 

Quantity 
(Qs) 

Total revenue ( TR) 

$2 40 2 x 40  = 80 
$1 10 1 x 10 = 10 

Price 
(P) 

Quantity 
(Qs) 

Total revenue ( TR) 

$5 120 5 x 120  = 600 
$1 80       4 x 80 = 320 
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Multiple Choice: 
 
1. If the price elasticity of supply for a product equals ½, as its price rises the  

A. total revenue increases. 
B. quantity supplied does not change.  
C. total revenue does not change.  
D. total revenue decrease 

 
2. A vertical supply curve indicates an elasticity of supply that equals  

A. 0 
B. infinity 
C. 1 
D. –1 

 
Income Elasticity of Demand  
 
The income elasticity of demand equals the percentage change in the quantity demanded of a good 
in response to a 1 percent change in income. 
 

Ei =     
𝑃𝑒𝑟𝑐𝑒𝑛𝑡𝑎𝑔𝑒 𝑐ℎ𝑎𝑛𝑔𝑒 𝑖𝑛 𝑞𝑢𝑎𝑛𝑡𝑖𝑡𝑦

𝑑𝑒𝑚𝑎𝑛𝑑𝑒𝑑  
𝑃𝑒𝑟𝑐𝑒𝑛𝑡𝑎𝑔𝑒 𝑐ℎ𝑎𝑛𝑔𝑒 𝑖𝑛 𝑡ℎ𝑒 

𝑖𝑛𝑐𝑜𝑚𝑒
 

 
 

Ei =     %∆𝑄
%∆𝐼

  =  𝑄2−𝑄1
𝑄2+𝑄1 

  x  𝐼2+ 𝐼1
𝐼2−𝐼1

 

 
 
Example  
Last year, Jaber bought 50 pounds of hamburger when the household income was $40,000. This year, 
the household income was only $30,000 and Jaber bought 60 pounds of hamburger. All else constant 
Jaber’s income elasticity of demand for hamburger is 
 

Ei =     
%∆𝑄
%∆𝐼

  = 𝑄2−𝑄1
𝑄2+𝑄1 

 x 𝐼2+ 𝐼1
𝐼2−𝐼1

 =(60−50)
60+50)

 𝑥  (30,000+40,000)
(30,000−40,000)

 = 10
110

 x 70,000
−10,000

 = 70
−110

 = –0.63 

 
 
Example  
If the income elasticity of demand for chocolate candies is 1.2, what percentage change in income is 
necessary to reduce the amount of chocolate candies demanded by 15%? 
 

Ei =     %∆𝑄
%∆𝐼

       1.2 =  
–15%
%∆𝐼

        %∆𝐼  = 
–15%
1.2

 = 12.5%      ( decrease income by 12.5%)  

 
 
Example  
The income elasticity is +2 and income increases by 20%. Sales were 5000 units, what will they be now? 
 

Ei =     
%∆𝑄
%∆𝐼

   → 2 = %∆𝑄
20%

  → 40% = 𝑄2−𝑄1
(𝑄2+𝑄1)/2 

 → 40% =  𝑄2−5000
(𝑄2+5000)/2 

 
 
Q2 – 5000 = 20% Q2 + 1000  → Q2 – 6000 = 20% Q2  → 0.8 Q2 = 6000   →  Q2 = 7,500 
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Normal Goods 
If the income elasticity coefficient Ei is positive (Ei >0), meaning that more of them are demanded as 
income increase. Such goods are called normal or superior goods.  
 
 
Inferior Goods  
If the income elasticity coefficient Ei is negative (Ei <0), meaning that less of them are demanded as 
income increase. Such goods are called inferior goods. 
 
 
Multiple Choice: 
 
1. A 10 percent decrease in income decreases the quantity demanded of compact discs by 3 

percent. The income elasticity of demand for compact discs is  
A. 10 
B. 3.3 
C. –0.3  
D. 0.3 

 
2. If the income elasticity of demand for Cheer detergent is −3, then a  

A. 12 percent fall in income leads to a 4 percent rise in the quantity demanded 
B. $1,000 fall in income leads to a 3,000-unit rise in the quantity demanded 
C. 12 percent fall in income leads to a 36 percent rise in the quantity demanded 
D. 12 percent rise in income leads to a 36 percent rise in the quantity demanded 

 
3. Average income increases from £20,000 to £22,000. Quantity demanded per year increases from 

5000 to 6000 units. Which of the following is correct? 
A. Demand is price inelastic 
B. The good is inferior 
C. The good is normal 
D. Income elasticity is -2 

 
4. For an inferior good with a downward sloping demand curve: 

A. The price elasticity of demand is negative; the income elasticity of demand is negative. 
B. The price elasticity of demand is positive; the income elasticity of demand is negative 
C. The price elasticity of demand is negative; the income elasticity of demand is positive. 
D. The price elasticity of demand is positive; the income elasticity of demand is positive. 

 
 
 
Cross Elasticity of demand  مرونة الطلب التقاطعیة 
 
The cross-price elasticity of demand measures the percentage change in the quantity demanded of a 
good (say, X) in response to a 1 percent change in the price of another good (say, Y).  
 

Exy =        =   %∆𝑄𝑥
%∆𝑃𝑦

 

 
Exy =    =    
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The coefficient of cross elasticity of demand may be either positive or negative. 
 
Example 
Suppose that the number of units of good X fall 6 percent when the price of good Y falls 4 percent. 
What is the cross elasticity of demand between goods X and Y? 
 

Exy =   %∆𝑄𝑥
%∆𝑃𝑦

  = − 6%
−4%

 = 1.5 

 
 
Example 
If the Botany Co. lowers printer price from $150 to $120 and finds that students increase their quantity 
demanded for paper from 400 to 600. Calculate the cross price elasticity of demand between printer 
and paper. 
 
Exy =     =   =  x  =   = −1.62 

 
 
Substitute Goods 
 
If cross elasticity of demand is positive, meaning that sales of good X move in the same direction as a change 
in the price of good Y, then goods X and Y are substitutes. 
 
 
Complementary Goods 
 
When cross elasticity is negative, we know that X and Y go together; an increase in the price of one decrease 
the demand for the other. So the two are complementary goods. 
 
 
Independent Goods  
 
A zero or near zero cross elasticity suggests that the two products being considered are unrelated or 
independent goods. 
 
 
Multiple Choice: 
 
1. When two goods are substitutes for each other, the cross elasticity of demand 

A. Will b. e negative. 
B. Will be zero 
C. Will be positive 
D. May be either positive or negative. 

 
2.  If the price of orange juice rises the demand for grapefruit juice will increase, then the cross price 

elasticity between orange juice and grapefruit juice will be 
A. Positive 
B. Negative 
C. Zero 
D. Infinity 
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3. Suppose that when the price of good X changes, the quantity of good Y remains the same. We 

would expect the cross elasticity of demand to be 
A. Negative 
B. Zero 
C. Positive 
D. Either positive or negative. 

 
4. When the price of chicken is $2, the quantity demanded for hamburger is 50 units; when the price of 

chicken is $3, the quantity demanded of hamburger is 60 units. The cross-price elasticity of demand 
between chicken and hamburger is 
A. -50/110 
B. 10 
C. 1/10 
D. 5/11 

 
 
Questions:  
 
1. A fall in the price of lemons from $10.5 to $9.5 per bushel increases the quantity demanded from 

19,200 to 20,800 bushels. What is the price elasticity of demand? 
 
 

2. Dema's income has just risen from $950 per week to $1,050 per week. As a result, she decides to 
increase the number of movies she attends each month by 5 percent. Calculate the income 
elasticity of demand?  

 
 
3. A 20 percent decrease in the price of a Pepsi decreases the 

demand for a Coca-Cola from 130 units to 120 units. The cross 
elasticity of demand between a Pepsi and Coca-Cola is? 

 
 
 

4. Use the following figure illustrates a linear demand curve to answer 
the following  
a. Calculate the price elasticity of demand If the price falls from $8 

to $6. . Is demand elastic or inelastic?  
b. Using total revenue test to indicate if demand is elastic, inelastic 

or unitary elastic when price increase from $4 to $6. 
c. Calculate the price elasticity of demand If the price increase 

from $8 to $10. Is demand elastic or inelastic?  
d. Calculate total revenue data from the demand curve. Graph total revenue curve. 

 
 

 
5. The cross-price elasticity of demand for Coke with respect to the price of Pepsi has been estimated 

to be 0.7. When the price of coke is $2, demand for Pepsi is 90 units. If the prices of coke decrease 
to $1.5 how will that affect the demand for Pepsi? 
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Chapter 9 
 

Consumer Behavior   
 
 
In this chapter, you will see how individual consumers allocate their incomes among the various goods 
and services available to them. Given a certain budget, how does a consumer decide which goods 
and services to buy? As we answer this question, you will also strengthen your understanding of the law 
of demand. 
 
Utility  المنفعة 
 
The utility of a good or services is the satisfaction or pleasure one gets from consuming it. 
 

. والمنفعة ما ھي إلا التعبیر الاقتصادي لكلمة الإشباع. ذكرنا سابقاً بأن السلع والخدمات ھي تلك الأشیاء التي تعطي منفعة لمستھلكیھا
 .   فالمنفعة ھي عبارة عن الإشباع الذي يحصل علیه المستھلك عند استھلاكه سلعة أو خدمة معینة

 
 

Three characteristics of utility: 
 
• “Utility” and “usefulness” are not synonymous. Paintings by Picasso may offer great utility to art 

connoisseurs but are useless functionally (other than for hiding a crack on a wall). 
 

• Utility is subjective. The utility of a specific product may vary widely from person to person. A lifted 
pickup truck may have great utility to someone who drives off-road but little utility to someone 
unable or unwilling to climb into the rig.  

 
التي تحصل علیھا نجاة من استھلاكھا كـوب فمثلاً قد يكون المنفعة . عدد وحدات المنفعة المشتقة من سلعة ما تختلف من شخص إلى أخر

 .والسبب في ذلك يرجع إلى اختلاف أذواق المستھلكین, من القھوة أكبر من المنفعة التي يحصل علیھا شريف من تلك الكوب
 

• Utility is difficult to quantify. But for purposes of illustration we assume that people can measure 
satisfaction with units called utils (units of utility). For example, a particular consumer may get 100 
utils of satisfaction from a smoothie, 10 utils of satisfaction from a candy bar, and 1 utile of 
satisfaction from a stick of gum. These imaginary units of satisfaction are convenient for quantifying 
consumer behavior for explanatory purposes. 

 
فلا يمكنك أن تعطي عدداً معیناً لتقدر بواسطته المنفعـة التـي . يعتبر الاقتصاديون بأن المنفعة غیر مقاسه، أي لا يمكن قیاسھا بأرقام عددية

ولكن يمكنك أن تعقد مقارنة بین المنفعة التي تشتقھا من استھلاك تفاحة مع المنفعة التي , تشتقھا من وحدة أو وحدات معینة من سلعة ما
 .من استھلاك تفاحة) Utils( وحدة منفعة  15فلا يمكنك أن تقول بأنك حصلت على . تحصل علیھا من استھلاك برتقالة

 
 
Total Utility and Marginal Utility 
 
Total utility (TU): is the total amount of satisfaction or pleasure a person derives from consuming some 
specific quantity.  
 

فـإذا اسـتھلكت حنـین . يقصد بالمنفعة الكلیة عدد وحدات المنفعة المشتقة من عدد معین من وحدات سلعة يستھلكھا الفـرد خـلال زمـن معـین
حتى . .خمس قطع من الشوكولاتة خلال يوم فإن المنفعة الكلیة التي تشتقھا حنین ھي ناتج جمع المنفعة المشتقة من القطعة الأولى والثانیة  

 .  القطعة الخامسة
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Marginal utility (MU): is the extra satisfaction a consumer realizes from an additional unit of that 
product. Alternatively, marginal utility is the change in total utility that results from the consumption of 1 
more unit of a product. 
. يقصد المنفعة الحدية  مقدار المنفعة الإضافیة التي يحصل علیھا المستھلك عندما يزيد اسـتھلاكه وحـدة إضـافیة مـن السـلعة التـي يسـتھلكھا

 .فنتحدث ھنا عن التغیر في مقدار المنفعة الكلیة الناتج عن تغیر الكمیة التي يستھلكھا ھذا المستھلك من سلعة ما
 

 

Marginal Utility (MU) = 
𝐶ℎ𝑎𝑛𝑔𝑒 𝑖𝑛 𝑡𝑜𝑡𝑎𝑙 𝑢𝑡𝑖𝑙𝑖𝑡𝑦

𝐶ℎ𝑎𝑛𝑔𝑒 𝑖𝑛 𝑡ℎ𝑒 𝑛𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑢𝑛𝑖𝑡 𝑐𝑜𝑛𝑠𝑢𝑚𝑒𝑑
  =   ∆𝑇𝑈

∆𝑄
 

 
 
Example 

Unit consumed 
(Q) 

Total utility 
( TU) 

Marginal utility 
( MU) 

0 0 – 
1 10 (10 – 0) / ( 1 – 0) = 10 
2 18 (18 – 10) / ( 2 – 1) = 8 
3 24 (24 – 18) / (3 – 2 ) = 6  
4 28 (28 – 24) / ( 4 – 3) = 4 
5 30 (30 – 28) / ( 5 – 4) = 2 
6 30 (30 – 30 ) /( 6 – 5) = 0 
7 28 (28 – 30) / (7 – 6) = -2  

 
 

Example 

Complete the following table  
 

Unit 
Consumed 

Total Utility Marginal 
Utility 

0 0 -- 
1 10 10 
2 ? 8 
3 25 ? 
? 30 5 

 
Solution:  
 

Unit Consumed Total Utility Marginal Utility 
0 0 -- 
1 10 10 
2 8 = (𝑈−10)

( 2−1)
 8 = U – 10     

U = 8 + 10 = 18 

8 

3 25 (25−18)
(3−2 )

 =   7
1
   = 7 

5 = (30−25)
(𝑄−3)

  5Q – 15 = 5 

5Q = 20   Q = 4 

30 1 
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Total and marginal utility curves: 
 
 
- As more of a product is consumed, total utility increases at a 

diminishing rate, reaches a maximum, and then declines.  
 
- Marginal utility, by definition, reflects the changes in total 

utility. Thus marginal utility diminishes with increased 
consumption, becomes zero when total utility is at a maximum, 
and is negative when total utility declines. 

 
 
As shown (a) and (b), marginal utility is the change in total 
utility associated with each additional taco. Or, 
alternatively, each new level of total utility is found by adding 
marginal utility to the preceding level of total utility. 
 
 
 
 
Multiple Choices:  
 
1. Utility is best defined as 

A. The price of a good. 
B. The practical usefulness of a good. 
C. The satisfaction from consuming a good. 
D. The amount one is willing to pay for a good. 

 
2. Normally, as the quantity of a good consumed increases, marginal utility 

A. Decreases and total utility increase 
B. Decreases and total utility decreases. 
C. Increases and total utility increase. 
D. Increases and total utility decreases. 

 
3. Total utility is maximized when 

A. A marginal utility is zero. 
B. A marginal utility is maximized. 
C. The marginal utility per dollar spent is equal for all goods. 
D. A marginal utility is negative. 

 
4. As Shauqi drinks additional cups of tea at breakfast, Shauqi 's 

A. Marginal utility from tea decreases. 
B. Total utility from tea increases. 
C. Total utility from tea decreases. 
D. Both answers A and B are correct. 

 
5. When marginal utility is zero, total utility is: 

A. Also zero. 
B. At a maximum 
C. Negative. 
D. Rising, but at a declining rate. 
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6. If total utility is decreasing as more units are consumed, then marginal utility must be 

A. increasing at a decreasing rate 
B. positive 
C. decreasing at an increasing rate 
D. negative 

 
7. The following table that givens the marginal utility, measured in utils, for different quantities of apples 

consumed. The total utility of consuming 2 apples is: 
A. 6 
B. 7 
C. 13 
D. 14 

 
 
Law of Diminishing Marginal Utility قانون تناقص المنفعة الحدية 
 
Added satisfaction declines as a consumer acquires additional units of a given product. For example, a consumer's 
desire for an automobile when he or she has none may be very strong. But the desire for a second car 
is less intense. 

 
قانون تناقص المنفعة الحدية على أن المنفعة الحدية التي يحصل علیھا المستھلك نتیجة استھلاكه لوحدات متتالیة من السلعة خلال ينص 

بمعنى أن المنفعة التي تضیفھا كل وحدة إلى منفعة المستھلك ستكون أقل مـن تلـك المنفعـة التـي . فترة زمنیة معینة ستكون متناقصة
مثال ذلك، أن المنفعة التي تحصل علیھا حنین من قطعة الشوكولاتة الأولى أكبر من المنفعـة التـي تحصـل . سبقتھا أضافتھا الوحدة التي

 .علیھا من القطعة الثانیة، أي أن المنفعة المشتقة من الوحدات الإضافیة تكون متناقصة مع زيادة عدد الوحدات المستھلكة
 

 The law of diminishing marginal utility indicates that gains in satisfaction become smaller as 
successive units of a specific product are consumed. 

 
 
Marginal Utility and Demand 

 
The law of diminishing marginal utility explains why the demand curve for a product slopes downward. 
If the successive units of a good yield smaller and smaller amounts of marginal utility, then the 
consumer will buy additional units of a product only if its price falls. 
 
 
Multiple Choices: 
 
1. The idea that the utility a consumer derives from successive units of a good diminishes as total  

consumption of the good increases is known as  
A. diminishing total utility 
B. utility maximization 
C. diminishing marginal utility 
D. the utility theory of demand 

 
2. The "law" of diminishing marginal utility implies that the  

A. marginal utility of a good diminishes over time 
B. total utility is negative 
C. last unit of a good consumed will contribute most to the consumer's satisfaction  
D. first unit of a good consumed will contribute most to the consumer's satisfaction 
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Theory of Consumer Behavior  
 
In addition to explaining the law of demand, the idea of diminishing marginal utility explains how 
consumers allocate their money incomes among the many goods and services available for purchase. 
 
Consumer Choice and Budget Constraint  
 
We will assume that the situation for the typical consumer has the following dimensions: 
 
• Rational behavior: The consumer is a rational person, who tries to use his or her money income to 

derive the greatest amount of satisfaction, or utility from it.  
 
• Preferences: Each consumer has clear cut preferences for certain of the goods and services that 

are available in the market. 
 
• Budget constraint: At any point in time the consumer has a fixed, limited amount of money income. 

Since each consumer supplies a finite amount of resources to society, he earns only limited income.  
 
• Prices: Good are scarce relative to the demand for them, so every good carries a price tag. We 

assume that the price of each good is unaffected by the amount of it that is bought by any 
particular person 

 
Utility – Maximizing Rule 

 
Utility maximization rule: To maximize satisfaction, the consumer should allocate his or her money income 
so that the last dollar spent on each product yield the same amount of extra (marginal) utility. 
 
Consumer equilibrium:  the consumer should allocate the income on different goods and services that 
yields the maximum utility or satisfaction. 

 
ونسـمي ھـذه , يجب على المستھلك أن يوزع دخله بین السلع والخدمات التي يستھلكھا حتى يضمن أعلى مستوى ممكن من المنفعة

 ."توازن المستھلك" الحالة 
 

ويحدد , بقدرة ھذا المستھلك على الاستھلاك, بصفة عامة فإن رغبة المستھلك في استھلاك السلع وتعظیم المنفعة المشتقة منھا مقیدة
 . ھذه القدرة عادة أمران ھما دخل المستھلك وأسعار السلع التي يستھلكھا

 
Marginal Utility per Dollar:  المنفعة الحدية لوحدة النقود    
 
Is the extra utility that the last dollar spent on each product yields 
 
المنفعة الحدية لوحدة النقود ھي المنفعة المشتقة من آخر وحدة نقود مصروفة على السلعة وتحسب عن طريق قسمة المنفعة الحديـة 

 . على سعر السلعة
 

 Marginal utility per dollar of good A =   
𝑀𝑎𝑟𝑔𝑖𝑎𝑛𝑙 𝑈𝑡𝑖𝑙𝑖𝑡𝑦 𝑜𝑓 𝐺𝑜𝑜𝑑 𝐴

𝑃𝑟𝑖𝑐𝑒 𝑜𝑓 𝐺𝑜𝑜𝑑 𝐴
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Chapter 10 
 

Pure Monopoly 
 
 
An Introduction to Pure Monopoly 
 
Pure monopoly exists when a single firm is the producer of a product for which there are no close 
substitutes. 
 

وتتمی�ز . فالمحتكر ھو البائع الوحید للسلعة في السوق. یطلق الاقتصادیون على السوق الذي ینتج ویبیع فیھ بائع واحد فقط سوق الاحتكار التام
 . السلعة التي ینتجھا المحتكر بعدم وجود بدائل لھا

 
Main Characteristics of Pure Monopoly  السمات الأساسیة لسوق الاحتكار 
 
• Single Seller:   وجود بائع واحد في السوق 
 

A pure monopoly is an industry in which a single firm is the sole producer of a specific good or 
services; the firm and the industry are synonymous. 

 
• No Close Substitutes  عدم وجود بدائل للسلعة المنتجة 
 

Pure monopoly's product is unique in that there are no close substitutes. 
 

 . كثیراً من السلع التي یستھلكھا البعض لا یوجد بدیل أخر لھا مثل الكھرباء والھاتف والمیاه بسبب عدم وجود منتجین آخرین في السوق
 

• Price Maker  القدرة على التحكم في سعر السلعة 
 

The pure monopolist controls the total quantities supplied and has considerable control over price; 
it is a price maker. The pure monopoly has a downward sloping demand curve, it can changes its 
product price by changing the quantity of the product it produces. 
 

• Blocked Entry : وجود عوائق تمنع المنتجین آخرین من الدخول إلى السوق  
 

Entry is totally blocked in pure monopoly, those barriers may be economic, technological, legal, or 
of some other type. 

وتعم�ل ھ�ذه الأس�باب بطبیع�ة الح�ال عل�ى من�ع منتج�ین . أي أن ھناك أسباب قد تتیح المجال أمام المنتج الحالي للسلعة للبقاء ف�ي الس�وق منف�رداً 
 .  آخرین من الدخول إلى السوق لإنتاج السلعة ذاتھا

 
 
• Nonprice Competition:  
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The product produced by a pure monopolist may be either standardized or differentiated.  

 
 
 
Barriers to Entry (عوائق الدخول ) أسباب وجود المحتكر 
 
- Economic barriers to entry: ( Ownership or Control of Essential Resources) السیطرة على الموارد

 الإنتاجیة الأساسیة اللازمة لإنتاج السلعة
 

وم�ن أمثل�ة . دینجم ذلك عن كون المنتج الوحید الذي یمتلك تلك الموارد الإنتاجیة أو یرتبط بعقود طویلة الأجل مع مالكي تلك الموار
ذلك أنھا ھي المالك الوحید لمناجم الفوس�فات ف�ي المنطق�ة , ذلك شركة الفوسفات التي تعتبر المنتج الوحید للفوسفات الخام أو مشتقاتھ

 .أو دولة ما
 

- Legal barriers to entry:  الاحتكار القانوني 
 

ات معینة الإنتاج سلع ذات طبیع�ة خاص�ة مث�ل ش�ركات الكھرب�اء ینتج ھذا النوع من الاحتكار عن طریق إعطاء الحكومة امتیازات لشرك
 . وقد تعطي الحكومة امتیاز لأحد المنتجین لإنتاج سلعة لیتمتع بحق الاختراع ولو لفترة زمنیة محدودة. والمیاه والھاتف

 
- Technological barriers to entry  الاحتكار التكنولوجي 
 

اللازم لإنتاج ) الآلات والأجھزة والمعدات ( بالقوة الاحتكاریة بسبب امتلاكھا لرأس المال حیث تتمتع بعض الشركات أو المؤسسات 
 .سلعة من السلع

 
- Natural barriers to entry ( Natural Monopoly)  الاحتكار الطبیعي 

 
بوجود أكثر من مؤسسة واحدة مما لا یسمح  جداً  economies of scale)(  یعزى ھذا النوع من الاحتكار إلى وجود وفورات كبیرة 

وھذا یتیح لتلك المؤسسة إنتاج السلعة بمعدلات تكلفة متدنیة لدرج�ة أن أي من�تج جدی�د یح�اول ال�دخول لإنت�اج نف�س . في سوق تلك السلعة
ة المن�تج الق�دیم ف�ي مما یقلل من ق�درة ھ�ذا المن�تج الجدی�د عل�ى منافس�, السلعة تكون معدل تكلفة إنتاجھ أعلى من معدل تكلفة المنتج الحالي

 .  مجال السعر مما یضطره للخروج من السوق ویبقى المنتج الأصیل وحیداً في السوق
 

 
Economies of Scale : The Natural Monopoly Case.  
 
Economies of Scale : A declining long run average total cost curve over a wide range of output 
quantities. 
 
If a pure monopoly exists in such an industry, economies of scale will serve as an entry barrier and 
will protect the monopolist from competition. New firms that try to enter the industry as small-
scale producers cannot realize the cost economies of the monopolist. 
 
 
 
 
 
 
 
 
 
 
Monopoly Demand  منحنى الطلب الذي یواجھ المحتكر 
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The demand curve for the monopolist is quite different from that of the pure competitive. Because 
the pure monopolist is the industry, its demand curve is the market demand curve.  And because 
market demand is not perfectly elastic, the monopolist's demand curve is downsloping ( the 
quantity demanded increases as price decreases).  
 
 
 
 
 
 
 
 
 
 
 
Revenue and Costs of a Pure Monopoly  
 
Total Revenue (TR) = P x Q 
 
Average Revenue (AR) = Price (P) 
 
Marginal Revenue = Δ TR / Δ Q 
 
Average Total Cost (ATC) = TC / Q  
 
Marginal Cost =  Δ TC / Δ Q  
 
Profit = Total Revenue (TR) – Total Cost ( TC). 

 
 
 
 

 
 
 
Price and Marginal Revenue in Pure Monopoly 
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With a fixed downsloping demand curve, the pure monopolist can increase sales only by charging 
a lower price. The marginal revenue is less than price ( average revenue) for every unit of output 
expect the first ( MR < P).  
 
A pure monopolist with a downsloping demand curve, must set a 
lower price in order to sell more output. Here by charging $132 rather 
than $142, the monopolist sells an extra unit ( the fourth unit) and 
gains $132 from that sale. But from this gain must be subtracted $30, 
which reflects the $10 less the monopolist charged for each of the first 
3 units. Thus, the marginal revenue of the fourth unit is $102, 
considerably less than its $132 price.  
 
 
 
 
 
The relationship between the marginal revenue and the demand curve. 
 
- The monopolist's MR curve lies below 

the demand curve, including that 
marginal revenue is less than price at 
every output quantities. 

 
- Total revenue (TR) increases at a 

decreasing rate, reaches a maximum 
and then declines.  

 
- In the elastic region, TR is increasing 

and hence MR is positive. When TR 
reaches its maximum, MR is zero. In the 
inelastic region of demand, TR is 
declining, so MR is negative. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
The Monopolist Is a Price Maker  
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All imperfect competitors, whether pure monopolists, oligopolists, or monopolistic competitors, face 
downward sloping demand curves. So firms in those industries can to one degree or another influence 
total supply through their own output decisions. In changing market supply, they can also influence 
product price. Firms with downward-sloping demand curves are price makers .  This is most evident in 
pure monopoly, where one firm controls total output. The monopolist faces a downsloping demand 
curve in which each amount of output is associated with some unique price.  
 
 
The Monopolist Set Prices in the Elastic Region of Demand 
 
When demand is elastic, a decline in price will increase total revenue. Similarly, when demand is 
inelastic, a decline in price will reduce total revenue. The implication is that a monopolist will 
never choose a price-quantity combination where price reductions cause total revenue to 
decrease (marginal revenue to be negative). The profit-maximizing monopolist will always want 
to avoid the inelastic segment of its demand curve in favor of some price-quantity combination 
in the elastic region. 
 
 
Output and Price Determination  
 
MR = MC Rule  
 
A monopolist seeking to maximize total profit will produce output at which marginal revenue 
equal marginal cost (MR = MC). 
 
For example, a comparison of column 4 and 7 in table below indicates that the profit maximization 
output  is 5 units . 
 
What price will the monopolist charge? 
  
The demand schedule shown as column 1 and 2 in table below indicate there is only one price at 
which 5 units can be sold ( P = $122).  
 
 

 
 
Profit Maximization by a Pure Monopolist ( graphical analysis) 
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The pure monopolist maximizes 
profit by producing at the MR = MC 
output, here Qm = 5 units. Then as 
seen from the demand curve, it will 
charge price Pm = $122. Average 
total cost will be A = $94, meaning 
that per unit profit is Pm – A and 
total profit is Q( P – A). total 
economic profit is thus represented 
by the green rectangent.  
 
- The MR curve lies below the 

demand curve in the figure 
because the gain in revenue from 
an extra unit of output is less 
than the price charged for that 
unit of output. 

 
 
Example:- 
 
Suppose s pure monopolist is faced with the demand schedule and costs data shown below.   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
a. Calculate the missing total revenue (TR) and marginal revenue (MR) amounts. 
 

 
 
 
 
 
 
 
 
 
 
 

b. Determine the profit 
maximization price and profit earning output for this monopolist. 

Price Qd ATC MC TR MR 
40 0 - -   
38 1 13 -4   
36 2 4 -2   
34 3 1.67 0   
32 4 1 2   
30 5 1.20 4   
28 6 1.34 6   
26 7 1.85 8   
24 8 2.5 10   
22 9 3.23 12   
20 10 4 14   

Price Qd ATC MC TR MR 
40 0 - - 0 - 
38 1 13 -4 38 38 
36 2 4 -2 72 34 
34 3 1.67 0 102 30 
32 4 1 2 128 26 
30 5 1.20 4 150 22 
28 6 1.34 6 168 18 
26 7 1.85 8 182 14 
24 8 2.5 10 192 10 
22 9 3.23 12 198 6 
20 10 4 14 200 2 
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To maximize profit the monopolist must produce 10 units of output at a price of $24 per unit. 
 
c. What is the monopolist profit? 
 

Profit = Q ( P – ATC ) = 10 ( 24 – 2.5) = 10 x 21.5 = $215 
 

Example:-  
 
Which of the following is true at the output level where P=MC? 

(a) The monopolist is maximizing profit. 
(b) The monopolist is not maximizing profit and should increase output. 
(c) The monopolist is not maximizing profit and should decrease output. 
(d) The monopolist is earning a positive profit. 

 
 

Example:-  

The diagram below depicts the situation facing a 
monopolist. To maximize profits, the monopolist 
will produce ___________ units of output and 
charge a price of ___________. Profits to the firm 
are equal to __________.  

 
(a) 100, $10, $200  
(b) 100, $20, $1200 
(c) 100, $20, $2000 
(d) 150, $10, $1500 
(e) 100, $20, $1500 

 
 
 
 
 
Monopoly Supply Curve. 

To maximize profit : MR = MC  
 

Price Qd ATC MC TR MR 
40 0 - - 0 - 
38 1 13 -4 38 38 
36 2 4 -2 72 34 
34 3 1.67 0 102 30 
32 4 1 2 128 26 
30 5 1.20 4 150 22 
28 6 1.34 6 168 18 
26 7 1.85 8 182 14 
24 8 2.5 10 192 10 
22 9 3.23 12 198 6 
20 10 4 14 200 2 
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The pure monopolist has no supply curve. There is no unique relationship between price and quantity 
supply for a monopolist. Like the competitive firm, the monopolist equates marginal revenue and 
marginal cost to determine output, but for the monopolist marginal revenue is less than price. Because 
the monopolist does not equate marginal cost and price, it is possible for different demand condition 
to bring about different prices for the same output.  
 
Conclusion: There is no single, unique price associated with each output level that maximize profit, 
and so there is no supply curve for the pure monopoly.   
 
 
 
Misconceptions Concerning Monopoly Pricing  
 
• Not Highest Price 
 
Because a monopolist can manipulate output and price, 
people often believe it " will charge the highest price 
possible". That is incorrect. There are many prices above 
Pm in the figure but the monopolist shuns them because 
they yield a smaller than total maximum profit ( the 
monopolist seek maximize total profit , not maximize 
price). 
 
 
 
• Total, Not Unit, Profit  
 
The monopolist seeks maximum total profit, not maximum unit profit. In the figure a careful 
comparison of the vertical distance between average total cost and price at various possible output 
indicates that per unit profit is grater at a point slightly to the left of the profit maximization output.  
 
 
 
Possibility of Losses by Monopolist   
 
If demand D is weak and costs are high, the pure 
monopolist may be unable to make a profit. Because Pm 
exceeds the average variable cost at the MR=MC output 
Qm, the monopolist will minimize losses in the short run 
by producing at that output. The loss per unit  is A – Pm, 
and the total loss is indicated by the rectangle. 
 
The monopoly suffers a loss, because of weak demand 
and relatively high costs. Yet it continues to operate for 
the time being because its total loss is less than its fixed 
cost. At output Qm, the monopolist's price Pm exceeds 
its average variable cost. Its loss per unit is A – Pm, and the total loss is shown by the rectangle. 
 
 
 
Economic Effects of Monopoly  
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Price, Output, and Efficiency  
 
• In a purely  competitive industry, entry and exit of firms ensure that price ( Pc) equals 

marginal cost (MC) and that the minimum average total-cost output (Pc) is produced. Both 
productive efficiency (P = minimum ATC) and allocative efficiency (P = MC) are obtained. 

  
• In pure monopoly, the MR curve lies below the demand curve. The monopolist maximizes 

profit at output Qm where MR = MC, and charges price Pm· Thus, output is lower (Qm rather 
than Qc) and price is higher (Pm rather than Pc) than they would be in a purely competitive 
industry Monopoly is inefficient, since output is less than that required for achieving 
minimum ATC (here at Q,) and because the monopolist's price exceeds MC. Monopoly 
creates an efficiency loss (here of area ab c).  

 
 

 
 
  
 
 
 
 
  

 
 
 
 
 

• Monopolist yield neither productive nor allocative efficiency. The monopolist's output is less 
than Qc, the output at which average total cost is lower. And price is higher than the 
competitive price Pc, which in the long run equilibrium in pure competition equals minimum 
average total cost. Thus the monopoly price exceeds minimum average total cost.  

 
• Monopoly creates an efficient loss ( or deadweight loss) for society. The sum of consumer 

surplus and producer surplus is not maximized. In monopoly, then: 
 

- P exceeds MC 
- P exceeds lowest ATC 
- An efficient loss (deadweight loss)  occurs ( the sum of consumer surplus + producer 

surplus is less than maximum). 
 
 
Income Transfer  
 
Monopoly transfers income from consumers to the stockholders who own the monopoly. Because of 
their market power, monopolist charge a higher price than would a purely competitive firm with the 
same costs. So monopolists in effect levy a " private tax" on consumers and often obtain substantial 
economic profit. 
 
 
 
Cost Complications  
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A purely monopolistic industry will charge a higher price, produce a smaller output, and allocate 
economic resources less efficiently than a purely competitive industry. These inferior results are 
rooted in the entry barriers characterizing monopoly. The unit cost incurred by a monopolist may 
be either larger or smaller than that incurred by a purely competitive firm. 
 
 
Price Discrimination  
 
The monopolist charges a single price to all buyers. But under certain conditions the monopolist can 
increase its profit by charging different prices to different buyers. In so doing, the  monopolist is 
engaging in price discrimination, the practice of selling a specific product at more than one price 
when the price differences are not justified by cost differences. Price discrimination can take three 
forms:  
- Charging each customer in a single market the maximum price she or he is willing to pay. 
 
- Charging each customer one price for the first set of units purchased and a lower price for 

subsequent units purchased.  
 
- Charging some customers one price and other customers another price.  
 
 
Conditions  
 
Price discrimination is possible when the following conditions are met: 
  
Monopoly power: The seller must be a monopolist or, at least, must possess some degree of monopoly 
power. that is, some ability to control output and price.  
Market segregation: At relatively low cost to itself, the seller must be able to segregate buyers into dis-
tinct classes, each of which has a different willingness or ability to pay for the product. This separation 
of buyers is usually based on different price elasticities of demand. 
 
No resale: The original purchaser cannot resell the product or service. If buyers in the low-price 
segment of the market could easily resell in the high-price segment, the monopolist's price 
discrimination strategy would create competition in the high-price segment. This competition 
would reduce the price in the high-price segment and undermine the monopolist's price-
discrimination policy. This condition suggests that service industries such as the transportation 
industry or legal and medical services, where resale is impossible, are good candidates for price 
discrimination.  
 
 
Examples of Price Discrimination  
 
- Airlines charge high fares to business travelers, whose demand for travel is inelastic, and 

offer lower, highly restricted, nonrefundable fares to attract vacationers and others whose 
demands are more elastic. 

  
- Electric utilities frequently segment their markets by end uses, such as lighting and heating. 

The absence of reasonable lighting substitutes means that the demand for electricity for 
illumination is inelastic and that the price per kilowatt-hour for such use is high. But the 
availability of natural gas and petroleum for heating makes the demand for electricity for this 
purpose less inelastic and the price lower.  
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Graphical Analysis 
 
The price-discriminating monopolist represented here maximizes its total profit by dividing the 
market into two segments based on differences in elasticity of demand. It then produces and sells the 
MR = MC output in each market segment. (For visual clarity, average total cost (ATC) is assumed to 
be constant. Therefore MC equals ATC at all output levels.) (a) The firm charges a higher price (here, 
Pb) to customers who have a less elastic demand curve and (b) a lower price (here, Ps) to customers with a more 
elastic demand. The price discriminator's total profit is larger than it would be with no discrimination 
and therefore a single price.  
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Example:  
 
Suppose that a price-discriminating monopolist has segregated its market into two groups of buyers, 
the first group described by the demand and revenue data that you developed for question 5. The 
demand and revenue data for the second group of buyers is shown in the accompanying table. 
Assume that MC is $13 in both markets and MC = ATC at all output levels. What price will the firm 
charge in each market? Based solely on these two prices, what can you conclude about the relative 
elasticities of demand in the two markets? What will be this monopolist's total economic profit?  
 
                      Market 1:                                                                                        Market 2: 
 

Price Quantity Total 
Revenue 

Marginal 
Revenue 

 Price Quantity Total 
Revenue 

Marginal 
Revenue 

115 0 0 - 71 0 0 - 
100 1 100 100 63 1 63 63 
83 2 166 66 55 2 110 47 
71 3 213 47 48 3 144 34 
63 4 252 39 42 4 168 24 
55 5 275 23 37 5 185 17 
48 6 288 13 33 6 198 13 
42 7 294 6 29 7 203 5 
37 8 296 2     
33 9 297 1     

 
a. What price will the firm charge in each market? 
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For market 1: 
 
The monopolist maximize profit when MR = MC  
 
MC = MR when Q = 6 and the price equal $48 
 
For market 2: 
 
The monopolist maximize profit when MR = MC  
 
MC = MR when Q = 6 and the price equal $33 

 
b. Based solely on these two prices, what can you conclude about the relative elasticities of 

demand in the two markets?  
 

In market 1: as price decrease from 48 to 42, total revenue increase from 288 to 294   demand 
elastic. 
 
In market 2: as price decrease from 33 to 29, total revenue decrease from 13 to 5   demand 
inelastic. 
 

c. What will be this monopolist's total economic profit? 
 
Profit ( market 1) = Q ( P – ATC) = 6 ( 48 – 13) = 6 x 35 = $210 
Profit ( market 2) = Q ( P – ATC) = 6 ( 33 – 13) = 6 x 20 = $120 
Total profit = $210 + 120 = $330  
 
 
 
 
 
 
 
 
 
 
 

 
 
  
 
 
 
 
 
 

 
 

 - 12 - 
Uploaded By: anonymousSTUDENTS-HUB.com



Econ131                            Microeconomics Principles                 محمد عامریة. أ  
 

Chapter 11 
 

Monopolistic Competition 
and Oligopoly  

 
 
Monopolistic Competition  سوق المنافسة الاحتكاریة 
 

ویأخ�ذ ھ�ذا الس�وق معظ�م خص�ائص س�وق المنافس�ة . ل�ة وس�وق الاحتك�ار الت�امیعتبر سوق المنافسة الاحتكاریة مزیجاً من سوق المنافسة الكام
ف�إن أھ�م خاص�یة م�ن خص�ائص س�وق المنافس�ة الت�ي وبالت�الي . إلا أن المنتج یح�تفظ ب�بعض الق�وة الاحتكاری�ة ع�ن طری�ق تمیی�ز س�لعتھ, التامة

 . ابھة ولیس سلع متجانسةیتصف بھا ھذا السوق ھو افتراض وجود عدد كبیر من المنتجین ینتجون سلعاً متش
 

The Characteristics of Monopolistic Competition  خصائص سوق المنافسة الاحتكاریة 
 
• Relatively Larger Number of Sellers 
 

Monopolistic competition is characterized by a fairly large number of firms, say, 25, 35, 60, or 70, 
not by the hundreds or thousands of firms in pure competition. 
 

ونذكر ھنا بأننا نتحدث عن عدد معین من المنتجین وإنم�ا ك�ل م�ا نعنی�ھ بالع�دد الكبی�ر : وجود عدد كبیر من المنتجین الذین ینتجون السلعة
ومم�ا یج�در ذك�ره أیض�اً أن ع�دد المنتج�ین ف�ي . من المنتجین أن كل واحد منھم ینتج حصة صغیرة بالنسبة للإنتاج الكل�ي م�ن ھ�ذه الس�لعة

إن ھذه الخاصیة لا تعطي المن�تج فرص�ة كبی�رة للت�أثیر ف�ي . سوق المنافسة الاحتكاریة أقل في العادة من عددھم في سوق المنافسة الكاملة
 . السوق، وبالتالي فإن قدرتھ الاحتكاریة محدودة

 
Monopolistic competition involves: 
 
- Small market shares: each firm has a comparatively small percentage of the total market 

and has limited control over market price. 
 

، كم�ا أن ق�درة المن�تج عل�ى ال�تحكم ینتج حصة صغیرة بالنسبة للإنت�اج الكل�ي م�ن ھ�ذه الس�لعة منتج في سوق المنافسة الاحتكاریةكل 
 . دودةفي سعر السلعة مح

- No collusion: the presence of a relatively large number of firms ensures that collusion by a 
group of firms restrict output and set prices is unlikely. 

 
ُ  م�ن المنتج�ین یضَْ�منُ ب�أنّ التواط�ؤِ مِ�ن قبِ�ل مجموع�ة المنتج�ینعدد كبی�ر نس�بیاً مِ�نْ  وجودإنّ  غی�ر  الكمی�ة المنتج�ةأس�عارَ ِ و دی�حدّ بت

 .محتملُ 
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- Independent action : with numerous firms in an industry, there is no felling of 
interdependence among them, each firm can determine its own pricing policy without 
considering the possible reactions of rival firms. A single firm may realize a modest increase in 
sales by cutting its price, put the effect of that action on competitors' sales will be nearly 
imperceptible and will probably trigger no response. 

 
بی�نھم، كُ�لّ ش�ركة یمُْكِ�نُ أنَْ تقُ�رّرَ  ض�رورة إل�ى وج�ود تفاع�ل، ل�یس ھن�اك س�وق المنافس�ة الاحتكاری�ةِ شركاتِ عدی�دةِ ف�ي إن وجود  

م�ن أي شركة قَدْ تدُركُ زیادة بس�یطة ف�ي المبیع�اتِ . ردودِ الأفعال المحتملةِ للشركاتِ المنافسةِ  اعتبارسیاسةَ تسعیرھا الخاصةَ بدون 
 .فعل یسُبّبَ أي رَدِّ  ولنتقریباً  لا تأثیر لھونُ تأثیرَ ذلك العملِ على مبیعاتِ المنافسین سَیَكُ  فإنسعرِھا،  خلال تقلیل

 
 

• Differentiated Products: السلعة المنتجة في السوق متشابھة ولكنھا لیست متجانسة 
 

Monopolistically competitive firms turn out variations of a particular product. They produce 
products with slightly different physical characteristics. Monopolistic competition firms 
differentiate product in product attributes, services, location, and the brand names or packaging. 
 

 ً لس��لع المنتج��ة م��ن قب��ل ف��إن المن��تج یح��اول أن یمی��ز س��لعتھ ع��ن تل��ك ا. الس��لعة المنتج��ة ف��ي الس��وق متش��ابھة ولكنھ��ا لیس��ت متجانس��ة تمام��ا
ویمی�ز المنتج�ون ع�ادة س�لعتھم ع�ن الس�لع . إذن بدائل جیدة وقریبة من بعضھا ولكنھا لیست بدائل تام�ةفالسلع المنتجة . المنتجین الآخرین

  .الأخرى إما باللون أو الرائحة أو التغلیف أو الماركة التجاریة أو حتى أحیاناً في الدعایة والإعلان
 

- Monopolistic competitors do have some control over their product prices because of product 
differentiation. 

 
 

• Easy Entry and Exit: سھولة الدخول والخروج من السوق 
 

Entry into monopolistically competitive industries is relatively easy compared to oligopoly or pure 
monopoly. Because monopolistic competitors are typically small firms, both absolutely and 
relatively, economies of scale are few and capital requirements are low.   
 
Exit from monopolistically competitive industries is relatively easy. Nothing prevents an 
unprofitable monopolistic competitor from holding a going-out-of-business sale and shutting 
down. 
 

ف�لا یوج�د عوائ�ق ل�دخول أي مس�تثمر جدی�د لإنت�اج الس�لعة . من خصائص سوق المنافسة الاحتكاریة سھولة الدخول والخروج من السوق
 ً وبطبیع�ة الح�ال فإن�ھ لا یوج�د أي م�انع لخ�روج أح�د المنتج�ین الح�الیین م�ن الس�وق إذا ك�ان . إذا رأى أن إنتاجھا یمكن أن یحقق ل�ھ أرباح�ا

 .اج ھذه السلعةیتحمل خسارة من إنت
 
 

• Nonprice Competition:   
 

Is to make price less of a factor in consumer purchases and make product differences a greater 
factor. If successful, the firm's demand curve will shift to the right and will be less elastic. 
 
 
 
 
 
 

Price and Output in Monopolistic Competition  
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The Firm's Demand Curve  منحنى الطلب في سوق المنافسة الاحتكاریة 
 
The demand curve faced by a monopolistically competitive seller is highly, but not perfectly, elastic. It 
is precisely this feature that distinguishes monopolistic competition from pure monopoly and pure 
competition. The monopolistic competitor's demand is more elastic than the demand faced by a pure 
monopolist because the monopolistically competitive seller has many competitors producing closely 
substitutable goods. The pure monopolist has no rivals at all. 
 
For two reasons, the monopolistic competitor's demand is not perfectly elastic like that of the pure 
competitor. First, the monopolistic competitor has fewer rivals; second, its products are differentiated, 
so they are not perfect substitutes. 
 

أي أنھ�ا ب�دائل قریب�ة , إن إحدى خصائص سوق المنافسة الاحتكاریة الھامة أن السلعة المنتجة من قبل المنتجین متشابھة ولكنھ�ا غی�ر متجانس�ة
وعل�ى ھ�ذا فإن�ھ یمكنن�ا الق�ول ب�أن . في السوقولو أنھا ضعیفة للتحكم , إن ذلك یعني أن للمنتج قوة احتكاریة. ولكنھا غیر تامة لبعضھا البعض

منحنى الطلب الذي یواجھ المنتج في سوق المنافسة الاحتكاریة ھو منحنى ینحدر من أعلى إل�ى أس�فل ولكن�ھ ع�الي المرون�ة أي ان�ھ غی�ر أفق�ي 
  . ولكنھ قریب من كونھ أفقیاً بسبب وجود البدائل القریبة للسلعةتماماً 

 
The price elasticity of demand faced by the monopolistically competitive firm depends on the number 
of rivals (ع�دد المنافس�ین) and the degree of product differentiation U. UThe larger the number of rivals and the 
weaker the product differentiation, the greater the price elasticity of each seller's demandU, that is, the 
closer monopolistic competition will be to pure competition. 
 
 
The Short Run: Profit or Loss  
 
The monopolistically competitive firm maximizes its profit or minimizes by producing the output at 
which marginal revenue equals marginal cost (MR= MC). 
 
 
The monopolistic competitor maximizes profit or minimizes 
loss by producing the output at which MR = MC. In figure 
(a) the firm produces output Q1, where MR=MC. As shown 
by demand curve D1, it then can charge price P1. It realizes 
an economic profit, shown by the area ( Q1 x ( P1 – A1). 
 
 
In figure (b), the firm may incur a loss in the short run. The 
firm producing output level Q2 where (MR=MC) and, as 
determined by demand curve D2, by charging price P2. 
Because price P2 is less than average total cost A2, the firm 
incurs a per unit loss of A2 – P2 and a total loss represented 
as the area ( Q2 x ( P2 – A2). 
 
 
 
 
 
 
 
 
The Long Run : Only a Normal Profit. 
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In the long run, firms will enter a profitable monopolistically 
competitive industry and leave an unprofitable one.  So a 
monopolistic competitor will earn only a normal profit in the 
long run or, in other words, will only break even. (Remember 
that the cost curves include both explicit and implicit costs, 
including a normal profit.) 
 
 
 
Profits: Firms Enter 
 
In the case of short-run profit, economic profits attract new rivals because entry to the industry is 
relatively easy. As new firms enter, the demand curve faced by the typical firm shifts to the left (falls). 
Why? Because each firm has a smaller share of total demand and now faces a larger number of close-
substitute products. This decline in the firm's demand reduces its economic profit. When entry of new 
firms has reduced demand to the extent that the demand curve is tangent to the average-total-cost 
curve at the profit-maximizing output, the firm is just making a normal profit. 
 
  
Losses: Firms Leave  
 
When the industry suffers short-run losses, some firms will exit in the long run. Faced with fewer 
substitute products and blessed with an expanded share of total demand, the surviving firms will see 
their demand curves shift to the right (rise), as to D3. Their losses will disappear and give way to 
normal profits (Figure c).  
 
 
 
Monopolistic  Competition and Efficiency  
 
We know from Chapter 9 that economic efficiency requires the triple equality P = MC = minimum 
ATC. The equality of price and minimum average total cost yields productive efficiency. The good is being 
produced in the least costly way, and the price is just sufficient to cover average total cost, including a 
normal profit. The equality of price and marginal cost yields allocative efficiency. The right amount of 
output is being produced, and thus the right amount of society's scarce resources is being devoted to 
this specific use.  
 
The inefficiency of monopolistic competition.  
 
In long-run equilibrium a monopolistic 
competitor achieves neither productive nor 
allocative efficiency. Productive efficiency is not 
realized because production occurs where the 
average total cost A3 exceeds the minimum 
average total cost A4. Allocative efficiency is not 
achieved because the product price P3 exceeds 
the marginal cost M3. The result is  an 
underallocation of resources and excess 
production capacity of Q4 - Q3. 
 
Oligopoly  احتكار القلة 
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Oligopoly, a market dominated by a few large producers of a homogeneous or differentiated 
product. Because of their "fewness," oligopolists have considerable control over their prices, but 
each must consider the possible reaction of rivals to its own pricing, output, and advertising 
decisions. 
 
یتمیز سوق احتكار القلة بوجود عدد محدود من المنتجین یبیعون سلعة متجانسة أو متش�ابھة ویح�اول ك�ل من�تج تمیی�ز س�لعتھ ع�ن قلی�ل 

 . سلع المنتجین الآخرین
 

  
The Characteristics of Oligopoly   خصائص سوق احتكار القلة 
 
• A few large Producers.  وجود عدد قلیل من المنتجین 
 

أو , خمس�ة, ثلاث�ة( نعط�ي ع�دداً معین�اً لھ�ذا الع�دد القلی�ل  أنف�لا یمكنن�ا , من خصائص سوق احتك�ار القل�ة وج�ود ع�دد قلی�ل م�ن المنتج�ین
ن متفق�ون عل�ى ان�ھ إذا كان�ت حص�ة أكب�ر ولك�ن معظ�م ھ�ؤلاء الاقتص�ادیی. ب�ین الاقتص�ادیین عل�ى ھ�ذا الع�دد اتف�اقحیث لا یوجد ) غیرھا

. ص�ناعة أنھ�ا تق�ع ض�من احتك�ار القل�ةمن الإنت�اج الكل�ي للص�ناعة فإن�ھ بإمك�ان وص�ف ھ�ذه ال% 50أربعة منتجین في الصناعة تزید عن 
 ".Concentration Ratio" " نسبة التركیز" وتسمى نسبة إنتاج اكبر أربع مؤسسات من إنتاج الكلى في السوق 

 
• Homogeneous or Differentiated Productsالسلعة المنتجة في السوق قد تكون متجانسة وقد تكون متشابھة  
  

An oligopoly may be either a homogeneous oligopoly or a differentiated oligopoly, depending on 
whether the firms in the oligopoly produce standardized (homogeneous) or differentiated 
products. Many industrial products (steel, zinc, copper, aluminum, lead, cement, industrial 
alcohol) are virtually standardized products that are produced in oligopolies. Alternatively, many 
consumer goods industries (automobiles, tires, household appliances, electronics equipment, 
breakfast cereals, cigarettes, and many sporting goods) are differentiated oligopolies. These 
differentiated oligopolies typically engage in considerable nonprice competition supported by 
heavy advertising.  
 

فإن ك�ل واح�د م�ن المنتج�ین , وحتى إذا كانت السلعة متجانسة. السلعة المنتجة في سوق احتكار القلة قد تكون متجانسة وقد تكون متشابھة
 أوفق�د یمی�ز المن�تج س�لعتھ ع�ن طری�ق الل�ون او الطع�م أو الرائح�ة . الآخ�رینیح�اول أن یمی�ز س�لعتھ ع�ن الس�لع المنتج�ة م�ن قب�ل منتج�ین 

 Non-price( وھ���ذا م���ا یس���مى بالمنافس����ة غی���ر الس���عریة , دیم خ���دمات للمس���تھلكین إض���افة للدعای����ة والإع���لانالتغلی���ف أو تق���
competition. ( 

 
• Control over Price, but Mutual Interdependence. 

 
Because firms are few in oligopolistic industries, each firm is a "price maker"; like the monopolist, 
it can set its price and output levels to maximize its profit. But unlike the monopolist, which has no 
rivals, the oligopolist must consider how its rivals (منافس�ین) will react to any change in its price, 
output, product characteristics, or advertising. 
 
Oligopoly is thus characterized by strategic behavior and mutual interdependence. By strategic 
behavior, we simply mean self-interested behavior that takes into account the reactions of others 
(ك�ل من�تج یحس�ب حس�اب المنتج�ین الآخ�رین ف�ي اتخ�اذ قرارات�ھ وردود أفعال�ھ عل�ى ق�راراتھم ) U. Firms develop and implement 
price, quality, location, service, and advertising strategies to "grow their business" and expand 
their profits. But because rivals are few, there is Umutual interdependence: a situation in which 
each firm's profit depends not entirely on its own price and sales strategies but also on those of the 
other firmsU. So oligopolistic firms base their decisions on how they think rivals will react. 
 

• Entry Barriers  وجود عوائق لدخول السوق 
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The same barriers to entry that create pure monopoly also contribute to the creation of oligopoly. 
Economies of scale are important entry barriers in a number of oligopolistic industries, such as the 
aircraft, rubber, and copper industries. In those industries, three or four firms might each have 
sufficient sales to achieve economies of scale, but new firms would have such a small market share 
that they could not do so. They would then be high-cost producers, and as such they could not 
survive. 
 

ولك�ن ھ�ذه العوائ�ق أق�ل بالتأكی�د م�ن تل�ك , تكار القلة إلى وجود عوائق ل�دخول منتج�ین إل�ى الص�ناعةیعزى قلة عدد المنتجین في سوق اح
والت�ي تتمث�ل ف�ي وص�ول ) وف�ورات الحج�م( ولع�ل أھ�م تل�ك العوائ�ق ھ�ي العوائ�ق الطبیعی�ة . العوائق الموجودة ف�ي س�وق الاحتك�ار الت�ام

توسطات التكلفة الأمر الذي یجعل منافسة منتجین جدد في مجال الس�عر أم�راً ض�عیفاً المنتجین الحالیین إلى الإنتاج بمستویات متدنیة من م
 . نظراً الارتفاع تكلفة إنتاجھم النسبیة

 
• Mergers   الاندماج 

 
Some oligopolies have emerged mainly through the growth of the dominant firms in a given 
industry (examples: breakfast cereals, chewing gum, candy bars). But for other industries the route 
to oligopoly has been through mergers. The merging, or combining, of two or more competing 
firms may substantially increase their market share, and this in turn may allow the new firm to 
achieve greater economies of scale.  
 
 

Kinked-Demand Theory: Noncollusive Oligopoly  نظریة الطلب المنكسر 
 
The kinked-demand curve. (a) The slope 
of a noncollusive oligopolist's demand 
and marginal-revenue curves depends 
on whether its rivals match (straight 
lines D1 and MR1) or ignore (straight 
lines D2 and MR2) any price changes that 
it may initiate from the current price Po. 
(b) In all likelihood an oligopolist's 
rivals will ignore a price increase but 
follow a price cut. This causes the 
oligopolist's demand curve to be 
kinked (D2eD1,) and the marginal-revenue curve to have a vertical break, or gap (fg). Because any 
shift in marginal costs between MC1 and MC2 will cut the vertical (dashed) segment of the 
marginal-revenue curve, no change in either price Po or output Q0 will result from such a shift. 
 

أم�ا إذا خف�ض , یفترض ھذا النموذج أن المنتجین الآخرین في السوق لن یقوموا برف�ع أس�عارھم إذا أق�دم اح�دھم عل�ى رف�ع س�عر س�لعتھ
ا الافت�راض فق�د اقت�رح وعل�ى ض�وء ھ�ذ. ھذا المنتج سعر سلعتھ فإن المنافسین الآخرین في السوق سیحذون حذوه ویخفضون أسعارھم

وبص��ورة منكس�رة كم��ا ف��ي الش��كل  نالنم�وذج أن منحن��ى الطل��ب ال�ذي یواج��ھ أح��د المنتج�ین ف��ي س��وق احتك�ار القل��ة یتك��ون م�ن ج��زئیی
 . نقطة الانكسار) e(المجاور وتسمى النقطة 

 
وذل�ك بس�بب , لذي یقع أس�فل تل�ك النقط�ةنلاحظ أن الجزء من منحنى الطلب الذي یقع أعلى نقطة الانكسار أكثر مرونة من ذلك الجزء ا

إن الافت�راض القائ�ل ب�أن . الافتراض الذي أفترضھ النموذج حول سلوك بقیة المنتجین في السوق عندما یغی�ر أح�د المنتج�ین م�ن س�عره
یقل�ل الكمی�ات یعن�ي أن المن�تج ال�ذي یرف�ع س�عر س�لعتھ سیخس�ر ع�دداً م�ن زبائن�ھ و, أحد من المنتجین الآخ�رین ل�ن یتب�ع ارتف�اع الس�عر

أم�ا الافت�راض القائ�ل ب�أن . الأمر الذي یعني بأن مرون�ة الطل�ب عل�ى س�لعة ھ�ذا المن�تج س�تكون عالی�ة ,المطلوبة من سلعتھ بنسبة كبیرة
جمیع المنتج�ین الآخ�رین سیخفض�ون س�عر س�لعتھم إذا أق�دم أح�دھم عل�ى خف�ض س�عر س�لعتھ، ف�إن ذل�ك س�یؤدي إل�ى احتف�اظ ك�ل م�نھم 

ا یجعل الكمیات المطلوبة من كل واحد منھم لا تتأثر كثیراً، الأمر الذي یعني بأن الطلب الذي یواج�ھ المن�تج ھ�و طل�ب بمعظم زبائنھ مم
 . قلیل المرونة

Price Inflexibility ( Price Rigidity) ظاھرة جمود الأسعار في سوق احتكار القلة 
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This analysis helps explain why prices are generally stable in noncollusive oligopolistic 
industries. There are both demand and cost reasons.  
 
On the demand side, the kinked-demand curve gives each oligopolist reason to believe that any 
change in price will be for the worse. If it raises its price, many of its customers will desert it. If it 
lowers its price, its sales at best will increase very modestly since rivals will match the lower 
price. Even if a price cut increases the oligopolist's total revenue somewhat, its costs may increase 
by a greater amount, depending on demand elasticity. For instance, if its demand is inelastic to 
the right of Qo, as it may well be, then the firm's profit will surely fall. A price decrease in the 
inelastic region lowers the firm's total revenue, and the production of a larger output increases its 
total costs.  
 
On the cost side, the broken marginal-revenue curve suggests that even if an oligopolist's costs 
change substantially, the firm may have no reason to change its price. In particular, all positions 
of the marginal-cost curve between MCl and MC2 will result in the firm's deciding on exactly the 
same price and output. For all those positions, MR equals MC at output Qo; at that output, it will 
charge price Po.  
 

ش�كل منحن��ى أن ). ثب��ات الأس�عار(  دب�الجموتتص�ف الأس�عار ف�ي س��وق احتك�ار القل�ة 
) MR(الطلب المنكسر وبالتالي الفجوة العمودیة الموجودة في منحن�ى الإی�راد الح�دي 

ل الش��كل المج��اور، ویمكنن��ا ملاحظ��ة ذل�ك م��ن خ�لا. تفس�ران ھ��ذا الثب�ات ف��ي الأس�عار
  MC2إل�ى   MC1حیث نفترض تذبذب مستویات التكلفة ممثل�ة بالتكلف�ة الحدی�ة م�ن 

ف�ي الح�التین تق�ع ض�من ) profit maximization point( نج�د أن نقط�ة الت�وازن 
إض�افة لثب�ات  P0الأمر الذي ینتج عنھ ثبات الأسعار عل�ى مس�تولى , الفجوة العمودیة

 .Q0الكمیة على مستوى 
 

خ��ارج الفج��وة   MCو   MRتغی��ر الس��عر یمك��ن ان یح��دث إذا تس��اوى  أننلاح��ظ 
س��یؤدي لانخف��اض  ف��إن ذل��ك gأق��ل م��ن النقط��ة  MCف��إذا انخفض��ت . fgالعمودی��ة 

 fإل�ى مس�توى أعل�ى م�ن النقط�ة  MCأم�ا إذا ارتفع�ت . السعر وزیادة الكمیة المنتج�ة
 . فإن ذلك سیؤدي لزیادة السعر وانخفاض الكمیة المنتجة

 
 

   
Cartels and Other Collusion  
 
Cartels agree on production limits and set a common price to maximize the joint profit pf their 
members as if each were a unit of a single pure monopoly. 
 
If oligopolistic firms face identical or highly similar demand 
and cost condition, they may collude to limit their joint 
output and to set a single, common price. Thus each firm acts 
as if it were a pure monopolist, setting output at Q0 and 
charging price P0. this price and output combination 
maximizes each oligoplist's profit and thus the combined or 
joint profit of both. 
 
 
 
 

- Collusion among oligopolies is difficult because of 
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demand and cost differences among sellers, the complexity of output coordination among 
producers, the potential for cheating, a tendency for agreements to break down during 
recessions, the potential entry of new firms , and antitrust laws. 

 
 
Price Leadership Model  
 
Price leadership involves an informal understanding among oligopolists to match any price change 
initiated by a designated firm (often the industry's dominant firm).  
 
Price leadership entails a type of implicit understanding by which oligopolists can coordinate prices 
without engaging outright collusion based on formal agreements and secret meetings. Rather, a 
practice evolves whereby the "dominant firm" initiates price changes and all other firms more or less 
automatically follow the leader. Many industries, including farm machinery, cement, copper, 
newsprint, glass containers, steel, beer, fertilizer, cigarettes, and tin, are practicing, or have in the 
recent past practiced, price leadership. 
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